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T AEIER &1 qa9T

(Admission of a New Partner)

I B IeTd
T T T ATTF HR UL 3T TE FHeH AT & od & —

FEERT BH & JTeA &Y SauRen iR At & s

T WEER & Y9 & UHE

T A AT IUTT 9 RT &7 1Td $I IT071

I — 31, fIRIyaTd, yaIfdd o_ aTel HRYI, W, UeR, Jeid @ Al g oaied

gqenr

o JHRMl &1 YHeaihT Ud TRl &1 YR, gTHeuie QAT 9 WRome Y
iG]

ifaaRa ami /=il @ dadl &1 deaw

TSl &1 F9rRIGT, T & R IR QR ATSER & Yol BT FErRINH, R & SR ) T
FEER &I Yol @ HuiRor

® fIEM WRERT & o AT Siurd # aRex &1 SR g o=ar

TEIERT BH BT H:I"'f?}:f (Reconstruction of Partnership firm)

|rEERl ® 72y g wusid d & yeR b1 uRedd @Eie’l B @1 YAied el § | e BH @l
gtee fore aRRerfral # =1 waar €1

(i) T HERER & Y9 W

(i) I ARIERI & Heg o™ AT JguTra | gRad 8 IR

(iii) IAH GIHER & AGHY T8I HI W

(iv) WSIER & g W

(v) I TSR BH BT YHIBIUT B TR

T AISER T Ja9l (Admission of a new partner)
T AEER & Y &I e B AEEN) & g H A9 e &1 WHl & B0 H U HAr 3R FIsier!

o FeAT | gig BT | ARG AreRn AR EE, 1932 @Y ORT 31 B AGER IOH ARIERI B 98A 9 8 Uh
T wafadd & BH § GEIeR g9RIT O Gdbdl &1 Ud Fa7 98eR, AR a94 ® a8 BH gkl B T 9
BRI @ oIy ITRAM] 8 Ol 8, W= 98 WIEER 991 9 Yd BH gR1 {6 T {6l & & oy SoRerl 981

GEER $ ARMSR : U 73 SRR &I 7= a1 JfEeR o g € |

. BH @ Wkl # R ur R a7 SiiRaR |

. BH B 9l ol H R ure e Bl SferR |

wraferdf # Rl o e & forg AT AeRR il eERIRT o &, S¥ Yol wed § o 9 A § fawr
T BRA B forg, S e=Rifd arer €1 99 wnfy (hfyam) sed 2|
T WEIER & UaY W &g |Ee (Main Adjustments at the time of Admission of a New Partner)
1. T @ fRITST SIUTT @Y O 2. T AT DI TOET 3. M BT oAb I o@id 4. FARE! &

YT g Tl 1 YAFERY 5, WEd, ffdaid @l @ sl Bl GARISH 6, Yol &1 FRRINA




T o TS ST 9 T AT DI IO

(Calculation of new profit sharing ratio & sacrificing ratio)
T @ e argure New Profit Sharing Ratio (NPSR):- 719 WTEER Wied w4 @R o orqurd #
WH & 9T AT BT AT H died 8, 99 AT A [AHTSTH SIUTT HET I 8 | 4T \ISAR JAUAT ST B et
R AEERT A TG BT 8, $9 BRI SA@] o o srgura aRaffa e Srar € o T e farrers
AT B O B AR E |
@I IUd(Sacrificing Ratio):-=d AERR & YIY W R AEER AU oM & 26 &7 o9 gurd H T
P T I TN JUT Fed € | 99 FEER & YI9 U= AT &1 JeaRT @1 U H 8 H1 8Iam 2 1
AT ST =QRTT o fawre agurd —wRn o AT srgard
Sacrificing Ratio(S.R.)= Old Profit Sharing Ratio(OPSR)-New Profit Sharing Ratio (NPSR)
g7 W e srgara = YRIAT o fawToi surd — QN IAUTd
New Profit Sharing Ratio = Old Profit sharing Ratio — Sacrificing Ratio
T AN fTre sguT @ ®mT rurd @t 7orn faft aRRerfeat e usR @ Sl g
1 59 U H Sael T WHER $T rgurd faar war & —
i) Ad BU® H § WEIGR € S 3 0 1 & 3rgurd H o faureE evd & | C o H 1 /4 R & fog v f

FA% HRAT © | T AR AT STguTa @ T 31U S B |

Wﬁ?tﬁﬁwaﬁ?ﬂw1§| Car fewr 1,/4 AT 1 —1/4=3/4
3 = 3yl A

WwWﬂw:—G:—ﬁ:;: '1' =9: 3: 4

T U = GRIET o fToT i guTd — =11 o farers srard

AZ_E=% (Br—— =1 = I U 3 : 1

e — &9 T Wﬁmﬁmwﬁagﬂﬁmﬁ$mﬁﬁﬂwqﬁﬁmﬁwﬁ
QT AU BEeral & |

ii) 579 747 WEER R®M GEERI § GHHE AU H AU BT Ui #R 8T € o 59 S H YR AEER |
e @ {5 2 S S8 R U § | USIa] AT U S BN |
SH AT BUS 51 H WRIGR § O 7 0 5 @& U H o gied & | C @ ol 7 1/6 R deow
AR R | C U+ B A @ B § RER —aRER T &Ral £ | 99T M AW Ut @ /T
U ST B |

Cor R&T 1/6 AT QAT = —X—=E; B &1 @ =%X§=%
TIT AT TSI U = QRIAT o faNTe S — T ST

7 1 6
AT T T TG SUIT = — — — = —

12 12

BWWWW&W—E—%—
AT BT T AT RIS o= s = 2 3001 T @7 eI — i — = 1:1

12 12 6 12 12 12

iii).5/9 T AEER Al H U BT SRTAA U H U Rl ®
O AT BUs wH H AERR 8, W 32 @ orgua H o e axd & 19 C @ et H 1/5 R @ ferg
T Td e A AT B 912 % UK H UK HRAT & | T A IS U @ &I U S H]

2

=
Nl'pr—'

Aarr"um—lX%:% B'cm'!mr—lx%:f—s ; T T U = 1: 2
AT A4 faTSE aruT = g‘ewa‘mf&mmﬁaﬁmﬁ T ST
WWW@W:E:E.E: 5 =8: 4: 3

iv). 9 AT AEER AUET BT quiaar e U WEeR W U $edl €



1. A9 B U BH § OEEeR € Wl 7 : 3 § o fawes &vd IC & waw fear iar €, C3m+=r 1,/10
e quie: A?{Wﬂ?ﬁ?ﬁ%‘ | T o QTS SIUTd @ QT SIUTd &1 79T FRT |
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10 10
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2. A9B U& BH H ARIGR 8 Sl 3 : 2 & 31U ¥ I faved @xd 8, S Cd DPI S5 1,/5, 1/5
ey & forg uaer fear | C o X1 R A9 @ D 39+ X7 f@var BY Uiy _al 8, dl a1 o
ﬁweﬁmﬁml

3 1 2 2 1
Aﬂo‘r"c?JTlT——B"cmEﬂW—— Afmwaﬁw—g s WWG‘]‘QTH—E—E=E
2.1 1.1 20813 121
ﬂﬂﬂﬁwwﬁww—ggg:g = . =2:1:1:1
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B & U<l &Ral & | AT AT faMIST SIUTd @ QT HT AT BRI |

4 2
A"CFFE[T‘T=; BWF&FT:; AT BT U =4:2 =2:1
TIT AT T U= RIT S faTaT QTuTT — T 3rguTd
3 4 52 2 2 38
A= ——m—= — — ———=—
3 - 120 552 33 1:l 52 :38: 30
WW[aHGHW—E'EZ e =26: 19 : 15

vi).5Td R EIGR 39 BT &7 Yo FAifdad 91T 99 AERR & uet § AWT(@Een) eRd §

1.

AT BUS 1 4 WEIGR & S 3 : 2 § A fwrem #=ad €1 C #5997 <d €1 v R #11/5 9 B
I f& &1 2/5 C & Uel § QNT el & | <747 o fATeTs Sigurd @ Qi 3T g1 |

3 1 3 2 2 4
AEBTFE!‘IEXE—E, B &1 @& EXE_E ! AT U =3 : 4
ST o fAToT SIUTd = YR A fa9ToT STUTT — SIRT 3T
3 3  15-3 12 2 4 10-4 6 3 . 4 7
As 25 28 25° 2B55 725_12256 T 25 ° C®r 25+25_25
1 .
ERIRGICRCEINE! &ﬂqm_‘%'z'g=—“12 6:7

2. ATBUEER 2 W3 : 2 ¥ & favyed &vd 2 | 4 Col ¥a¥ <d 2,A3US B &7 1/3 9 Baoe fewy %

A 1/10 C &l ad & | 797 ¥ 3916 AGuTd @ QFT &1 AFurd 8rm |

AT @M 2X5 === Bwam% ; INT AU 2: 1
TAT o™ TS JIUTd = YRIET o™ AT ST — 1T 31T
3 1 2 2 1 3 1 1 3
A-i=3: B! G tE=m
=§:%:1—30 a1 o faurer srqurd 4:3: 3
fafaer SemERor

1. A, §TFAUSH G AAERRE, Gl 3:2: 1S U H§ M 39S & €18 ™ H 1/6 B &
ferg oroer aem & 1 @1 R uget fer & AT | A1 Ant T Seurd S B |

CHDW%W1+1—E;1— %ZE(AHBEW fewm)
A@ fewar= —X——E ;. B @ = iXE:%

5 30 6
12 8 1 1 12:8:5:5

Wwﬁﬂﬂmaﬁw vt et =12:8:5:5

2 A 99 YPh BH H AR & off 3 : 2$Wﬂﬁ‘ﬂﬁaﬂﬁ§|ﬁmﬁ1/4%@r$ﬁﬂmaﬂﬁ
2131 T 9 AI H A SRER died & | T A [THISH U @ QINT @1 U BN |
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JUTETT M AT D 74 & |
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x3 x2
9 : 6 6 = T A AT 3uTd 9: 6 : 4
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g1 R An T sigurd @ |
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1T (Goodwill)

Ifd uh gy Hulty 8 Rrasdr avie &1 wRe 2 oifdb a9 a1 wfed €| 98 ey & s T,
yferser vd Geef | e arem o B, I8 98 AN wfdd & W ATEd! B oA € | Faarg o wfasr a1 |t
qeuie € @nfa |
TS Yos: It $9 |HEa & SifdRed 3R §o F8 8 & qve ures QR E 6] € g 8 [

e forvsarn "wfe daut qer ufifEg & & arerm o €1
i ®1 fa9mard (Characteristics of Goodwill)
wﬁwaﬁa@g(&ﬁﬁ)ﬂwﬁﬁ

. TE ST orTole ¥ erd Bl |
. I8 U& VAT ATHyY wfdd 8 S & g8dl & 99 IR RIF W Al £ |
ST g gRafifa grar vear £
@y & Heu @ yWIfdd ® arel axa (Factors affecting the value of Goodwill)
1. AT P GATSHH I, 2, U9 @Y AT 3, AAA™T &) SddTel 3rafy,

[ R S SR U

4. I BT YephT 5. QY B &1, 6. YPIEIBR
7. SIRa" @1 A1 8. Ml @1 ugfa, 9. W4T ufereget
10113%?:%141311 11, IATE D) by

@ & Heuied @1 araegadi(need for the valuation of Goodwill)
U ATEN BH § e qemel H =iy & qeaie a1 sragadarn g € |
1. 514 Ud =T QTSGR a9 Hal © |
2. O I WISIERT & Heg Ari—{IuTorT Srgura ¥ gRad i |
3. 514 P WG B TS FHRAT & AT HIER Bl §g 8 el 2 |
4
5

. Old B BT FqHTd 9T ST ¢ |
. STd &1 BAT BT TP & oIl & |

@y & s (Types of Goodwill)

|
| |

I D TS B Tfofa wrfay
(Purchased Goodwill) (Self Generated Goodwill)

1. BT B TS M- B Faard BT HI B 99 IR BT gabdd Fadd bl g qradl & qed |
e1feres € < U8 Nferey &1 By &Y S I dEenh & |Goodwill=Purchase consideration - Net Assets
(a) T fH 2aarg & Ha B- W IAH Bl 2 |
(b) IXIHI H ST ol fpar STar &, i gaa ford liwel &1 Yram fhar a1 €1
(c) =% free # WUy & wu # fexamn sman £
2. WaIfdfa wrfa—
(a) I8 TP IAAIIS WA B 370 Wl AR I FT Jod & O g # giora fFar o 21
(b) =i H96 26 9 Indian A.S.38 & 3IFER SHGT ol Yeddi § &1 fbar o & |
(¢) T UBR & WA & Hedidh &1 U BH & e & THg I~ &Idl 2 |
@rfa &1 gafa (Nature of Goodwill)

|
J

1, derra @fa @ fieeht 2, @fdom @y ar g 3. STPRAD TS A= AT
B WU B =M B TG B = I PR D WT dren &I

(Institutional Goodwill (Personal Goodwill or (Goodwill related to casual
or Cat Goodwill) Dog Goodwill) event or Rat Goodwill)




1.GRITTT @fa— U =il |Ren @) ufeeT o8 A, Sue Al & URifg ® GRU &9l & | 6T &
WM & gRdde BT 9 U= Plg Y9G 81 USal & | $9 UBR DI &1 B Hed dad Af0d g &1 g9
ﬁﬁ%waﬁwﬁ%ﬁww%ﬁ%ﬁﬁmw(ﬂ?)ﬂ‘é“fm\«;n“l,aﬁwmlwﬁw
|
2.caforTa wnfi— w9 el raur o wft Sue Wl & Sfiw, GEeT 9 FaeR Y & SR B
g, @ SN afdaTd @l @Ed & | @ad’ & Hiferd g%l oM W) w@rta H SHa a1 gell ot € | urEs
I e § ey g o B, el QR W el wrar €1 U @i e @ & @9rd arell warfa dEt
ST ®, Fifh GoT W BT €, oiel Wl o €, gor A 98 @en oar €1 39 oRE @ @t @1
o ORI AT W EHH BrAT €| VT @fa U (Profession) dTel @@ # Bl € O Sfder, €I,
Usdlde e |
3.3MERAS TeaT Tl wfi— U gy e e Rer wE7 8t €1 srfq oid—as! g & 9
I BT Hed 9 STl & M2l HH 8 ST B, ADPAD TeAT Hael FIfd Pl 21 59 g D WU
qrell T WY wed 21 gET A A1 W BT Wb Bl & 3R 7 8 fHAT @I $1| 98 P R ¥ gE A
R EHAT YE8dT 21 98 @ W@HId & dTed bl faey gee aigar fh ey @fag & e 98 wad £
T IRE B ST FT eI 98 HH Bl 2 |
@i & qegiea @ fafei —
(1) adf @ wa faf¥r (Year’s Purchase Method) — @i &1 i1 aUI & @™l & B 991 P o7
& MR W far orar € o aut & g Al sead €1 39 forw cgadra & ol & 79T Q) MR Y
@) et & —

1. 3T o™ MR (Average Profit Base): -

3. Eel 3tEd @ (Simple Average Profit)— s ¥ & s=qid @ifd &1 Jeuraa e oo 9vf &
3frae et (BTt Ifea) @ smaR WR fhar Siram €1 iTa Al @) ToET wxd WEg fUsd auf & ot A e
RIS fhd W anfiu—

i, I I /AT = HEfSd 98 @ A H F PH BY oA Ay |

ii. I @Y /BT - et 9y @ ey # S <A1 amlRy |

iii. IR @RS AT w® o = Hdod 9 @1 ey H§ | FH B} <A1 AR
Average Profit (AP) ~ Total Adjusted Profits AITT AT = T AT T

No. of years g 3 HeEr
qrafdd iRIT @™ Actual Average Profit (AAP)= 3iRId o — AEIERT &1 uiksifie (9d+)
Goodwill = Actual Average Profit x  No. of year’s purchase
w@rfa = qdfdd Hd A xaul & HI B G

39 fAmifeha Semexvll ¥ 9Hs Aad 6—

(1) T w1 &) = Td 5 991 B o AW S [ 99 A (@) B AR W HeifBd &) Sl § |
Years 2012 2013 2014 2015 2016
Profits (3) 15,000 18,000 7,000 (Loss) 10,000 14,000
@Iy BT WO BT |
afrd &@m = 15000 + 18000 - 7000 + 10000 + 14000 = 50000 = 10000

D 5
Goodwill = AP. X No. of years purchased =% 10000 X 2 = ¥ 20,000

(2) ®H @ @iy &1 Jedias Ao 3 98 & T AW & T 9 B HY B AUR W BT 2 |
Years Profits ¥
2014 40000 (34 T10000 3FEHRI o9 A € |)

2015 30000 (9 ¥ 5000 AT B @ISt B 7T T |)
2016 33000 (S99 ¥ 8000 fafsari wx «met wnfaet €1)
3 @m=30000 + 35000 + 25000=90000 = 30,000
3 3
Goodwill = A.P. X No. of years purchase = 30000 X 2 = 360,000
3) Years Profits ¥




FIERT BT Jd=R5000 aTf¥er & | 3iaa ol & 9 997 & Y & AR 9N &I @Y 70T B |

2012
2013
2014

25000
(—)5000
22000

(% 5000 Wee & T IMHA)
(x40000 ¥ I @Tol &I F)
% 2000 @HRT & Ay & o™ widrer)

3 &= 20000 + 35000 + 20000 = 75000 =¥ 25000

3

qEfde AT dA=325,000—25,000=%20,000;

@) Ra sitaa o7 (Weighted Average Profit):- 59 fUod 9uf & ol # FR=ax ge1 a1 981 &

B 1 AR AT & goiry IR 3iad & AR UR &I Y A B oSl & 1 89 O | us

3

&Tf=%20,000X3=60,000

BT AR BAT: 1, 2, 34uun. SHY U STT HAT W07 € | $H Fr=ifra Sarexol ¥ wHsl 9@ & —
Product (P X W)

(i)

Years
2012
2013
2014
2015
2016

Years
2013
2014
2015
2016

Profits?

10000
12000
15000
20000
30000

X
X
X
X

X

Total of Weights=>

Years

Profits3
5000
7000
10000
15000

2012-13
2013-14
2014-15
2015-16

a@l & offa ¥ f=faRad ad gde gd— (a) 01 REWR, 2014 @1 Wie & H6g § Udb I AFI ST B
fbar ar o1 59 R % 6000 W gU A | 9 N dI o ' @i | Al @) forar war on| I8 9 gen &
I & qedidd &) & folg 36 R &7 Yoiiexor fhar Sy | <ifhd 39 R &ArTd 819 7 9 10 ufiera
qffd g | 819 & GAMIGH &A1 €1 (b) 99 2013—14 H 3ifqA Wid &1 HeuidA 32400 | 3rferd farar |
(¢) &=fd & Huies & foIU YaeaI anTd & wdel § 34800 a1f¥er @Tsl o1+ 2 |

X
X
X

X

Weight

|Lh-lkwt\)v—-

15 Total Product of profits=>
Weighted Average Profit (W.A.P.) = Total Product of profits = 309000 = ¥ 20600

10000
24000
45000
80000
150000
309000

Total of Weights
Goodwill =20600 X 2 =3 41200
(i)yvd B4 » fOod Ix 99 & N 30 TR € MRT iad oanfi & 9 auf & HI P INR W & B

TOTAT BN |

Weight

B S

yw 10
Weighted Average Profit (W.A.P.) = Total Product of profits = 109000 = ¥10900
Total of Weights
Goodwill = 10900 X 3 =%32700
(i) TH 9 3 @iy &1 Jearss e IR 9u6f & R i & @ O 98f & BT & MR TR N |

15

Product (P X W)

i uwmnn

P

5000
14000
30000
60000
1.09.000

Profitsz Weight
20200 1
24800 2
20000 3
30000 4

10

B :
Years 2012-13% | 2013-143 | 2014-15% | 2015-16%
Profits 20200 24800 20000 30000
(-) Managerial Cost 4800 4800 4800 4800
(+) Capital Expenditure Charge to revenue - - 6000 -
(=) Dep. (Not Provided) - - 200 580

N
& ol



(-) Over Valuation of closing Stock - 2400 - -
(+) Over Valuation of Opening stock - - 2400 -
Adjusted Profits 15400 17600 23400 24620

Years Profits? Weight Product (P X W)

2012-13 15400 X 1 = 15400

2013-14 17600 X 2 = 35200

2014-15 23400 X 3 = 70200

2015-16 24620 X 4 = 98480

Total of Weights=> 10 Total Product of profits> 219280

TRT 3iaa & (W.A.P.) = Total Product of profits = 219280 =% 21928;
Total of Weights 10
Goodwill =21928 x 3 =% 65,784

2. AT AR (Super profit base)—af& HF WHAFT @ ¥ AfSS AT HARH €, O S BH BT Aframy
PEA & | AR & IS AT ™ 3R GH oW Bl 3R AT BB © |
Super profit = Actual average profit - Normal Profit ; S.P. = A A.P. - N.P.
AT = aafad T A — WERT A
| @M = Ao Uoll x 9 9eard &% Normal Profit = Capital Employed x NRR
Capital Employed Assets Employed — Outside Liabilities ; Rffaifom o= ygaa w=fmi — a=a

YATI B AHI &Y 9 AT, ST H ol 39 BHI gRT Afold o @) i &) Wil U ued | o T8
2Rl | ee fauy H
Normal Rate of return (NRR) = Rate of Interest + Risk Factor
A YT X =& B &% + SIRgH &7 e
Ae—afe Afran (S.P.) I 8 A1 Fvcers & o @I &1 Jod I 8N |
Goodwill = super profit x no. of year’s purchase; T = 3™ x T8 & HI BT W&
fafaer STEvor :
(1) Ut& B4 9 it T 50000 & AT WERT YITT R 10 URRIT €| BH & gR<fad iAo T 9000 ¥ |
el @ AR [ & q¥ER @ S T SR |
Normal profit = Capital Employed x N.R.R.=50000 X 10/100 =% 5000
SP.=AAP - NP 6 rferem™ = 9000 - 5000 = T 4000
@ =SP X 4 =4000 X 4 =% 16000
(2) T a9 wH @ Golt 22,00,000 R 9HERT UQTE €Y 10 URNE €1 IS ARIGR &7 a1ffe 9a+9 T 6000
21 %4 & fUwel 9 981 & o §9 UBR 8= 40000, T35000,345000 M & < 99 & HI & YR
R T=Ify @Y O BN —
gRdfde s ama=40000 + 35000 + 45000 = 120000= 40000-12000 (Salary to partners) =¥ 28000

3 3
Normal profit = Capital Employed x N.R.R. 5 4 =2,00,000 x 10/100=2 20000
arfdremT = 28000 - 20000 = T 8000 ; @fr=SP X 2 =8000X 2 = ¥16000

(3) 1 3 2017 BT b B P g 2,00,000 o, SRE T 10000 Jbe o wiEer ot zw fafyr @
e 2 10,000 & 21 | WiseRl & Yol @l § 21,60,000 @7 WY g He I I30000 B AT| TS P
%} 8 yfderd 9 SiRew d@ ar uftrera o) e & 9 affa % ) &4 &) @fd &1 3R 33000 &
qr arafae s @ @l g
Capital Employed = Assets - Liabilities =200000 - 10000 =% 190000
Normal rate of return = rate of interest + Risk factor =8%+2% =10%
Normal profit = Capital Employed x N.R.R.= 190000 X 10/100 =%19000
AT = IR AT AT — HHI |
11000 =arIfa® AFT AT + T 19000



19000 + 11000 = ¥ 30000 (AR<fde 3T @)
CIRNIGRGEC LI

wfr=SP X 3 = 33000 ; 33000=SP X 3; S.P.=33000/3 =% 11000

@) U B4 & Mo d9 auf & @™ §9 SR 8- 20000, T 17000, ¥23000 fafafora goh, 21,00,000 @
AT YT &% 12 gfawd €1 afdemdi & N9 a6f & $7 & R w =y @ 7o i |

airad o =20000 +17000 + 23000 = 60000=% 20000
3 3
M= o =Capital Employed x N.R.R. = 100000 x 12 /100 =% 12000

e = AAP - NP =20000 - 12000 =% 8000; =fir=SP x 2 =8000 x 3 =37 24000
AIe : SWRIEd qF1 IMUR (3T @™ Ud rftem) e faftrat | off vt fea wi €
(2) Yofiewor fafr (Capitalisation method)— 39 Y & oravia g™ gRT 3T o™l &1 Yol
XD @A BT e Fd By S 21 59 fafdy 3 erfa wnfa &1 qeuiea & smuRl W fear s e 2
(37) Jred T B Gofieror fafer
3 o™l &1 Yofidvor Heu  =3idd o x 100
I U @ &%
wifr=ct™i &1 Yofidd Jed — fafaifsa ol Goodwill = capitalised value of profits - Capitalemployed
Are— Ife i el &1 foliga gea g RFART §of @1 srer 3= a1 komers @ o @) & 4 g
BT |
(i) T ¥ BT ST A 215000 & R WH BT Yol 21,00,000 | GHEM U™ X 10 Ufaed €1 efad
ol @1 Goleeor fafd | @nfa &) 7o FIf |
@ifd= sfied o™ x 100 -faffenfSra i
AR U Bl &)
Goodwill = { 15000 x 100} - 100000 = 150000 - 100000 =% 50000
10
(ii) aT<Ifa® AT T I46000; AT YA B &% =10%; F¥Ifeqai = ¥500000;
arfir= % 100000 airga et @1 gofreeer Iy &1 @nfa @ o i

46000 x 100
@ifi=(—————) - 400000 = 60000
(9) iRl @1 Gofrexor A — w@rfa = s @M x 100 Goodwill = S.P. x 100

AT YeTd Pl &% N.R.R
(i) 3irFa & = 100000, FHTRT UATT &1 &) 10%; fafafaa it 2 800000
Normal profit = Capital Employed x N.R.R. = 800000 x 10/100 = ¥ 80,000
AT = 3T AT — AT T
S.P.=100000 - 80000 = 20000 ; wfa = S.P. X 100= 20000 x 100 =7 2,00,000
NRR 10
(ii) Assets ¥ 300000, Liabilities ¥ 50000, NRR 10%, AAP 30000
Normal profit = Capital Employed x N.R.R.=250000 X 10/100 =325,000
Capital Employed = Assets - Liabilities = 300000- 50000 = ¥ 2,50,000
™ = 3 d oI — 9T @M =30000 . 25000 =% 5000
@ifd =S.P.x 100  =5000 X 100 =% 50000
NRR 10
(iii) aftEd @ 250,000, NRR 10%, Capital Employed Z 3,00,000
iraa ol @t doltexer faf @ sifframal o1 doftexer fofer & w@fy @ o & |
(a) on the basis of Average Profit

AP X 100 50000 X 100
@ifd = (W) — Capital Employed = (T) - 300000 =% 2,00,000

(b) on the basis of Super Profit




g o = Capital Employed x N.R.R.  =300000 x 10 /100 = % 30000
gfge = AP - NP =50000 - 30000 =% 20000
i =S.P.x 100 =20000 x 100 =% 200000
NRR 10
(3) 1@ (B g%) ar srgArfa wanfa fafr (Hidden Goodwill Method):—
T AERR & aM & W 7 SUG R 18 TE Goll & 3MUR TR B &I del Yol S B 2|
WH B MM = F Yoll— QR FIEERT I FARING Yoi— T AERR B Yol
|ART ol &7 M : Yol I9 + "o + A — B
() T & v B F weer & e Ioft 920,000 @ 230,000 § | ¥ @1 omit 7 1/5 Ry & fog vaw
f&am, 91 Yot & ®U ¥ T 15,000 AT € | Sad AR ¥ ST ST 9ed $d DI |
1 @ Yol @ MR R BH @ fol Jofl 15000 X2 = 75000
BH B &I = B4 & o Joil — T d & &1 FFIford goil — & a1 Goit
75000 - 50000 = 15000 =% 10000
(i) ¢ 9 < wEeR € e 4ot @l & 99 € 10,000 T ¥ 20,000 €1 fres 7 sraaRa dag 210,000 &7 €| 4
B 1/4 R & fow w9 H gawr <d €1 S T 20,000 Yol rar €| Sa GIARI W @G $ e A

DIfTY |
o @ ol & IR W B @ Bl Lo 2

20000 x— = £0007
1

(~) T 7 ) ¥ w=riaT o
(10000 | 5000) | (20000 | 5000) = 40000
(=1 =1 ¥ 1= =20000
T BT =TT = 20000
(4) g ufawa fafY (Purchased Consideraton Method): -
ifd = %y ufdvwd — Yg qRr
TETERY : U aard & FrfRr 22,00,000 7 & 2 50,000 & © | 299y & Ha Ukl €1,70,000 T
g | A1 @I &1 Heu fahaer g |
Net Assest = Assets - Liabilities = 200000 - 50000 =7 1,50,000
T = Purchase Consideration - Net Assets = 170000 - 150000 = ¥ 20000

(5) arf¥@r fafr (Annuity Method):—

@A = Super Profit X Present value of Annuity
e At &1 acaE Hea e fear T €, a1 SHS! ToET A g W @1 W g |

. : F
Presen: Value of Arnuity =1 — ( ]n

100+7
100 n=aul @ WA =[N TA™ K
S n=3, r=10%
_ i 100y
Present Value of Annuty =1 - c 100 < 10

’ = 2.487

10

100

(i) ofga &m = 320,000, fRfFEIRE o = 21,50,000, 99 Y@@ & &x=10%, daaH
Heu=2.487aiffe A & wfy &1 Heu s o |
Normal profit = Capital Employed x N.R.R. = 150000 X 10 /10 = 15000



S.P.=AP- NP =20000 - 15000 =% 5000
@ifd = S.P. x P.V. =5000 x 2.487 =% 12435

i (Nfiew) &1 a@ieT &98R (Accounting Treatment of Goodwill)
T WERR © Y9Y & 9HY @fa @ JdeR ¥ awia AEfeiRed oRReft 8 wadt ® —

N g amDbR

g = @ AR B I o wu 9 fear S|

ST AT WSS 304 xRy P w@nfa @ Wf3r A oiew 37ar € |

Y 7T WIRER AU By &7 wfa &) i Ade o) 78! AT 2 |
9 AT AIEER AqUY R @ =iy Aifde wu § Ade § oar 21
S A7 AeeR 3+ v @t wnfa wwRi (In Kind)® 9 § o7dT £ |
o g$ wmfa @1 o)

A fantror ergara § uRad+ 8 W @nfay &1 o |

%wdn Sua Wil aRRerferal # afe geael | i @i ger g ([edH) & o S9 sufaiad (@)

fopar SIRAT |

Old Partner's Capital A/c Dr. (OPSR)

To Goodwill A/c

(Being Existing Goodwill A/c is written off in old profit sharing ratio)

(1) S e 1 AR ST YA ol W @ a1 S (When amount of Goodwill is paid privately)—
I 7971 ArEiER AU R @) i &) AR &1 YA R ARl B ol w9 B dr & 9 B9 D
gt # @rg wfafe 7E @ sl wifs wnfy @ afy e F T8 ot o €

(2) STd =41 WISIER 39+ Ry &I ¥ dbg oy @t & | 39 Raafy 7 o= ufafteai & o & —

@

(i)

(iii)

@fa & A TFHe W)
Cash Alc Dr.

To Goodwill A/c
(Being amount of goodwill brought in cash)

Ifa @I AR /T X dlel WISIERT @ @Mdl § QAN AU H SAidNg ¥ W)
Goodwill A/c Dr.

To Sacrificing partner's capital A/c
(Being amount of goodwill transferred to sacrificing partner's capital A/c)

@nfa @ U @R 9 Aeen w®

Sacrificing partner's capital A/c Dr.
To Cash Alc

(Being amount of goodwill withdrawn by sacrificing partners)
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(3) 9@ 7T WISIER MUY R &1 WY AdH i} Al AT €, 39 S H @I U # A ufafe gnft —
New partner's current A/c Dr.
To Sacrificing partner's capital A/c
(Being share of goodwill of new partner is adjusted through capital A/c)
feaoft — 39 e # 2 WERER @ IO @] @ @M ) 99 diq I @1 sfie fFar w8, arfe
TS Yol BH T B
(4) S8 T AEER AU By &) waify orifdre Wy | Fee H rdr &, 39 <3 § e ufaftent enfr —
(i) @Ife &7 S fRT e oI 3T & —
Cash A/c Dr.
To Goodwill Afc
(Being amount of goodwill brought in cash)
(ii) QT R aTel TSGR @ WAl 3 AT U H ST BT ER/ICORT H TR
Goodwill A/c Dr. (A%g <)
New partner's current A/c Dr. (A®g F81 )
To Sacrificing partner's capital A/c
(Being amount of goodwill is transferred to sacrificing partner's capital A/c)
(5) S =T |TsIER 319+ By @Y wanfa @y (kind) @ ©9 H oar 8, 59 9 # = ufafteat enft —
(i) @i @ ford Wy aF W —
Asset A/c Dr.
To Goodwill Afc
(Being asset contribute by new partner for his share of goodwill)
(i) I P N DY dlel AR & Yofl Wil § @R Sgurd § gedidNg R R —
Goodwill A/c Dr.
To Sacrificing partner's capital A/c
(Being goodwill transfer to sacrificing partner's capital A/c)
(6) fodt g¢ w=fd (Hidden Goodwill) &7 oi@r —
g 39 A &1 yaT 99 g H e oar @ o9 Jar 9EieR @i @) ¥ 9ee ddx T8l e g |
T AERR & @ 3 R 9 ¢
New partner's current A/c Dr.
To Sacrificing partner's capital A/c
(Being amount of goodwill adjusted through sacrificing partner's capital A/c)
(7) wEERl & o e agud | uRads B R =i @ fog oRkafed ufafie
Gaining partner's current A/c Dr.
To Sacrificing partner's capital A/c
(Being adjustment goodwill due to change in profit sharing ratio)

Ae— (1) =fd & fow Wi veg &1 9 SugRT far o7 adar € |
(2) T WEIER §RT @8 AT WA BT RT —TT SR dTel |IEERI H S8 N 3aTd § qier ST |
(3) oraT WEE 10, 26 /Indian A.S. 38 & MR @R & qasi ¥ ot forar wrar €1 wefe sad By
B g g5 A1 goT qod BIs Afawd Sl AT 8| 3 $acl $HY bl T3 WM B o@l F&Ibi |
B |
warfora @i (Self Generated Goodwill) ST {5l HISIGR & U9l /ATl TBUT, He JHefdl goid ARl
@ oY e srgure H aRadd gF o ST Bicll §, @l qHRINH deierl @ Yol @i/ d9re] @idi @ HJead
I far ST FfRe| §9 MR W gwae! # @i @rar e @ier off daar € | 9aifs g9 gen ¥ 38 gfowd
1 BTN T B |
HUIN TS B F AEERE| SN 3:2 D U d A e o=l &1 W 1 am H 1/4 B B forg
A% <4 € | W @i & forg ¥ 20,000 FHE AT €| I8 WAd §Y oiHd gfaftedl iy i
(a) =it & aarg ¥ Y& far omar €1
(b) Ty &7 e I e fear s €1
a. (1) Cash A/c Dr. 20000




To Goodwill Afc 20000
(Being amount of goodwill brought in cash)
(i) Goodwill A/c Dr. 20000
To A'S Capital Alc 12000
To B'S Capital A/c 8000
(Being amount G/W distributed between sacrificing partners)
b. Suge (i) & (ii) & sifaRed, ya ufafte afiv g8rfi|
A'S Capital A/c Dr. 12000
B'S Capital A/c Dr. 8000
To Cash Alc 20000
(Amount of goodwill withdrawn by the sacrificing partners)

(i) TT 9 TS BH H AEER €1 S 32 F A IS avd €| ¥ 9EeR 6 w0 3 g9 oiar €1 ¢ T 1
Eill

U AT B 37 BT T AT I b ver H gAfdd Fxd T W B yaw @ Gfy B @ wmnfy
Heg 340,000 € | ¥ 3701 fREAT AH AT B |

T g & g & d—adrernd afd @R | Fera o9 81 siHa wfaftedt @

A B = # R = 40000 X 1/2 = ¥ 20000
$ i 3 - 3 ¥V 8 _ ok o 3 .2 _ 5 1
Amctz=n P imn "MWHmI2 WA et e
S gfaftear
Cash A/c Dr. 20000
To Goodwill A/C 20000
(Being amount of goodwill brought in cash)
Goodwill A/C Dr. 20000
To A'S Capital A/c 12000
To B'S Capital A/c 8000
(Being amount of goodwill distributed between sacrificing partners)
A'S Capital Alc Dr. 9000
B'S Capital A/c Dr. 6000
To Cash 15000

(Being goodwill withdrawn by sacrificing partners)
(iii) T 9 &t @i P 2 : 3 & U # gied §Y WERER 2| 9 A @ anif § 3/7 R’ & fow waw <@ £
H2/7 MM T HT1/7 RT &1 | U HaT 21 A 09 B & @i & fore 230,000 de &

1 B yaw A AN b1 g’ H wafay @ k20,000 W yHE BT € | Sl faftedt S |
R &1 gurad=2/7 @ 1/7 = 2:1

Cash A/c Dr. 30000
To Goodwill A/c 30000
(Being amount of Goodwill brought in cash)
Goodwill A/c Dr. 30000
To A'S Capital A/c 20000
To B'S Capital A/c 10000
Being amount of Goodwill distributed in sacrifice ratio
A'S Capital A/c Dr. 12000
B'S Capital A/c Dr. 8000
To Goodwill 20000

(Goodwill A/c written off.)

(IV)T T &t 9=ieR & off 32 § oY faures &xd €1 W &1 797 9=ieR 9917 Sirar € | 9 wfa & fore
% 20,000 Fhg ordl & | e qemsii | @i &1 orar difvig |
(a) I BT 1 /5 T & fog enfie fovar sirar €1 foRT 98 gof w9 9 ¢ 9 9T @R




(b) ¥t @1 1 /5 91T & forg wifia fovam Smar €1 O 98 of vu 9 & 9§ o #=war €1

(c) & BT 1 /5 91T & forg wnfaer far wmar €1

(d) ¥ BT 1 /5 97 & forg wnfia fovar orem €1 9 98 T g ff & 99 9 ¥ U SRl € |
(e) T & T & B 7 U 1 : 1 : 3 PR g €

(f) ST 3/20 WM TH G 1/20 9T N UG PNl B

Following Entry is common in all case:
Cash A/c Dr. 20000
To Goodwill A/c 20000
(Being amount of goodwill brought in cash)
(a) ¥ 3o BT 1 /5 Of WU U A UG PR B |
Goodwill A/c Dr. 20000
To A'S Capital A/c 20000
(Being amount of goodwill transferred to A’s Capital A/c)
(b) A1 e R 1 /5 qof ®U & 9 U HRar 2 |
Goodwill A/c Dr. 20000
To B'S Capital 20000

(Being amount of goodwill transferred to B’s Capital A/c)
() & &1 1/5 9T & fou enfya far war €1 (89 <@m # OPSR @ SR ¥AM ®gm@r £) 3

T &7 3rgurd 3 : 2
Goodwill A/c Dr. 20000
To A's Capital 12000
To B's Capital 8000

(Being amount of goodwill distributed between A and B in their sacrificing ratio)
(d) 7 0T R*T 1,/5 U G § 9 IRIER—aRIER UK BT € | T AT H I AT 1 1 1 BT

Goodwill A/c Dr. 20000
To A's Capital 10000
To B's Capital 10000

(Being amount of goodwill distributed between A and B in their sacrificing ratio)
esTTMATIRN FT AT 2:1 2
Goodwill A/c Dr. 20000
To A's Capital 13333
To B's Capital 6667
(Being amount of goodwill distributed between A and B in their sacrificing ratio)
(P 3,/20 ¥ T/ T 1,/20 9FT UG FAT S| TH AT H AT U 3 : 1 2

Goodwill A/c Dr. 20000
To A's Capital A/c 15000
To B's Capital Alc 5000

(Being amount of goodwill distributed between A and B in their sacrificing ratio)

G)T T Th BH H ARER £ AT 4 : 3 F AW fueH axd €1 A B AT WEER 949 € | 9T g
1202 1A v R @ wift daw o A o E | W @ udw O A a7 wH @ wnfa @
HeaTh T 28,000 WR fhar MAT| 3avge S yfaftedi ST |
cumiﬁragum_gﬂﬂmﬁwaﬁw AT Y faUTST 31U

4 3 — -
Am;—;:; ,B—;————Qfﬁfﬁ[w&ﬁtﬂﬁ‘l‘i 3 @1 i H R 28000)(-_?80(}0
C's Current Account Dr. 8000
To A's Capital A/c 4000
To B's Capital A/c 4000

(Being C'’s share of soodwill adjusted)




6)T T YH WA H 2 1 D UG H A A BRA gC FEGR B W B BA F yaer <o & 4
o fawror argurd 2 0 1 0 1 E1 W B ydw A Al @1 wnfa o1 geaieT T 30,000 w eI war) @
3T e Adhg oM A rgHef €1 ¥ & ydy & A b gl H @i @i 315,000 wR R
g | v THe yfaftedi S |

TN T AU = QRET oA fAHTSTH 31T — a1 & fasrei srgurd

2 2_ 2, - (R :
A=S—===; B= -—-==T & & T T 2 : 1
A's Capital Dr. 10000
B's Capital Dr. 5000

To Goodwill A/c 15000

(Being goodwill account written off)

A1 @1 =g # R 30000 x 1/4 = T 7500

C's Current Account Dr. 7500
To A's Capital A/c 5000
To B's Capital Afc 2500

(Being goodwill adjusted between A & B)
Ae— Safdh a7 AEER T @ IBH 968 o H ol € O S9 g3 H Y 9ERR & Yol 9 @
I TR IUG dle] @ @I sfde far mar € afs Syar o &9 9 &
NUITN TG FIHABCR TG 21 H o oo oxad €| @ o o ¥ 1 /4 B & forw yawr <
21 A1 3o Ry ) @i & T 4,200 § ¥ ¥ 3000 s Tl € | AT A faToT ergure 50 3 ¢ 2 E
Maead o gfafteai sifory |

1. Cash Alc Dr. 3000 2. Goodwill Dr. 3000
To Goodwill 3000 C's Current A/c Dr. 1200
(Amount of goodwill brought in by C) To A's Capital A/c 3500
To B's Capital A/c 700

(Being goodwill distributed between A & B)
QI T AT = YT A faTerT Srgure — 1 o fvrsr= a@mﬁ

A____*i e DL T 4 I AT U 5

30

5 T T e s B By 3 444 e 5B 5 38 61 1 e R
1800 H ¥ %1000 THe AT T YIB! F T @1 % 6,000 F QFeEm F| omavdd o wfafteyt
DY |

1. Cash Afc Dr. 1000 2. Goodwill Dr. 1000
To Goodwill 1000 C's Current A/c Dr. 800
(Being goodwill brought in cash) To A's Capital A/c 900
To B's Capital A/c 900
(Being soodwill distributed between A & B)
3. A's Capital Alc Dr. 3000
B's Capital A/c Dr. 3000
To Goodwill 6000

(Being goodwill account written off)

(9) vadi3:2d Jguid d A fauTeE oRd 8Y WRER 21 A o H 3/13 REd & forg uder &var € |
TIT A AT U 5 0 5 0 3 & W A oA Yo 9 wafa & fog e wwafEl @1 dnes
fam i@ T 20,000, WAER T 30,000, WA T 80,000, W B WA B Ay B @ wnfa &
HATH I2,60,000 UR AT AT | AMGAP Giviel yfdftedi HIfoy |
ST Eb‘rdigum = g<|~1| Wﬁ?ﬂﬁﬁaﬁw ERIECIERCEINERCE IR

L ;B:——————14 i
5 13 65 5 13 65




A &1 @nfa § 2w 2,60,000 x 3 /13 = T 60,000

Stock Dr. 20,000
Furniture Dr. 30,000
Machine Dr. 80,000
To C's Capital A/c 70,000
To Goodwill A/c 60,000
(Being sundry Assets Contributed by new partner, as his capital & his share of Goodwill)
Goodwill A/c Dr. 60,000
To A's Capital A/c 56,000
To B's Capital A/c 4,000

(Being goodwill transferred to sacrificing partner’s capital A/c)
(10) T: 91 v %H H AEER Z| ST 7 : 5 & U H M fano #Rd 1 A BT I H 1/6 B S

fore yaer 0 1 T3 @ e g 13 ¢ 7 ¢ 4 F1 A aue ol @ wfa @ Ry & forg e
FHRR &1 ANTEH BT ¢ |
Stock ¥ 60,000, Land & Building ¥ 2,80,000, Plant < 1,20,000
A @ yae B [T S BH B @I BT Hedid 27,50,000 UR {HAT TAT| MaeTS Si-iel Ufaftedl Sy |
M T U = YR &A™ AT U — =731 & fSTsT S1urd
7 13 01 5 7 03

'.\:-_-—._:-_- B-_—.._.._.-'_..—_-:_:l 3

12 24 24 12 24 24

M @1 @y #§ 2w 7,50,000 x 1 /6 =% 1,25,000
Stock Dr. 60,000
Land & Building Dr. 2,80,000
Plant A/c Dr. 1,20,000
To C's Capital A/c 3,35,000
To Goodwill A/c 1,25,000
(Being sundry assets contributed by new partner, as his capital & his share of Goodwill)
Goodwill A/c Dr. 1,25,000
To A's Capital A/c 31,250
To B's Capital Alc 93,750
(Being Goodwill transferred to sacrificing partner’s capital A/c)
(11) T T &) 9=er & a8 Gofl B9 T 40,000 9 T 30,000 E1 d A & & H 1/5 B & o0 yaw
<d €| S Yol & 1T % 20,000 T € | MG @1 T HINTY G Eife Gl gfaftear Hifom |
o A wfi= @ A G D AR W T B R B (U R @ e Gl wRer @ ioh)
[20000 x - (70000 + 20000) ] =z 10000
A &1 wfa A == 10000 x 1/5 =% 2000

C's Current A/c Dr. 2000
To A's Capital A/c 1000
To B's Capital A/c 1000

(Being C’s share of goodwill adjusted to sacrificing partner’s capital)

(12) T : 1 v B9 H WERR €1 S 3 : 2 & U H @ e e €1 wfas # avreR avreR o
gict & fega axd €1 BH @ @fd &1 e 60,000 TR R AT | @fd & aER @) o
gfafeeat HIRTY |
QINT T SUTd = GRIAT A TS arqure — = @ fawrs argura

3 1 1 1 1
A=i-2== (SR)B=2-2=(Z)GR)=1:1
B's Capital A/c Dr. 6000
To A's Capital A/c 6000
(Being the goodwill adjusted on change in profit sharing ratio)

w




T WEER R Yol dAM—
(a) Fhe H AT
Cash / Bank A/c Dr.
To New Partner's Capital A/c
(Being cash brought in by a new partner's capital)
(b) 59 ST HISER 3UAT W8 BT AMIR oAb BH H Td9 Hcl & |
Sundry Assets A/c  Dr.
To Sundry Liabilities A/c
To New Partner's Capital A/c
(Being Assets & Liabilities brought in by new partner)

afe goft @ W gd FeiRa & qem W &1 @R fHerey uder dwar § o e afdr goft # w9 gedt 2
BEEESIERSISURS

Sundry Assets A/c  Dr.

Cash/Bank A/c Dr.

To Sundry Liabilities A/c
To New Partner's Capital A/c
(Being Assets & Liabilities brought in by new partner for his share of capital)
HHRET & Gcdidd d qiadl o1 g iR
(Revaluation of Assets and Reassessment of Liabilities)

TIGSER & Y49 & WHI W4 grl @ qidcl of 98 Jod R fewa @ oy S+é1 gcdia fbar
SITaT | it vkl & qeal 9 g B9 9 sl @ el § $ BN W A BT € | iR SRl & el
d U M g el @ qeu H 9fg B w g Bl €1 I g9 R RE WIEIER Y Bl 78l oAl 9rgil | Se
I gHR B BN W YT AISGR g8 q6l HRAI A6l | gAY YTHAIDT & o BT DI GRI AIserRi o
RE T TS argura # aie e o €1 3w Rufa # ve Ry @rar w@ren s £ | R geeies @
(Revaluation Account) a1 @™ &Y @A @l (P&L Adjustment A/c) ®8d 2| 36 W & Udhfa

JaTfds @ B B
U eied @ @ forg oa gfafteat
(1) wwufral & qeu ¥ gfg | Assets Ale Dr. gfg @1 IR |
B OR To Revaluation A/c
(Being increase value of assets)
(2) W= & e § M | Revaluation A/c Dr. FH DY ART |
B 0¥ To Assets Alc
(Being decrease value of assets)
(3) wHraT foig faes § | Unrecorded Assets Dr. TYRET & Jod °
vefidfa S frar Tar & To Revaluation A/c
(Unrecorded Assets) (Being unrecorded assets taken into account)
() =Rl & ge9 ¥ Qﬁa’ Revaluation A/c Dr. gfg = I |
BN R T To Liabilities/Provision A/c
(Being increase in value of liabilities/provision)
(5) <1R¥ral @& {edi § A1 | Liabilities/Provision A/c Dr. HH DY A |
T A B eI H DA To Revaluation A/c
B OX (Being decrease in value of liabilities/provision)
(6) s o free # Revaluation A/c Dr. I &Y AT 9
vef3fa =2 foar = & To Unrecorded Liabilities
(Unrecorded Liabilities) | (Being unrecorded liabilities taken into account)
(7) g caid @rd &l Revaluation A/c Dr. EIREEIRUERS
HfSe AT (@) 89 W To Old Partner’s Capital T‘[ef KICBCL Nkl
(Being profit on revaluation credited to Old T k-]
Partner’s Capital A/c in their OPSR)




(8) g @I & Old Partner’s Capital A/c  Dr. eI @ Wfkr |
sfe 9y (@) 89 = To Revaluation Afc EURRCICREEINE
(Being loss on revaluation debited to Old 3T )
Partner’s Capital A/c in their OPSR)
UH&NPT @ &7 Ued (Format of Revaluation Account)
Dr. Revaluation / P & L. Adjustment Account Cr.
Particulars Amountz Particulars Amount3
To Decrease in value of Assets By Increase in value of Assets
To Increase in the value of By Decrease in the value of
Liabilities/provision Liabilities/provision
To Unrecorded Liabilities By Unrecorded Assets
To Profit on Revaluation By Loss on Revaluation
Transfer to old Partner’s Capital Transfer to old Partner’s Capital
A/c (In OPSR) A/c (In OPSR)
Note:1. Assets Undervalued by --%@=fRii...., afderd § &9 Jeuifdrd= Value as given x rate
100 = Rate
2. Assets Overvalued by --%@#aixaL. iR ¥ s1fere Jeaifba= Value of assets as given x _rate
100 + Rate

3. afe uzq # ¥ ge1sd” (Increased by) f&ar Tam & ar S+ & Wl & TR
4. 9f% gea # “a@  (To) fXam mam &, r siax & AR & o @r &<t £ |

5.5 wiic @ qea # 5 uferd 9 &1 &, (Reduced by) @1 flee & Heu &1 5 gfaerd §id & gAqidA

ard ¥ e |

6.1;'1%1?%I’@T%”fﬁ?t&ﬁ&ﬁ?SOOOWW%ﬁ&E‘%?ﬁ?ﬂﬁ@?woomﬂﬂgﬂ%ﬁ?}ﬂ@ﬁﬁﬁ

[
fqaRa o Her 9 sgaRd sl 9 $m aaRrd
(Undistributed Profits Reserves and Undistributed Loss and Fictitious Assets)

TP deaRT YR WEIGRT # S96 [E AW e egud # e arar €1 fdaRa o dag arei @
dicd & fery

P&L A/c (Credit Balance) Dr.

Reserve Fund / General Reserve A/c Dr.

Workman Compensation Reserve A/c Dr, (Excess of reserve over actual liability)

Investment Fluctuation Reserve A/c Dr. (Excess of reserve over the difference between book value & market value)

To Old Partner's Capital A/c (In OPSR)
srfaaRRa st vd &Em wwRml o sufolRed &7 w
Old Partner's Capital A/c Dr. (in OPSR)
To P & L (Dr. Balance)
To Deferred Revenue Expenditure A/c

|ic : 1. Employees Provident Fund (E.P.F.) #¥arl wfaw A w6 &1 g0 g1 € o SS9 deierRi
§earT el 81a1 2 | 2. Deferred Revenue Expenditure Sii— fagmo @

AEERT B Yot 1w
(Adjustment of Partner’s

l
| | |

T AEER B Yol B R R AIEER B Yol @ Safs T B @ gl &
R QR AISIERI @1 Yol @ AR U 7Y AEIER B Uoll Y 8

(1) 7 91=ER @1 Yo @ IR TR IR 9GR] o Yol Fariod 3l




Step (i) = WEER 3 ofl & FER TR BH BT Bl Yol 19 DI ST |

Step (i) H @I Ge1 Yol BT FeaRT T4 A faT= # AT B

Step (iii)g=T1 WTSERT @ FARAIOT Yol @I Gl Sa T4 ol F @ S | g AR DI AR BT FARIST

% @i (Cash A/c) 1 HIERI & @] @i (Partner's Current A/c) & HEz® § 8N |

e AT S IMTa H FHENE THe W b ARH | B |

fafey SemERor

() T T & vH B A AEER I AN 3 : 1 B U H died 81 A B A # 1/4 B qaw uaw
7 B A Gol & forw T 40,000 @ €1 U g € #Y wEEIG Yo S 31,00,000 9 325,000 €| T8
fAfRad gon & M wrEERl & 4o 3 & IO & R w® FuEfd @ S |

gol— W1 &1 oll & SR WX ®H B el Tofl 40000 x= =3 1,60,000

SRR Byl_2.
U BT T S 2X2 == § BT T U X == ;

16

9 T i
T, 1 g BT U —: —:—=9:3:4
aFl R Rl B ol = 160000 x 9/16 = 90,000 ; B = 160000 x 3/16 =% 30,000,
C = 160000 x 4/16=% 40,000 ; T amfergd ol o SIRAT = 100000 - 90000 = X 10000; 41 B4 &1 wf3y
SR = 25000 - 30000 =% 5000

A's Capital A/c Dr. 10000

To Cash 10000
(Being cash withdrawn by A)
Cash A/c Dr. 5000

To B's Capital 5000

(Being cash brought in by B)

(2) "M FIEIGRI @1 Uoll & SR W Y AISER &1 Yol S1d HRA—

Step (i) Q¥ WTERRT &1 AT Yol 1 e |

Step (ii) TR ol & MR WR B &) dal Goll S B |

Step (iii) B9 @ ol Yol & MR W T4 WEGR & Yol Sd & |

MU IR vH B A aEER 1@ oA H1/6 W @ g gawr <7 £1 g g & @ g $oh
AT T 40000 T T 20000 & | AT WH &1 Hel Yoll &1 1/6 %41 Uoll & ®Y H ARAM |

U g 4 @ fel G Yol 40000 + 20000= X 60000

W T e @ R s vad @R 1-1=2

6

o B e Iofl 60000 X 2=372000 ; ¥ F7 it # sgonfe fwm 72000 X = =312000

(D) =, T T & A Fga G &1 1/6 siewm sy A A A g R 60000 X - ==10000
(iii) T w+ @7 g & T B

Step I-GGH &7 dearT 3 siurd H R |
I 721 WEER o R ) el wm
NI-RF |EER o0 =0 ol g gArifora dofl &1 ofdR wee arid a1 o i | a1 9re], @l &
A A GHRISH 81 |

TETEXel 1. A TB U BH A ORRR & S 3 : 1 @ F A fauer wxd € | ST fUeeT 39 WK & (A and B

are partners sharing profits in ratio 3:1 Their Balance Sheet is as follows :)

Balance Sheet as on 31* March, 2017
Liabilities Amount? Assets Amount¥

Creditors 30,000 | Cash at Bank 22,000
Bills Payable 6,000 | Debtors 40,000




O/S Expenses 2,000 | Stock 15,000
Employee’s Provident Fund 6.000 | Investment 12,000
General Reserve 12,000 | Land & Building 50,000
Capitals Plant & Machinery 30,000
A 80000 Furniture 16,000
B 70000 1,50,000 | Trademark 5,000
Patent 6,000

Goodwill 10,000

2,06,000 2,06,000

d ¢ DI 1—4—2017 P FAY A & | AT AT faHIST SITUTT GRIGR—aRIER BT |
(i) C % 50,000 g=ft 7 710,000 =l & forg oiax omem & (i) oFerl 3 wfAe 34,000 & I T8 HRA
e | (i) fafarT &1 qeaies 215,000 @R fFar o) (iv) G w=of & fog 5 gfie e g a9eRl w®
g2 @ foru SmEem 2 uftera SR (v) M @ wad 25,000 § &F Heuifed g1 (vi) wie weiE 210,000 9
Jftrqeifea & (vii) weiter 10 uftera & @l far S| (vidl) Ss9@ &1 gegiea % 3,000 9= far |
(ix) THE &1 o9 % 2,000 TF HH B 21 (%) FHET 979 % 2,000 (xi) gdwa G 2 2,000 (xii) T AES B
qrar % 2,000 wer faar (xiii) o= fdal & o e 2 5,000 (xiv) e gediad 3 13,000 iR b
AT (xv) SRR ST qRadr # el fordl T 2 10,000 (xvi) Uh SRR O 2 500 I@ET o, S8 RO & w9
A sruferfed &= R T3, S9+ gob e # ¥ 400 R | i @ a9 s |

They decided to admit C on April 1* 2017. New Profit Sharing Ratio will be equal :
(i) C Shall bring 210,000 share of premium (Goodwill) and T 50,000 as his capital. (ii) A Liability of
¥ 4,000 included in creditors was not likely to arise (iii) investments valued at 15,000 (iv) Create P.B.D.
5% & Provision For Discount on Debtors 2%. (v) Land & Building undervalued by %5,000 (vi) Plant &
Machinery overvalued by 10,000 (vii) Furniture is depreciated by 10% (viii) Trademark valued at ¥ 3000.
(ix) Patent reduced to ¥2,000. (x) O/s salary ¥2,000 (xi) Prepaid Insurance ¥ 2,000. (xii) Claim for damages
¥2,000 is accepted (xiii) There is also a unforeseen liability for ¥ 5,000. (xiv) Stock is valued at 13,000
(xv) Unrecorded Assets 10,000 (xvi) A debtor whose dues of 500 was written off as bad debts, paid ¥400
in full settlement. Prepare Revaluation Account,

g
Dr. Revaluation Account Cr:
Particulars Amount(3) Particulars Amount (3)
To P.B.D. Alc 2000 | By Creditors A/c 4000
To P.D.D. Alc 760 | By Investments A/c 3000
To Plant & Machine A/c 10000 | By Land & Building A/c 5000
To Furniture A/c 1600 | By Prepaid Insurance 2000
To Trade Mark A/c 2000 | By Unrecorded Assets 10000
To Patent A/c 4000 | By Bad-debts recovered 400
To Outstanding Salary 2000 | By Loss transfered to
To Claim For damages 2000 [ A’s Capital A/c 5220
To Unforseen liability 5000 | B’s Capital A/c 1740 6960
To Stock A/c 2000
31360 31360

TR g"l‘icﬂ-ll'dvﬂ ETdl (Memorandum Revaluation Account)
S B WEERl # wen U8 wHeA 8 Ol 8 fb 90 WEER & yde & §HY gHiead] &l

[ S RIEE

TRl &1 gAHuR G A SR ofde s v @ el vd el @ @l § gol el fear
IRATT | U Rerfey # [ @I & ARTH 9 %A B afadl Ud SIficdl @ Hedl § ®Is uRadd q8f fear
SIRAT, YR Yqedieh @ BRI ¥ I B Pl R &l FarEe dsiar @ Yol @il § SRomed gqqedia

Kol



T IR 74 UHR ¥ Ha1 SIRAT | SRomef YHedie @rar &1 \Fl H a9/ SR | 99 wefadl gaH
i@l W Eif 8 @1 qen # Sfae far Siar @ don ol @ < ¥ 39 wfee feur sar €1 59 @) @1 9w
FHd A AEr B B TRRiT wxar €] G 9 # uum 9nT @ A g1 1 g WEeR J OQRE
forer arqura # dfe fear oar € 9 swe uvEr g A | |l WERRl & §oh @l § v am e
s # faudi ufafe o § ol €
YA e W o™ &t Rerfa #
1. Memorandum Revaluation A/c Dr.
To Old Partner’s Capital A/c
(Profit on revaluation transferred to old partner’s capital A/c)
2. All Partner’s Capital A/c Dr.
To Memorandum Revaluation A/c
(Memorandum Revaluation Account closed by transferring to capital A/c’s in NPSR)
o9 =T § IWIdd o ufafteal & e W feifed v ufafie o & o w@od & —
3. All Partner’s Capital A/c Dr.
To Old Partners Capital A/c
(Adjustment of revaluation made)
e — TReEieT W B B Ref § Swiad @ Rudia gRfe @ s
TEEYT 2: A 9B TP B4 H 998 Yol agurd H o dfed ¢ WEIER €| 31 A 2017 &1 ST facer g9
U®HR & (A and B are partners in a firm sharing profits in their capital ratio. Their Balance Sheet is as on
31 March,2017 is as under:)

Balance Sheet as on 31st March,2017
Liabilities Amount ¥ Assets Amount T
Capital: Building 25,000
A 30,000 Stock 12,500
B 20,000 50,000 | Debtors 7,000
Creditors 7,000 | Profit & Loss A/c 2,500
Cash Balance 10,000
57,000 57,000

1 39, 2017 B S C 1 1/5 R & fog fv ol o gawr < &1 ol feran

(i) Couar B A9 B9 SRR Ui @] 98 Yol @ ferw % 20,000 Fhg arar &1 (i) w9 & =&t &r
q&® % 15,000 wR far a7 C g1 @iy &1 B @ oidx o 2 | (i) <79 9= 10 ufiwd sad o
% foQ M 99| (iv) el &1 geies T 12,000 W a5 mar e vad & qed % 3,200 ¥ d e 9 |
(v) 99fRll 9 @l & s qod § URadd d8] & & | (Ar—8 T Bl BleH?) TR gaqeiaT
T, WERRI & Yol @ aur facer 9918 |

On 1% April,2017 they decide to admit C for 1/5" share on the following terms : (i) C will get his share
equally from A and B. He brings cash ¥ 20,000 for capital. (ii) Firm’s goodwill is valued at ¥ 15,000 and C
brings his share in cash. (iii) Make a provision for Bad debts @ 10% on debtors. (iv) Stock is to be valued ¥
12,000 and the value of building is to be increased by ¥ 3,200 (v) Book values of Assets and Liabilities are
not to be changed (Excluding Profit and Loss Account)

Prepare Memorandum Revaluation Account, Partner’s Capital Account & Balance Sheet.

Dr. Memorandum Revaluation A/c Cr.
Particulars AmountX) Particulars Amount(3)
To P.B.D. By Building A/c 3,200
To Stock Alc 700
To Profit 500
2,000 3,200
To A’s Capital A/c 3,200 | By A’s Capital A/c 1000
To B’s Capital Alc 1,200 | By B’s Capital A/c 600




800 | By C’s Capital A/c 400
2,000 2,000
Dr. Partner’s Capital A/c Cr.
Particulars AR B (®) CR® Particulars AR B () CQ®
To Memorandum By Balance b/d 30,000 | 20,000 -
Revaluation 1000 600 400 | By Memorandum
Ale 1,500 [ 1,000 - | Revaluation 1,200 800 -
ToP &L 30,200 | 20,700 19,600 | By Cash A/c . - 20,000
To Balance c¢/d By Goodwill A/c 1,500 | 1,500 &
32,700 | 22,300 20,000 32,700 | 22,300 | 20,000
Balance Sheet as on 01% April, 2017
Liabilities Amount(3) Assets Amount (%)
Capital A/c Building 25,000
A 30,200 Stock 12,500
B 20700 Debtors 7,000
O 19.600 70,500 | Cash Balance 33,000
Creditors 7,000
77,500 77,500
Working Notes (Frisfier fewfnrm)
(1) Cash Balance 10,000 + 20,000 + 3,000 =%33,000
(2) | U B A4 9 9 9§ aRIeR — aRE) U cbwl
AT @M =-X-= = BI@M=-X_= —
a1 T o aijn?{ RIAT & Fc'M‘iTrFf 3TUT — R AT
ﬁ———i:i,E{:E—l i‘ EUIRCICRCEICERCSEIN BT =1 =:2=5:3:2
5 10 _ 10 5 10 10’ 10°10°5

=g Worksmen Compensation Reserve (WCR)
ga® AEior HEEiRal & wwifdd afogfd (G gdedr ) & forv wH & ol § 9 fhar S g1 59
e @aer @1 faf aRRefa fr= &1 g 21

GT:’I’EWUT:AEIBWtﬁﬁﬁﬂ@m%‘ﬁrfa:4$a§¢mﬁmﬁwaﬂﬁ%‘lﬁ1—4—waﬁcﬁwﬁﬁi
fewt @ forg gaw <a €1

Balance sheet As on 31* March, 2017
Liabilities Amount (%) Assets
Workmen Compensation Reserve 9,000

fr=ifera oia Rerfoal # wHart aftgfd dog @ 9w 3 999 R d@ied J98R 39 ISR 8l —
(i) af% 37 &g Jam 78l &

Amount (3)

Workmen Compensation Reserve A/c Dr. 9,000
To A’s Capital A/c 5,000
To B’s Capital Alc 4,000

(Being W.C.R. transfer to old Partner’s Capital A/c in their old profit sharing ratio)

e HHARY afegfd &1 rar T 2,700 €|

Workmen Compensation Reserve A/c Dr. 9,000
To Liability for worksmen compensation 2,700
To A’s Capital A/c 3,500
To B’s Capital A/c 2,800

(Being transfer the surplus of WCR to Old Partner’s Capital A/c in their old profit sharing ratio)

(ii) 9% HHaR) &fyfd &1 <rar 213,500 21




(a) Workmen Compensation Reserve A/c Dr. 9,000
Revaluation A/c Dr. 4,500

To Liability for worksmen compensation 13,500
(Being liability created & short fall charged to revaluation)

(b)  A’s Capital A/c Dr. 2,500
B’s Capital A/c Dr. 2,000
To Revaluation A/c 4,500

(Being loss on revaluation transfer to Old Partner’s Capital A/c)
(iii) afe wHar) afyfd &1 <rar 29,000 &1
Workmen Compensation Reserve A/c Dr. 9,000
To Liability for worksmen compensation A/c 9,000
(Being liability created for workmen compensation)

(iv) afe faes # wart afaufd J9u &1 9w 5 81 afd afaRad Jaar # 2 3,600 &1 gmar fdar mm 8|

(a) Revaluation A/c Dr. 3,600
To Liability for workmen compensation A/c 3,600
(Being liability created)
(b)  A’sCapital Alc Dr. 2,000
B’s Capital A/c Dr. 1,600
To Revaluation A/c 3600

(Being loss on revaluation transfer to Old Partner’s Capital A/c)
faer (fAff9T) SOR @%@ F9d Investment Fluctuation Reserve (IFR) :
39 W9g P e few @ IR e @ g8 F @ i @ wadem @ fog e o €1 sww wdfa
e FaER B fafr= aRRuf eEaR 8—
TEERY : A g B 3:2 @ gUa H o favrer cmqgqauaqu<§lﬁcﬁ1—4—17ﬁanﬁﬁ§%@a%
forg waer < €1

Balance Sheet As on 31 March, 2017
Liabilities Amount(%) Assets Amount()
Investment Fluctuation Reserve 5,000 | Investment 25,000
Uig uRRfr # IR SR derd 9ad & W ¥ Yd¥ WX fhd ofe drell uidite /gfafied A= gaR
g‘pﬁ_
(i) afe s @I gamm =&l &
Investment Fluctuation Reserve A/c Dr. 5,000
To A’s Capital A/c 3,000
To B’s Capital Alc 2,000
(Being IFR transfer to old Partner’s Capital A/c in their old Ratio)
(ii) =fe fafsgeT &1 IR gea T 25,000 € |
(Same solution as given in Case (i))
(iii)afe fAf=RT &1 IR 7169 T 22,000 |

Investment Fluctuation Reserve A/c Dr. 5,000

To Investment A/c 3,000
To A’s Capital Afc 1,200
To B’s Capital A/c 800

(Being excess IFR transfer the surplus of WCR to Old Partner’s Capital A/c)
(iv)afe faf =T &1 IR Jo9 T 30,000 £ |
(a) Investment Fluctuation Reserve A/c Dr. 5.000




To A’s Capital A/c 3,000

To B’s Capital Af/c 2,000
(Being IFR transfer to old Partner’s Capital A/c in their old Ratio)
(b) Investment A/c Dr. 5,000
To Revaluation A/c 5,000
(Being value of Investment brought upto market value)
(¢) Revaluation A/c Dr. 5,000
To A’s Capital Alc 3,000
To B’s Capital Alc 2.000

(Being Profit on Revaluation transferred to Old Partner’s Capital A/c)
(v) afe fafset &1 99iR Hqou € 18,000 € |
(a) Investment Fluctuation Reserve A/c Dr. 5,000

Revaluation A/c Dr. 2,000
To Investment A/c 7.000
(Being IFR transfer to old Partner’s Capital A/c in their old Ratio)
(b) A’s Capital A/c Dr. 1,200
B’s Capital Alc Dr. 800
To Revaluation A/c 2000

(Being loss on revaluation transfer to Old Partner’s Capital A/c)
TETERVT 3. VYT 3R G WRIER 2 N b i @ wHer 5 0 3 & Ui d gied € | S Rerfay fagwor f=

7&R 2 (Ramesh and Suresh are partners sharing profits in ratio of 5 : 3 respectively. Their Balance Sheet

is as follows :) Balance Sheet
Liabilities Amount T Assets Amount I

Creditors 28,000 | Cash 8,000

General Reserve 4,000 | Debtors 40,000
Munesh’s Loan 30,000 | Less Provision 1,600 38,400
Capital: Stock 56,000
Ramesh 50,000 | Investments 8,000
Suresh 40,000 | P & L Alc 16,000
Plant 25,600
1,52,000 1,52,000

g9 = 91l IR ETSER] H gAY Rl ®

(i) =741 o feRITST= 3IguTd $HEn 3 @ 3 ¢ 2 BT (ii) e & 0T DI IHP! Joil |71 SR (i) BH o @t
@ Jeaie T 24,000 A TaT| grer 9T B Fave orar 21 (iv) e @ik grer 3 RfERT euw e e
arure H o ford | (v) REfd &1 Hed ¥ 50,000 a6 &9 B feur @e | (vi) | ol &1 grae dFeRl R 5
yfcrerd @ & ¥ & f&ar Smel (vid) 9RE % 10,000 FdHE ARRT | (viid) 3ITd e % 800 (ix) @fd sgawrg #
T YT | SR @ forg Sieer ufafteat T |

Munesh is admitted into partnership on the following terms : (i) The new profit sharing ratio will be 3:3:2
respectively. (ii) Munesh’s loan should be treated as his capital. (iii) Goodwill of the firm is valued at
T 24,000 and he brings his share in cash. (iv) Investments were to be taken over by Ramesh and Suresh in
their profit sharing ratio. (v) Stock be reduced upto ¥ 50,000 (vi) Provision for Doubtful debts should be @
5% on debtors. (vii) Suresh is to bring ¥ 10,000 (viii) Accrued Income ¥ 800 (ix) Goodwill retained in the
business. Give Journal entries to record the above.

o : Dr. Journal Cr.
Date Particulars L.F. | Amount Dr. () | Amount Cr.(3)
1-4-17 | Munesh’s Loan A/c Dr. 30,000
To Munesh’s Capital A/c 30,000
(Being Munesh’s Loan A/c is transferred




to his capital A/c)
Cash Alc Dr. 6,000
To Goodwill A/c 6,000
(Being cash brought in for goodwill)
Goodwill A/c Dr. 6,000
To Ramesh’s Capital A/c 6,000
(Being goodwill credited to Ramesh A/c)
General Reserve A/c Dr. 4,000
To Ramesh’s Capital A/c 2,500
To Suresh’s Capital A/c 1,500
(Being General Reserve distributed
between old partner’s in their OPSR)

Ramesh’s Capital A/c Dr. 10,000
Suresh’s Capital A/c Dr. 6,000
ToP &L Alc 16,000

(Being P & L A/c transferred to Old
partner’s capital A/c)
Ramesh’s Capital A/c Dr. 5000
Suresh ‘s Capital A/c Dr. 3000
To Investments 8000
(Being investments take over by Partners)
Revaluation A/c Dr. 6,400
To Stock A/c 6,000
To P.B.D. Alc 400
(Being decreasing value of stock & increased in PBD)
Accrued Income A/c Dr. 800
To Revaluation A/c 800
(Being Accrued income transfer to
Revaluation A/c)

Ramesh’s Capital A/c Dr. 3,500
Suresh’s Capital A/c Dr. 2,100
To Revaluation A/c 5,600

(Being Loss on revaluation transferred
to Old partner’s Capital A/c)
Cash A/c Dr. 10,000
To Suresh’s Capital A/c 10,000
(Being Cash brought in by Suresh)
IaTER1 4. P T Q WISER ¥ S {6 @Ml $7 7 : 5 @ U # A RIS FRA A | 31 AE, 2017 B DT
Rerfer fdawor 71 21 (P and Q were partners in a firm sharing profits in the ratio of 7 : 5. Their Balance
Sheet as on 31.3.2017 was as follows :)

Balance Sheet

Liabilities Amount 3 Assets Amount 3
Bank Overdraft 70,000 | Cash 18,000
Creditors 40,000 | Debtors 1.00,000
Provision For Bad Debts 2,000 | Bills Receivable 38,000
General Reserve 48,000 | Stock 44,000
S’s Loan 80,000 [ Building 2,00,000
Capitals : Land 60,000

P 1,20,000




Q

1,00,000

4,60,000

4,60,000

1 3, 2017 @1 S S @ 71 2ral IR 4 WISeR © w9 A e fBar] (1) v @ BH @ Al § 1/4 9T
e S | (i) T & O @ Bl IHST Yol @I A7 fordm SR | (i) BH @1 =i #7 gedidd 96,000
forar ar qon U9 U R @ wifd Ade ARATT (iv) eFeRT 9R 5 HRAerd @ §% W ST T AT
IR SIRATT | (v) ¥efd 10 wfrerd & sifergeaifea 21 (vi) I & 5og @1 10 afderd & s SRy (vii) a9 &

T § 125 ufcerd & gfg B | g @TdT, ARERT & Joll @i gd T4 BH @1 fUeer dar sifug |

On 1-4-2017 they admitted S as a new partner on the following conditions : (i) S will get 1/4" share in the
profits of the firm. (ii) S’s Loan will be converted into his capital. (iii) The goodwill of the firm was valued
at ¥ 96,000 and S brought his share of goodwill (premium) in cash. (iv) Provision for bad debts was made
equal to 5% on Debtors. (v) Stock was overvalued by 10% (vi) Land was to be appreciated by 10%
(vii) Building was to be appreciated by 12.5%. Prepare Revaluation Account, Capital Accounts of P, Q & S

and the Balance Sheet of the new firm as on 1-4-2017.

g Revaluation A/c
Particulars Amount ¥ Particulars Amount T
To P.B.D. Alc 3,000 | By Land A/c 6,000
To Stock 4,000 | By Building A/c 25,000
To profits transfer to Capital A/c: 24,000
P 14,000
Q 10,000
31,000 31,000
Dr. Partner’s Capital A/c Cr.
Particulars P () QR SR®) Particulars PR 0 XE9) SR
To Balance ¢/d | 1,76,000 | 1,40,000 | 80,000 | By Balance b/d 1,20,000 | 1,00,000 .
By S’S Loan A/c = - 80,000
By General Res. 28,000 | 20,000 -
By Revaluation 14,000 (10,000 B
By Goodwill 14,000 | 10,000 -
1,76,000 | 1,40,000 | 80,000 1,76,000 | 1,40,000 | 80,000
Balance Sheet of the new firm
As on 1 April, 2017
Liabilities Amount Assets Amount?
Bank Overdraft 70,000 | Cash 42,000
Creditors 40,000 | Debtors 1,00,000
Provision For Bad Debts 5,000 | Bills Receivables 38,000
Capital Afc Stock 40,000
P 1,76,000 Building 2,25,000
Q 1.,40,000 Land 66,000
S 80,000 3.96,000
5,11,000 5,11,000

FrEe fewrfi: (1) Ims IW 18,000+24,000=42,000 (2) ¥e7 # GRI=T o o Igura @ QW SguTd

THE BRI |

e 5. X TN Y UF BH N WISER © R @R B 3 : 2 & Ui # dfcd 81 9 Z BT |RER b o9 H
afafora wva € 3R I A T SUTd 5 3 1 2 9F FRA B Z D HAYW W gl Sl Refy faarer gw

56




UHR & (X and Y are partners in a firm sharing profits in the ratio 3 : 2 They admit Z as a partner and
decide the new profit sharing ration as 5 : 3 : 2 Their Balance Sheet is as under before admission of Z:)

Balance Sheet
Liabilities Amount¥ Assets Amount?
Creditors 33,000 | Bank 4,000
General Reserve 10,000 | Debtors 32,000
Capital Accounts: Less:Provision For D.D. (1.000) 31,000
X 60,000 Stock 32,000
Y 40.000 1,00,000 | Furniture 20,000
Plant & Machinery 56,000
1,43,000 1,43,000

AT TS 39 o ot ¢ (i) Se 31U Uoll @ U # T 40,000 G| (i) S @I &7 el R Aag
o F o €, o us Frofa fear 5 w=fa @ o o # ofe @ R ok W § s g1 @g S oh
P AR W B WY (iii) wie Ter 7 F geaied 2 60,000 R Wid FT T 35,000 fHar mar € uig
Jferer o @ o weuE S9eR! @ 5 UfAwd WR RET WY 3R WEeR # 10 Wfde &1 B fRar §e | (iv)
% 1,400 &1 gmaT fHRmrm o # w78l form a1 on | Yeaiad @, WeeR @ Gof @ vd T4 o &1 Refa
faraRor S8 |

Other terms agreed were: (i) Z will bring 40,000 as his capital. (ii) Z is unable to bring his share of
goodwill in cash, it is therefore, decided to compute goodwill on the basis of Z’s share in profit and capital
contributed by him in the firm. (iii) Plant and machinery is valued at ¥ 60,000 and stock at ¥35,000
however, provision for doubtful debt be maintained at 5% on debtors and furniture be depreciated by 10%.
(iv) Rent outstanding ¥ 1,400 remained unrecorded. Prepare Revaluation Account, Partners’ Capital
Accounts and the Balance Sheet of the new firm.

e
Dr. Revaluation A/c Cr.
Particulars Amount (%) Particulars Amount(3)
To P.B.D 600 [ By Plant & Machine A/c 4,000
To Outstanding Rent 1,400 | By Stock A/c 3,000
To Furniture 2,000
To Profit Transfer to
Capital A/c
X 1,800
Y 1,200 3,000
7,000 7,000
Dr. Partner’s Capital A/c Cr.
Particulars X® Y(® ZR®) Particulars XQ® Y (®) ZR®
To Balance ¢/d | 72,500 [ 49,900 40,000 | By Balance b/d 60,000 | 40,000 -
By Cash A/c - - | 40,000
By General Reserve 6,000 | 4,000 -
By Revaluation Alc 1,800 | 1,200 -
By Z’S Current Alc 4,700 4,700 -
72,500 | 49,900 | 40,000 72,500 | 49,900 | 40,000
Balance Sheet of the new firm
Liabilities Amount(?) Assets Amount(3)
Creditors 33,000 | Bank 4,000
Capital A/c Cash 40,000
X 72,500 Debtors 32,000
Y 49,900 Less - Provision 1600 30,400




Z 40,000 1,62,400 | Stock 35,000
QOut standing Rent 1,400 | Furniture 18,000
Plant & Machine 60,000

Z’S Current A/c 9,400

1,96,800 1,96,800

PRI feweft : (1) ET Sgurd @I T —

NaIEl| 31'\1}“(1 = UXTHAT <™ |a‘% G| 31-IEHE — 47 ™ EMFGI‘ 3 [q d
3 5 5 2 3 5
N GO S P —— = — 5501'11
5 10 50 5 10 50

(2) (fdy oY wTorT (fodt g ) Z @ - Ry @ o o 240,000

X a Y & gardfd 4ot X : 60,000 + 6,000 + 1,800 = 67,800;Y : 40,000 + 4,000 + 1,200 =T 45000

Z & Uoll= % 40,000; BH &1 @1fd=200000—67800—45200—40000= % 47,000; Z &1 fREHT 47,000 x%: 9,400

Z Ifd &1 R Tdha @) T8l A1 Nl £ | I FHRIH Z & Al @ & AgH 9 T B |
QEERYl 6. A IUT B HHM WEER €1 1 SHa9), 2017 B e Refd fdaror der odi & SR w98 C &
wrerery # @nfiel #-d & (A and B are partners. On 1% Jan,2017 they decide to admit C into partnership on
the basis of the following Balance Sheet.)

Balance Sheet

Liabilities Amount? Assets Amount

Creditors 6,000 | Cash at Bank 12,000
Outstanding Expenses 2,000 | Debtors 16,000
Employee’s Provident Fund 3.000 | Stock 22,000
Workmen’s Compensation Fund 4,000 | Fixed Assets 43,000
Capital Alc A 50,000 Profit & Loss Alc 2,000

B 30.000 80,000
95,000 95,000

feforfaa ardl w weafd 8kl & ¢ () T o™ faws sigurd 2 ¢ 1 0 1 8 @ C % 20,000 ol & ferd
IR | (i) %) il &1 ge % 12,000 | ggrar SRAT | (i) T 2,000 sra—=on & sraforRad fd S |
(iv) I9eRl IR ®erdt & Ry 2 ufdera &Y g% W SRS g9 ST | (v) e @t @f 21,800 6 HH Bl
21 (vi) Rl &y &9 & <1fia &1 A % 1,000 €1 (vil) e difds<T ®ve &I T 500 9 9grT
SRET | (vili) C o oy @ w@fa e @ # owed €1 w=fa &1 geuied X 8,000 fhar wav)
(ix) e &1 qeaie T 24,180 R fHar 71| |Eer & Yo @ aur 71 Reft fJavor a9rg7 |

The following terms were agreed upon: (i) New profit sharing ratio should be 2 : 1 : I respectively and C
brought in ¥ 20,000 as capital. (ii) Fixed Assets is to be appreciated by ¥ 12,000. (iii) Bad debts amounting
to T 2,000 to be written off. (iv) A Provision of 2% was to be made for discount on creditors. (v)
Outstanding expenses be brought down to ¥ 1,800. (vi) The liability on Workman’s compensation fund is
determined at ¥ 1,000. (vii) Employee’s provident fund be raised by ¥ 500. (viii) C is unable to bring
goodwill in cash. Goodwill valued at ¥ 8,000. (ix) Stock is valued at ¥24,180. Prepare Partner’s Capital
Accounts and Balance Sheet of the new firm.

gal: Dr. Revaluation Account Cr.
Particulars Amount(3) Particulars Amount(3)
To Debtors A/c 2,000 | By Fixed Assets A/c 12,000
To Employee’s Provident fund A/c 500 | By Reserve for discount on
Creditors 120

To Profit transferred to: By Outstanding Exp. 200
A’s Capital A/c 6,000 By Stock 2,180
B’s Capital A/c 6,000 12,000

14,500 14,500




Dr. Partner’s Capital A/c Cr.

Particulars AR B ®) CQ® Particulars AR B (®) CQ®
ToP&L 1,000 1,000 -- | By Balance b/d 50,000 | 30,000 -
To Balance ¢/d 56,500 | 38,500 | 20,000 | By Cash A/c -- -- [ 20,000

By C’s Current A/c - [ 2,000 -

By WCR 1,500 | 1,500 -

By Revaluation 6,000 | 6,000 -

57,500 | 39,500 | 20,000 57.500 | 39,500 | 20,000

Balance Sheet of the new firm as on 01* January 2017
Liabilities Amount(3) Assets Amount(3)
Creditors 6,000 Cash at Bank 12,000
(-) Reserve for Discount 120 5,880 | Cash in Hand 20,000
Outstanding Exp. 1,800 | Debtors 14,000
workmen Compensation Liabilities 1,000 | Stock 24,180
Employee’s Provident Fund 3,500 | Fixed Assets 55,000
Capital A/c C’s current A/c 2,000
A 56500, B 38500, C 20,000 1,15,000
1,27,180 1,27,180
e feaof :
(1) IR 3UTd = QAT i faroie igura—=11 o fawmers srgurd Sacrificing Ratio = OPSR — NPSR
A =—Z=Nil ;B=s—==-

[

(2) F¥EN afogfd daa 4 9 H*dl-tld4ETfﬁEl ®I "eThY WY AR Bl R AEERI H SF6 RE A9
favrer srgura # afer )
(3) Cash Balance: 20,000
SETERY 7. P 1 Q WIEIGR 2 SR &M P 3 : 1 & U ¥ dfed 81 31 Hrd, 2017 D1 S Rafay faawer g9
yR o (P and Q were partners sharing profits in the ratio 3 : 1. Their Balance Sheet is as follows on 31*
March, 2017 was as follows :)
Balance Sheet

Liabilities Amount? Assets Amount?

Creditors 40,000 | Bank 7,000
Bills Payable 15,000 | Debtors 30,000

Capital Less:Provision _1.000 29,000

| 85.000 Stock 40,000

Q 40,000 1,25,000 | Fixed Assets 86,000

Goodwill 8,000

Profit & Loss A/c 10,000

1,80,000 1,80,000

IY fafr &1 R @7 WeeR & w9 # affafera fFar mar & iR 7ar v favmor oo 5 ¢ 3 ¢ 2 ¥
fga & 7€ ey ot off : (i) SERT W dfey wol & forg 5 mfterd @ e ¥ eiR <ERi R 8 & fow 2
UfIeTd &1 Waens ST | (if) Tl wwafeaal &1 g 2 80,000 70 fhar| (iii) oeri # fUsd 4 auf ¥ s
B <7 % 2,500 @1 IR wnfie B R At @ smem g € (iv) oFeRl W) 2 ufied @ ) W Be @
AT QUferd €1 (v) B #1 @ &7 geaide € 20,000 far mar € (vi) R 9ot & w9 # 2 30,000 37 w4
@A Adhe AN iR P dem Q &1 ol @& 99 R @1 ol & MR WR e Seam | Yol &1 |are
qHe B AR YR AT ST | YT @rdl, AreEr & Yol G iR 98 w9 o1 Refd favor g1y |




R is admitted as a partner on that date and new profit sharing ratio was agreed as 5:3:2. Other terms
agreed were:(i) Create provision for doubtful debts on debtors @5% and 2% provision for discount on debtors.
(ii) Fixed Assets were valued at ¥ 80,000. (iii) Creditors includes sum due to Ajay T 2,500 for the last 4 years
who is not likely to claim. (iv) A provision for discount is required@ 2% on creditors.(v) Goodwill of the firm is
valued at 320,000. (vi) R will pay ¥ 30,000 as capital and will bring his share of goodwill in cash and capital of
P and Q be adjusted on the basis of R’s capital. Adjustments in capital be made on cash basis. Prepare
Revaluation Account, Partner’s Capital Accounts and Balance Sheet of new firm.

B
Dr. Revaluation A/c Cr.
Particulars Amount(3) Particulars Amount(?)
To P.B.D. A/c 500 | By Creditors A/c 2,500
To P.D.D Alc 570 | By Reserve for discount on
To Fixed Assets Alc 6,000 | Creditors A/c 750
By Loss transfer to caprital A/c
P 2.865
Q 955 3,820
7,070 7,070
Dr. Partner’s Capital A/c Cr.
Particulars PR QR R®) Particulars P®) QR RR®)
To P’s Capital - 1,000 - By Balance b/d 85,000 | 40,000 -
To P&L 7,500 | 2,500 - By Cash A/c - - 30,000
To Revaluation 2,865 055 - By Goodwill A/c 4,000 - -
To Goodwill 6,000 | 2,000 - By Q’s Capital 1,000 - -
To Balance ¢/d 75,000 [ 45,000 [ 30,000 | By Cash A/c =
(Balancing figure) | 1,365 | 11.455 -
91,365 | 51455 | 30,000 91,365 | 51,455 | 30,000
Balance Sheet of the new firm
Liabilities Amount(%) Assets Amount(3)
Creditors Bank 7,000
40,000 — 2,500 — 750 36,750 | Cash 46,820
Bills payable 15,000 | Debtors 30,000
Capital A/c Less P.B.D. 1,500
X 75,000 Less P.D.D. 570 27,930
Y 45,000 Stock 40,000
Z 30,000 1,50,000 | Fixed assets 80,000
2,01,750 2,01,750
e fewl : (1) IFs I 30,00044000+1,365+11,455 = 746,820;
) 5 h 3 | ] 1
(2) OPSR —NPSR = SR/GR: P : e =2 E(SR)Q b e = (_)E(GR)

(3) B9 @ ifa § R &7 &% ¢ 20,000 x

10

= 4,000 IE P &1 &1 WIRAT |

20,000x1—10=1,000Qaﬂ@rm1 Dr. 877 | @ife a8 Gain &Y YT € |

gerevor 8. A 9 B 9RO, ol @7 5

March, 2017 was as follows:)

3 @ 3gura H dfed 9| 31 HE, 2017 B ST Reyfd favor 9
UaR o7 (A and B were partnership sharing profits in proportion of 5 : 3. Their Balance Sheet on 31"




Balance Sheet

Liabilities Amount Assets Amount ¥
Creditors 24,000 | Bank 4,000
Bills Payable 10,500 | Debtors 25,000
General Reserve 12,000 | Stock 45,000
Capitals Investment 10,500
A 75,000 Machinery 30,000
B 50.000 1,25,000 | Building 60,000
Current Accounts: Goodwill 20,000
A 15,000
B 8,000
1,94,500 1,94,500

7 fr=foRaa el ©R C &1 |fFfera a)d 2 : (i) SIsieR! &1 =37 & f3Ter orurd 4 @ 2 : 1 &R | C
3o o @ % 30,000 AQT| (i) C B @) wnfa # e B @ avrer iR Awe < @ a1 qeaied Ta
A g9t @ affaa @l @1 SR fHar ST S wEen ¥ 25,000 % 36,000 3R 44,000 o | (i) €I HOY
B BT 20% wfe F=oi & forv wrau™ & w6 § R (iv) Tid & 99 T 5,000 1f¥s avmar w1 (v)
It @ R @7 50 Al R ArEeR! | Mare foran £ I(vi) dHieE & w9 7 ? 1,000 e, o o faan
SIY | (vii) U wmed (unforeseen) TR & forw ¥ 1,500 @1 wrawm= fobar <mq | (viii) Faer, RHer s
Hou Reyfar faaror &1 Y &1 2 8,000 F | Ycaiaa @ dsh w@rd ok wenfea Reifr faavor gamgy |

They admit C on the following terms: (i) New profit sharing ratio of partners willbe 4 : 2 : 1. C will
bring in ¥ 30,000 as his capital. (ii) C is to pay in cash an amount equal to his share in firm’s
goodwill,valued at twice the average profit of the last three years which were ¥ 25,000, ¥ 36,000 and
% 44,000 respectively. (iii) 20% of the general reserve is to remain as provision for doubtful debts.
(iv) Value of stock is found over valued by ¥ 5,000. (v) 50% of the amount of goodwill is withdrawn by old
partners. (vi) That ¥ 1,000 is to be received as commission, hence, to be accounted for. (vii) That ¥ 1,500 be
provided for an unforeseen liability. (viii) Investments, the market value of which at the date of the balance
sheet is ¥ 3.000. Prepare Revaluation Account, Capital Accounts and amended Balance Sheet.

ga: Dr. Revaluation A/c Cr.
Particulars Amount (%) Particulars Amount (%)
To Stock Alc 5,000 [ By Accrued Commission 1,000
To Provision for By Loss transfer to current A/c 8,000
Unforseen Liability 1,500 A 5,000
To Investments 2,500 B 3,000
9,000 9,000
Dr. Partner’s Capital A/c Cr.
Particulars A B C Particulars A B C
) R) R®) (K9] Q) )
To Balance c/d 75,000 | 50,000 | 30,000 | By Balance b/d 75000 [ 50000 -
By Cash A/c - - | 30000
75,000 | 50,000 | 30,000 75,000 | 50,000 | 30,000
Dr. Partner’s Current A/c Cr.
Particulars AR B®) Particulars AR B ()
To Goodwill 12,500 7,500 | By Balance b/d 15,000 8,000
To Revaluation 5,000 3,000 | By Goodwill A/c 3,750 6,250
To Cash 1,875 3,125 | By General Reserve 6.000 3,600
To Balance c/d 5,375 4,225
24,750 | 17,850 24,750 17,850




Balance sheet as on.........

Liabilities Amount(3) Assets Amount(%)
Creditors 24,000 | Cash 35,000
Bills payable 10,500 | Bank 4,000
Provision for Debtors 25,000
Un forseen Liability 1,500 | Less = Provision 2400 22,600
Capital A/c Stock 40,000
A 75,000 Investments 8,000
B 50,000 Machinery 30,000
C 30.000 1,55,000 | Building 60,000
Current A/c Accrued Commission 1,000
A 5375
B 4225 9,600
2,00,600 2,00,600

e fewol : (1) IFs T 30,0004+10,000-5,000 = % 35,000 (2) 9= dag § 3 12,000 X 20% =3
2,400 ¥fere il & oy RIS a4ram 31 § 9 9 AR R AEER § S R o e siqurd H
foaRa @ 7 §

General Reserve A/c Dr. 12,000
To P.B.D 2,400
To A’s Current A/c 6,000
To B’s Current A/c 3.600
(3) ST FUT BT TUMT : GIAT ¥ AW T — a1 o™ [dWTer SruTd
5 4 3 3 2 5
A:§_§=ﬁ;g:§_?=§: F:h

TEER 9. A T B S fF @Ml BT 2 0 1 & U H dfcd & @ Refd faawor 999 8 (The following is the
Balance Sheet of A and B who share profits in the ratio of 2 : 1)

Balance Sheet
Liabilities Amount® Assets Amountt
Bank Overdraft 12,000 [ Sundry Debtors 37,000
Reserve Fund 12,000 | Stock 20,000
Investment Fluctuation Fund 3,000 | Investment 33,000
Sundry Creditors 20,000 | Building 25,000
Capitals Patents 2,000
A 40,000
B 30,000
1,17,000 1,17,000

g8 C @l |rerer) d e &3d €1 797 o fArsi orgurd 3 : 2 - 1 g e Sl @& g C
aruTfere Yol @1 R e | (i) C &ue B &1 @i % 10,000 6 a1 (ii) 6 X 500 &7 deR R
T SE @B W agd FEl g (i) B @ 9 2,600 &I BT U QR HRIEX © o ol GIId! H el
fegmar gar | S9HT gEIH H @ fhar S| (iv) 0de geuda € I(v) dFeRi W2 i el ura erfl |
(vi) fafFamTi &1 g ¥ 28,000 R f5ar 11 € | YAHedie T @il AeeRl @ Yol @ Ud T BH $1 R
TR B |

They admitted C into partnership on this date. New profit sharing ratio is agreed as 3 : 2 : 1. C
brings proportionate capital after the following adjustments: (i) C brings ¥ 10,000 in cash as his share of
Goodwill. (ii) One Debtor for ¥ 500 is dead. Nothing will be recovered from him. (iii) There is an old
Computer valued % 2,600. It does not appear in the books of the firm. It is now to be recorded. (iv) Patents
are valueless. (v) 2% discount is to be received from creditors. (vi) Investment valued at ¥ 28,000. Prepare
Revaluation A/c, Partner’s Capital A/c and the opening Balance Sheet.




ge: Dr. Revaluation A/c Cr.

Particulars Amount (3) Particulars Amount(3)
To Debtors 500 | By Computer 2,600
To Patent 2.000 [ By Reserve for discount On creditors 400
To Investment 2.000 | By Loss transfer to capital a /c’s 1.500
’ A 1000 ’
B 500
4,500 4,500
Dr. Partner’s Capital A/c Cr.
Particulars AR B®) CQ® Particulars AQ®) B R®) CR®
To Revaluation 1,000 500 - By Balance b/d 40,000 | 30,000 -
To Balance c/d 57,000 | 33,500 | 18,100 [ By Cash A/c - - 18,100
By Goodwill A/c 10,000 - -
By Reserve Fund 8,000 4,000 -
58,000 | 34,000 | 18,100 58,000 | 34,000 | 18,100
Balance Sheet of the new firm
Liabilities Amount(3) Assets Amount(3)
Bank overdraft 12,000 | Debtors 36,500
Sundry Creditors 20,000 Stock 20,000
Less — Provision 400 19,600 | Investments 28,000
Capital A/c Building 25,000
A 57000 Cash (18,100 + 10,000) 28,100
B 33500 Computer 2,600
& 18100 1,08,600
1,40,200 1,40,200
PRI fewfri @ (1) T Sud &1 TOFET : QRET A 39T STgaTd — 31 o faTer surd
A:%—S:%; B:%—%:NiI;Note:ﬂT{[’fﬂTﬂTAaﬁTﬂ

(2) TN &1 TuRieE A9 B @) gel warEafn $olt 57,0004+33,500 = 290,500 ¢ @1 @i § %’R‘H%; a Ad
B 1 el 1— = =2 ,C a1 ol =90,500 x £x 1 = 18,100

FrERv 10. wiefl, fawe] qer <1 U BH H A[IEER O TUT 3 0 2 0 1 D U H oW dfed o1 1 32017 B
Sq@ Rerfa fagwor 951 ueR 9 o1 «( Sakshi,Sindhu and Deepa were partners in a firm sharing profits in
the ratioof 3:2:1.0n 1% April, 2017 their Balance Sheet was as follows :)

Balance Sheet

Liabilities Amount? Assets AmountZ

Capitals Land & Building 3,64,000
Sakshi 3,58,000 Plant & Machinery 2,95,000
Sindhu 3,00,000 Furniture 2,33,000
Deepa 2,62,000 9,20,000 | Bills Receivable 38,000
General Reserve 48,000 | Sundry Debtors 90,000
Creditors 1,60,000 | Stock 1,11,000
Bills Payable 90,000 | Bank 87,000
12,18,000 12,18,000

S [y & /9 w@l R AT @ Us T 9RER §9RT T oc (i) 98 3 Yol & forg 2
1,00,000 RAY @ & H Sdr 9T 1/10 B8R (i) 98 w@fa (hfHes) & e Wi & fofv emagad iy
AT | B9 @ @I 1 geaied % 3,00,000 fBar mam) (i) 9T W AN Y g fa@l & forg 118,000 @



U SIar g7 SEH | (iv) Wi T $HeR & o8 Bl 20% ¥ g/l S| (v) g @ 999 & g0 @l
10% & FerT WG| (vi) 9ERR 9= d9g @ Il IR e o €1 (vi) 9eeRl @ gl @rdr @
FARISH AR @) IOl & MR R S99 @ [T orqura # =re], @ daR [ S | reie
G AEER & Yol @i g 941 BH &1 fRIger darR @A On the above date Saniya was admitted on the
following terms: (i) She will bring ¥ 1,00,000 for her capital and will get 1/10" share in the profits. (ii) She
will bring necessary cash for her share of goodwill (Premium).The goodwill of the film was valued at ¥
3,00,000 (iii) A liability of 18,000 will be created against bills receivables discounted. (iv) The value of
stock and furniture will be reduced by 20% (v) The value of land and building will be increased by 10%
(vi) Half of the amount of General Reserve is withdrawn by the partners. (vii) Capital accounts of the
partners will be adjusted on the basis of Saniya’s capital in their profit sharing ratio by opening current
accounts. Prepare Revaluation Account and Partner’s Capital Account and Balance sheet of the new firm.

ot Dr. Revaluation A/c Cr.
Particulars Amount®) Particulars Amount(3)
To Liability For Bills 18,000 | By Land & Building A/c 36,400
discounted 46,600 | By Loss transfer to Capital A/c 50,400
To Furniture A/c 22,200 Sakshi 25,200
To Stock Alc Sindhu 16,800
Deepa 8.400
86,800 86,800
Dr. Partner’s Capital A/c Cr.
Particulars Sakshi | Sindhu Deepa Saniya Particulars Sakshi Sindhu Deepa Saniya
) ) ) ) ) ) ) )
To Revaluation 25,200 16,800 8,400 - By Balance b/d 3,58,000 3.00,000 | 2,62,000
To Cash Alc 12,000 | 8,000 4,000 : By Cash Afc = 5 . 1,00,000
To Current A/c - 1,200 | 1,12,600 - By Goodwill Alc 15,000 10,000 5,000
(Balancing By General Reserve 24,000 16,000 8,000
figure) 450000 | 300000 | 1.50,000 | 1.00.000 | By Current A/c 90,200
To Balance c/d (Balanceing figure)
487200 | 326000 | 2.75,000 | 1,00,000 4,87,200 | 3,26,000 | 2,75,000 [ 1,00,000
Balance Sheet of the new firm as on 1* April 2017
Liabilities Amount(?) Assets Amount®)
Capital Alc Land & Building 4,00,400
Sakshi  4,50,000 Plant & Machine 2,95,000
Sindhu 3,00,000 Furniture 1,86.400
Deepa 1,50,000 Bills Receivable 38,000
Saniya 1,00,000 10,00,000 | Sundry Debtors 90,000
Creditors 1,60,000 | Stock 88,800
Bills payable 90,000 | Bank 87,000
Liability For Bills discounted 18,000 | Cash 1,06,000
Current A/c Sakshi’s Current Afc 90,200
Sindhu 1,200
Deepa 1,12,600 1,13,800
13,81,800 13,81,800
- 1 9
Hrfer femfort : (1) am @my T ogard « 99 i =1 — = —
W=ixz:£ ﬁg:i E-—-l_g <ar = ixl:i
10 6 60 7 18 60 10° 6 60
ERINCIERCEINE R TIN I 5-5-5—5_27 18 9:6 or 9:6:3:2

(2) = % AT & g Yot 2 1,00,000: 37t WA @) et Got == 10,00,000



@l 10,00,000 X % =7 4,50,000 , R 10,00,000 X % =2 3,00,000, $a1 10,00,000 X % =2 1,50,000 ,
| =7 1,00,000 ; (3) Vs 29 1,00,000 + 30,000 — 24,000 = 1,06,000

SETERY 11, GUR UG TR 5 3 B AU H o dfed gY U WH W AREER | 31 (IR, 2016 B ITHT
freer fo usR o1 (Surendra and Mahendra are partners in a firm sharing profits in the ratio of 5 : 3 Their
Balance Sheet on 31" December, 2016 was as follows:)

Liabilities Amount ¥ Assets Amount %
Creditors 22,000 | Cash 9,000
Provision For Doubtful Debts 1,000 | Debtors 12,000
Bills Payable 18,000 | Stock 25,000
Investment Fluctuation Reserve 2,000 | Investment 10.000
General Reserve 16,000 | Land & Building 55,000
Capitals Goodwill 8,000
Surendra 35,000
Mahendra 25.000 60,000
1,19,000 1,19,000

1 S9E9), 2017 1 G P AREAR a941 77| 98 ol & ®9 H 20,000 AAT| A7 AR 3 : 3 : 2
BN | AU WRIGR @ 949 R 7= Foig ol 1 (i) 9 @1 =ifa § sigR & 2w 3 10,000 T3 far |
I8 =i @1 IR e o | (i) gy o Wl fAffEnT € 8,000 W o ford | (jii) SRR W g9 Y9 W T
% ford Mo 2 2,000 &1 S9R SR | ¥ @2 9as &1 Jedie T 85,000 WR faar Sy | (iv) Cid &1 Jedie-
Z 20,000 W faar am €1 (v) oFeR 9 T 4,000 & Q9 & Big fear| (vi) 991 GrEieRi @1 qoll &1 gqrre=
Ty v faTST SrgaTd # e A AT ST | gaHedisT @i, ArEerR & oh wrd aon fRiger a9 sy |

On 1% January, 2017 Ankur was admitted as partner,He brought ¥ 20,000 as capital. New Ratio will
be 3 : 3 : 2. On admission new partner, following decisions were taken: (i) Ankur’s share in firm’s
goodwill was decided as ¥ 10,000. He brought amount of goodwill in cash. (ii) Surendra took all
investments in ¥ 8,000 (iii) A provision for Bad & Doubtful debts of ¥ 2,000 is to be made on Debtors and
Land & Building is to be valued at ¥ 85,000 (iv) Stock is valued at ¥ 20,000 (v) Creditors have given up
claim of ¥ 4,000 (vi) Adjustment of all partners’ capital is to be done out of cash in new profit sharing ratio.
Prepare Revaluation Account and Capital Account & Balance Sheet of the new firm.

8ol Dr. Revaluation A/c Cr.
Particulars Amount(?) Particulars Amount(?)
To Provision for Bad Debts A/c 1,000 | By Land & Building 30,000
To Stock A/c 5,000 | By Creditors 4,000
To Profit transferred to:
Surender’s Capital A/c 17.500
Mahendra’s Capital A/c 10.500 28,000
34,000 34,000
Dr. Partner’s Capital A/c Cr.
Particulars Surendra | Mahendra | Ankur Particulars Surendra | Mahendra | Ankur
) ) () ®) ) ®)
To Investment 8,000 - - By Balance b/d 35,000 25,000 -
To Goodwill 5,000 3,000 s By Cash A/c = == 20,000
To Cash Alc 29,500 8,500 -- By Goodwill A/c 10,000 - -
(Balancing figure) By General 10,000 6,000 -
To Balance c¢/d 30,000 30,000 20,000|Reserve 17,500 10,500 =
By Revaluation A/c
72,500 41,500 20,000 72,500 41,500 20,000
Balance sheet of the new firm as on 01" January, 2017
Liabilities Amount(3) Assets Amount(%)
Creditors 18,000 | Cash 1,000




Bills Payable 18,000 | Debtors 12,000
Provision for Bad Debts 2,000 | Stock 20,000
Capital A/c Land & Building 85,000
Surendra 30,000
Mahendra 30,000
Ankur 20,000 80,000

1,18,000 1,18,000

el fewfor :

T = far i - e S 2N
(1) T 3G = YRIAT el¥ dHToi- ;’Hj}{ld ST T TS ST, SurendlﬂB === Mahendras = Nil
(2) 5T 1 ST SfeR 1 ol = Ry @ e T 20000 W @ FW G 20,000 x =% 80,000

aret: ¥ 1 ol 80,000 x> = 30,000 ; Hewx # Toft 80,000 x = = ¥ 30,000 ; 3fR A Yo 20,000
(3) IHS T : 9,000 + 20,000 + 10,000 - 29,500 - 8,500 = T 1,000
(4) e Sar gg@ @w # g Tar 9y AR & 9o @ & B g7 SR H WA g B |

Investment Fluctuation Reserve A/c  Dr. 2,000

To Investment A/c 2.000

IRV 12. 31 T oMY 5 : 3 & U § A dfed o, @0 B A H 1/5 R @ foy d=er a9mn| 98
Ut oit v | faxig Rerfr §9 waR off: (Amit and Ashish who were sharing profits in the ratio of
5 : 3. They admitted Shravan as a partner with 1/5™ share in profits. He had to contribute proportionate
capital.The financial position was as under :)

Balance Sheet

Liabilities Amount3 Assets Amount?
Creditors 19,000 | Goodwill 10,000
Bills Payable 8,000 | Land & Building 25,000
Capital: Plant & Machinery 35,000
Amit 55,000 | Stock 20,000
Ashish 30,000 | Debtors 25,000
General Reserve 16,000 | Investment 14,000
Provision for Bad debts 1,500 | Cash 2,400
Outstanding Salary 2,400 | Prepaid Insurance 500
1,31,900 1,31,900

I Havr B Freifed @l W gde & Wer B o (1) $H S @iy * 20,000 ) geifea @
1| g8 uer R Jde @ | (i) 9% 9 9a T 13,000 9 g qer 7R T 30,000 W geuifad g
(iiii) ST FT A % 500 3ifSed grar = €1 (iv) T 1,200 &7 Ua < it fafay o9 er i e & s
I B B AW TE £ 1 (v) TP TS F X 500 B @ forg A 2 S v g e T fhar war £
UiEd 9 BH & 7 wHsial g3 ¢ fb swe forg % 100 FeiRa 53 Smgl (vi) 2 10,000 & fafsanr v
FrereRt F o foror srguTd # o forg (vii) WEeR! @1 4o o fawer srgura # werfora @ ) g9 fore
T, WA @lel SR | (viii) 3Ry Foha & T 2,400 M1 SRl © | GTHedid @Il AElarR] @ Yol @ a2
gefed wH @ Rufdy faaver dur #ifsig |

They agreed to admit Shravan on the following terms: (i) Goodwill of the firm was to be valued at ¥
20,000. He will bring his share in cash. (ii) Land & Building was to be increased by ¥ 13,000 & Machinery
was to be valued at ¥ 30,000 (iii) The provision for bad & doubtful debts was found in excess by T 500. (iv)
A liability for ¥ 1,200 included in sundry creditors was not likely to arise. (v) ¥ 500 For damages claimed
by a customer had not been accepted by the firm, it was agreed at ¥ 100 by a compromise between the
customer and the firm. (vi) ¥ 10,000 investments were taken over by old partners in their profit sharing ratio
(vii) The capitals of the partners were to be adjusted in profit sharing ratio by opening current accounts.




(viii) Ashish is to withdraw ¥ 2,400 in cash.Prepare Revaluation Account, Partner’s Capital Accounts &
Balance Sheet of the New Firm.

Bl
Dr. Revaluation A/c Cr.
Particulars Amount(3) Particulars Amount(X)
To Machinery Alc 5,000 [ By Land & Building A/c 13,000
To Provision For Claim 100 [ By P.B.D A/c 500
To Profit Transfer to By Creditors A/c 1,200
Capital Alc
Amit 6,000
Ashish 3.600 9,600
14,700 14,700
Dr. Partner’s Capital A/c Cr.
Particulars Amit Ashish | Shravan Particulars Amit | Ashish | Shravan
R®) 9] ) ) ) )
To Goodwill 6,250 3,750 - | By Balance b/d 55,000 | 30,000 -
To Cash Alc - 2,400 - | By Cash A/c - 23,050
To Investment 6,250 3,750 - | By Goodwill A/c 2,500 1,500 -
To Amit’s Current A/c 3,375 - | By General Reserve 10,000 6,000 e
To Balance c/d 57,625 | 34,575 23,050 | By Revaluation A/c 6,000 3,600 -
By Ashish’s current A/c - 3,375 -
73,500 | 44,475 23,050 73,500 | 44,475 | 23,050
Balance Sheet of the new firm
Liabilities Amount(3) Assets Amount(3Z)
Creditors 17,800 | Land & Building 38,000
Bills payable 8,000 | Plant & Machine 30,000
Provision For Claim 100 | Stock 20,000
Outstanding salary 2400 | Debtors 25,000
Capital A/c Less—P.B.D 1.000 24,000
Amit 57,625 Investments 4,000
Ashish 34,575 Prepaid Insurance 500
Sharvan 23.050 1,15,250 | Cash (2,400+23,050,+ 4,000 —2.400) 27,050
Amit’s Current A/c 3,375 | Ashish’s Current A/c 3,375
1,46,925 1,46,925
Frifa fewfrf : (1) T2 o e srum - s‘lﬁmzl—ézg
ﬂﬁﬁ:ixi:ﬂ Wgﬁ“q:ixzzl—z
5 8 40 8 40
TAT WA IS ST ¢ 2 = 20:12: 8 5:3:2

40 40 5
(2) 74 WIEER 219U d1 UGl @l TUHEE— BT DI gl Yol FHrRifrd goit 73,500 = 12,500 =T 61,000,
TN @ el [Erfd goit 41,100 = 9,900=%31,200
61,000+31,200=% 92,200

1-2=2 (afd + omehm)
ST @ gl o £ 92,200 2 X = =X 23,050
(3) w4 B et o 92,200 = =2 115,250

Afel, 15, 250><——? 57,625 ; &y 1,15, ZSOX——? 34,575 ; Havr 1 lszﬁox——m% 050
37ct: ?ﬁﬂim@ﬁ@mf&mﬁaﬁmﬁﬁ@ﬁm 357,625, 334,575, ?ZSOSOWI



FETEROT 13. 3T 3R @ar 2 : 1 & AUId H oI dfed gU AeIER 1 31 §7d, 2017 Pl I9a1 facer 4 gaR
of: (Suraj and Chanda are partners sharing profits in the ratio of 2 : 1. Their Balance Sheet as on 31"
March, 2017 is as follows)

Balance Sheet as on 31° March, 2017

Liabilities Amount? Assets Amount?
Creditors 30,000 | Cash Balance 20,000
Bank Loan 10,000 | Bank Balance 20,000
General Reserve 30,000 | Sundry Debtors 60,000
Capitals Less:Provision  24.000 36,000
Suraj 1,20,000 Stock 90,000
Chanda 60,000 1,80,000 | Machine 29,000

Furniture 10,000
Goodwill 36,000
Pofit &Loss 9,000
2,50,000 2,50,000

| 30 2017 &1 9 a1 &1 1/3 2 & forg waw <7 €1 98 oo R &1 =fa & forg s o @
YA BT & aAT a1 gare Yol anil & Rrad & 89 78 w6 @ @ Yol &1 1/3 9T f@an o 9 | wH
P = BT Jediwd T B gul @ iEd o B A [ B SR W BRI Srar 21 39 99l & @ a1 w1y
FHHer: T 30,000 , T 35,000 (81f9) 3R T 50,000 &1 | 78 N =y fFar o & <=eri R maeE & T 9,000
a® gerl o IR B &1 giedia ¥ 1,20,000 R i | 79 &1 € 20,000 96 9 9 | a6 F#oT
BT I B g1 SR | SFe wfafteai SR &R gR{die |aT WIEER & Yol @1 a1 78 B4 @l feer
ERINN

On 1™ April, 2017 they admit Tara for 1/3" share. She pays cash in the business for her share of
goodwill and brings sufficient capital so that she can be given 1/3 share of the total capital of the new
firm. The goodwill of the firm is to be valued at three times of average profit of the last three years. Profit
or loss of these three years were ¥ 30,000, ¥ 35,000 (Loss) and ¥ 50,000. It was also decided that the
Provision on debtors be reduced up to ¥ 9,000 and Stock is to revalued at ¥ 1,20,000. The machine is to be
reduced upto ¥ 20,000. Bank loan will be paid off. Pass Journal Entries and Prepare Revaluation
account,Partner’sCapital accounts and Balance Sheet of the new firm.

Bol:

Journal

Date Particulars

L.F. | Amount(Dr.)

®

Amount (Cr.)
®)

1-4-17 | Cash A/c
To Tara’s Capital A/c

To Goodwill A/c

goodwill & capital)

(Being cash brought in by Tara towards

Dr. 1,23,000

General Reserve A/c
To Suraj’s Capital A/c
To Chanda’s Capital A/c

sharing ratio)

(Being General Reserve transferred to old
Partner’s Capital A/c in their old Profit

Dr. 30,000

Suraj’s Capital A/c
Chanda’s Capital A/c
To Goodwill A/c

(Being existing goodwill A/c written off)

Dr.
Dr.

24,000
12,000

1,08,000
15,000

20,000
10,000

36,000




Bank Loan A/c Dr. 10,000
To Bank A/c 10,000
(Being Bank Loan paid off)
Suraj’s Capital A/c Dr. 6,000
Chanda’s Capital A/c Dr. 3,000
ToP &L Alc 9,000
(Being P & L transferred to Old partner’s
capital A/c)
P.B.D. Alc Dr. 15,000
Stock A/c Dr. 30,000
To Revaluation A/c 45,000
(Being decrease in PBD and increase in
value of Stock)
Revaluation A/c Dr. 9,000
To Machine A/c Dr. 9,000
(Being decrease in value of machine)
Revaluation A/c Dr. 36,000
To Suraj’s Capital A/c 24,000
To Chanda’s Capital A/c 12,000
(Being Profit on revaluation transferred
to old Partner’s Capital A/c in their old
profit sharing ratio)
Goodwill A/c Dr. 15,000
To Suraj’s Capital A/c 10,000
To Chanda’s Capital A/c 5,000
(Being goodwill credited to old Partner’s
Capital A/c in their sacrificing ratio)
Revaluation A/c Cr.
Particulars Amount(?) Particulars Amount(?)
To Machinery 9,000 | By P.B.D. A/c 15,000
To Profit transferred to: By Stock A/c 30,000
Suraj’s Capital A/c 24,000
Chanda’s Capital A/c 12,000 36,000
45,000 45,000
Dr. Partner’s Capital A/c Cr.
Particulars Suraj Chanda Tara Particulars Suraj | Chanda Tara
(£9) R®) ) (§4) ) )
To Goodwill Afc 24,000 12,000 -— By Balance b/d 1,20,0001 60,000 -
ToP &L A/c 6,000 3,000 -— By Cash A/c -— — 1,08,000
To Balance c/d 1,44,000 72,000( 1,08,000|By Goodwill A/c 10,000 5,000 --
By General Reserve 20,000 10,000 -
By Revaluation A/c 24,000 12,000
1,74,000 87,000 | 1,08,000 1,74,000 | 87,000 | 1,08,000
Balance Sheet of the new firm as on 01 April, 2017
Liabilities Amount Assets Amount
) )
Creditors 30,000 | Cash at Bank 1,43,000




Capital A/c Bank Balance 10,000

Suraj 1,44.,000 Debtors 60,000
Chanda 72,000 (=) Provision 9,000 51,000
Tara 108.000 3,24,000 | Stock 1,20,000
Machine 20,000
Furniture 10,000
3,54,000 3,54,000

Working Notes:

(1)1 o™ fAuTS= aurd &) U | :ﬁﬂaml—% %; Suraj§X§=§;Chanda§X%=

G2 o)

W= ”

. o 4 2
37T ST BT T4 AT fTe s g pei =4:2:3
_30,000-35,000+50,000 _ 45,000

(2) w=Ifa & T — AT AT = =% 15000;

BH @ @I = 15000 x 3 =3 45000 ; WW@@ﬁW4SOOOx;—?ISOOO

(3) I ye= # dad T WRER & M BT 9T QA1 AT § A1 YRIM WIEIERT B QRET a4 TS srgua
IR YT FH BT | YRS EISIERI bl GRIAT A faWToi SIgurd &1 Q1T 37ure 8197 |

(4) aRT zs f%ﬁ?r B TSl Y AT - RO G Il B fel AT ol 44,000+72,000= 2,16,000

G)1l=== (ﬂsrrl T =T BT RRE) ;AR BT R 2,16,000 x5x7 = X 1,08,000

(6) m ML 20 000 + 1,08,000 + 15,000 =% 1,43,000
da 2w 20,000 = 10,000 = Z 10,000
I HEERI ® W A faueE U | uRads
(Change in the profit sharing ratio among the existing partners)

™ frer srgura # aRade & ome U8 € fF Ue AEieR SRR WEIER W M BT S HY axal 8 | R
FEER & oM & 9N H ghg BNl € S99 arifad AeER (Gaining Partner) @Ed € | @ 19 WRIGR & A
% 9T H A B € 99 ANTHAl WEeR (Sacrificing Partner) dEd €1 A fadTos sura # uRads & @
YT R ATl AISIER, T $RE1 Tl AIERR &7 afoyfd & € |
amﬁ?ﬂmagmﬁwmﬂﬂwéw#ﬁﬁﬁmﬁﬂwﬁa%’:

1. T U 9 GRS & U &1 FrIiRer

2. @ BT i 2rder

3. gy AT IAAART a™ F1 B & o Ao &1 d@ied dsR

4

5

FrREl @ Rl &1 gReie
goll T FHIATGT
(1) ST SUTd g BTAS B Sgurd BT FEfRor -
N AU = GRET A A9 rara — =131 & farer= srqura
Sacrificing Ratio (SR) = Old Profit Sharing Ratio (OPSR) — New Profit Sharing Ratio (NPSR)
BIge (o wIfk)) 1 T -
BRI ] U = AT a9 fadTST SguTd — QRET o™ fasrs srard
Gaining Ratio(GR) = New Profit Sharing Ratio (NPSR) — Old Profit Sharing Ratio (OPSR)
(2) T &1 @B FIER
Gaining partner's capital/current A/c Dr.
To Sacrificing partner's capital/current A/c
(Being the adjustment made for goodwill on change in profit sharing ratio)
TEERY : A 9 B @ faUTeE 3 1 2 & IqUd # BRa | Sweid iy fBar 6 wfdsy o aRrer axreR @i |
GH DI BTG BT i 330,000 T AT | =10 & AR & fog smawrsds o ufafie Sifom |
B's Capital A/c Dr. 3000
To A's Capital Afc 3000
[Bing the adjustment made for goodwill on change in profit sharing ratio {30000 x & = 30001]




W/WSR/GR%S&@W&%TWHT OPSR — NPSR
1 1
A=3i-l=lam, B=I-l=(=
e @ &1 oEieT FaER — GRAad! ﬁﬂ?@iﬁwﬁraﬁwﬁ?ﬂmagum # uRadH B W
JqferRad & BIe & |

All partners capital/current A/c Dr.
To Goodwill A/c (In OPSR)
(Being existing goodwill written off in old profit sharing ratio)
TETEY : A 9 B WEIGR €1 Sl ofM &1 5 : 3 & AU H dfed €1 e wias H oM f3ure aRTer axrey

dfe @1 vl frar| o @ @iy &1 Jeuied T 48,000 W AT WAT| RIS # @i uge @ % 16000 U
fazarg e €1 w@nfy & fow snavye ufafew #ifdm |

I; A's Capital Afc Dr. 10000
B's Capital A/c Dr. 6000

To Goodwill A/c 16000
(Being existing goodwill written off in old profit sharing ratio)
2. B's Capital A/c Dr. 6000

To A's Capital A'/'c 6000
(Being adjustiment made for goodwill on chan,qe in profit sharing ratio 48000 X % = 6000)
OPSR —NPSR = SR/GR; A = E—3= 2 (SR); B = 3—§= (=)= (GR)

TRV X, YT Z TP BH H AEIGR E1 91 3 : 2 01 & gura H o fanmror axa €1 9 fofg ava €1 b

ﬂﬁmﬁiZ?ﬁr%@'ﬂigﬁTﬂItﬁﬁaﬁwﬁﬁﬁrﬂ@ﬁmfsoomwﬁTmWIWUﬁaﬁqaﬁmaﬂ#%m
YIS S yfafe HIY |

Z's Capital A/c Dr. 5000
To X's Capital A/c 3000
To Y"s Capital A/c 2000
(Being adjustment made for goodwill on change in profit sharing ratio)
Y AT Bl AU . GRAT A [T U P
ZEﬁTT%W%; 1—%=§O(HYW%‘\R‘HT)
2.3 6 2 2 4 6 4 1
A= gRp=ggs FPEERe =09 TWEgN=e gt =0uhis
3 6 3 2 4 2 1 5 5
AT/ Hg T I = 3_1_5: §;= E_Ez 5; Z= E_Ez —)5

X @Y Tf¥r= 30000 x % = $3000: Y& M= 30000 X % = T2000; Z @1 1= 30000 ><3—50 = 5000
(3) =g g AfyaRa & /&1 &1 FaER
fe WRER & YA & GHY BH B U Wgd 9 STfaafRa ant /' 81 a1 S¥ 1 ave ¥ wArfera fear o
|oHdr €1 (1) H99 g o™ /81 &1 A< ) f&ar ae | (i) §99 9 a1 /81 @ g9 (@) 9 fdar S|
(1) Joa g av /e & g s fear s (Reserves & Profits/Loss be cancelled) : Sog g sifaaRa
W™ /B T IaAF AIEIERI & 4" 99 R A [a9e & JuTd # diel 91T € |
(a) Hau g stfqaRa amif & forg
General Reserve A/c Dr.
P&IL Ale Dr.
Workmen Compensation Reserve A/cDr. (TR 9™ & 915 9 3MfEay 9)
Investment Fluctuation Reserve A/c Dr. (731 & iR g0 # og &9 &1 <M & 918 99)
To partner's capital/current A/c (In OPSR)

(Being Reserve & undistributed profits transferred to partner's capital A/c in OPSR)
(b) wfera =fval T eI g @Al & forg




Partner's capital/current Afc Dr. (In OPSR)
ToP &L Alc
To Deferred Revenue Expenditure
(Being undistributed Loss transferred to partner's capital A/c in old Profit sharing Ratio)
(ii) W99 a & /81 &1 < 7 fdar oy
(a) F=@m g Wi @l @ AT : Gaining Partner's Capital/Current A/c Dr.
To Sacrificing Partner's Capital/Current A/c
(Being Adjustments for profits on change in profit sharing ratio)
(b) wfaa =ife=ai & forv - Sacrificing Partner's Capital/Current A/c Dr.
To Gaining Partner's Capital/Current A/c
(Being Adjustment made for Losses on change in profit sharing ratio)

FEE : U B H A, BT CHUBEIER 8|l 3:2 : 1 & 3Jurd § oW favioe axa €| Seiq Jfasy # a4l
B IRIER—aRTER dfes &1 ot fhar| g9 & & sm—e™ @ # T60000 &1 HiSe I g GE=g Gag
# %30,000 FT I AT | BH B YIIH] H 3Mawqd o+l wfafieai aiforg |
(a) BF 7 o—8I~ T 9 AT Hgd Bl g5 B Bl oy fhar 8

P&L A/ Dr. 60000
General Reserve A/c Dr. 30000
To A's Capital A/c 45000
To B's Capital A/c 30000
To C's Capital A/c 15000

(Being undistributed profits & General Reserve transferred to partner's capital A/c in OPSR)
(b) BH TM—8I W g Hoag & g5 Fa] G drgdl ¢

C's Capital A/c Dr. 15000
To A's Capital A/c 15000
(Being Adjustment made for P&L A/c & General Reserve on change in profit sharing ratio)
AN /BTG BT ST = Z— 2= = B=2-2=0:C=:-1=(2)=

I Ha9 9 AM—8IM W & Hiec I¥ & I 90000 W%.Afﬁréﬂaﬁ‘ﬂ:ﬂsow
(4) sl g <@l @& gicuisT &1 o @aeN ¢
(a) It 9RRR $4 & gTfed R AR B e 4 grRral g iRl @ dmid 9o (Revised

Value) R fR@MT @7 &d €1 1 $9 91 § YTAId WAl q9reR YaHelied R gU Av—elf
P IAAF ARERI & YR U H dfe forr SRem |

(i) gTicaid &R o 81
Revaluation A/c Dr.
To partner's capital/current A/c (In OPSR)
(ii) gTEHT =R BIM &8 W
Partner's capital/current A/c Dr.

To Revaluation A/c
(b) 9 wREl /<REl & AT g gIe § 9 forem @ a1 aarie IEERl & Yol 9l @
HAEZH W HRAT B —

(i) gHie= W o B8H W
Gaining partner's capital/current A/c Dr. (in OPSR)
To Sacrificing partner's capital/current A/c
(i) gcTidT W T B9 W
Sacrificing partner's capital/current A/c Dr.

To Gaining partner's capital/current A/c
SAEW : A, BT C, 5:3: 2 H o faToH o g ARIGR €| S dfaw # @i ey 2 03 : 5 o
dfest &1 fofy fban | grofel g el @ e 4 Frergar oReds gue




e e (X Book Value) HeMfErT o7 (T Revised Value)

Building 50000 60000
Plant 30000 50000
Creditors 20000 30000

for=t & ude e # ufdfie Hifrg wafd wrEer —
(a) ST Fedt @1 fed d qarn aa & | (b) Jfd geai &1 fres 4 9 qam1 99 w-d B |
T IR v = g9 § gfig 210000 + wiie # gfg 220000 o=eri § gfE 210000 = 220000

(a) Revaluation A/c Dr.20000
To A's Capital A/c 10000
To B's Capital A/c 6000
To C's Capital Alc 4000
(Being profit on Revaluation transfer to partner's capital A/c in their old Profit sharing ratio)
(b) C's capital A/c Dr. 6000
To A's Capital A/c 6000
(Being Adjustment 20000 X i = 6000 made for profit on Revaluation)
T/ HBIAS BT AU = i—i=i B:i—i 0 C—————( )—

10 10 10° 10

10
IarexvT 14, ART, HRieT 7T 9 8 © 5 ¢ 3$m3¢mﬁwamﬁngﬁﬁw@w?l31 |19, 2017 T
SREY fﬂc\sl /1 u@R on (Lara,Priyanka and Vashu are partners in a firm sharing profit in the ratio of
8 : 5 : 3 respectively. Their Balance Sheet as on 31" March, 2017 was as follows)
Balance Sheet

Liabilities Amount? Assets Amount¥

Partner’s Capital A/c Cash at Bank 10,000

Lara 40,000 | Investment 15,000

Priyanka 32,000 | Stock 40,000

Vashu 28,000 | Bill Receivable 8,000

Partner’s Loan A/c Debtors 40,000

Lara 16,000 | Furniture 28,000

Priyanka 12,000 | Patent 15,000

Provident Fund 18,000 | Prepaid Insurance Premium 2,000

General Reserve 16,000 | Plant & Machinery 62,000
Creditors 40,000
Bank Loan 14,000
Provision For Bad Debts 4,000

2,20,000 2,20,000

T 1 31,2017 W 37 oY fAUTSTT U Dl 5 : 6 © 5 B AU H dgeld & foll Hedd g¢| 59 B
o fog fegg fbar w6 (i) »9 @ =l fed o) a6l & i siftam & 9 77 & R W) Jeifed
F31 2| s ar ant &1 ofta @ 240,000 ® Sefd fafafoa §ot ™ amm @ 2 24,000 € (i) v
e 7 T 2,000 @7 9@ A 2| (iii) ggd o yrag % 3,000 db 99 @1 8 | (iv) Haer Jae § T
5,000 &7 JATERT FHRH & |(v) FeR &1 qod T 25,000 TH Gl S Ud Ishkd &7 Jqegiadd < 30,000 5 fFar
AT 2 |(vi) T8 & 91T % 5,000 B gRIST H fR@rr S| (vil) i | R 5% R 9 @ w0 & oy
yraeE fhar W | (vidd) U6 GRET UTES WAl 9 e @ &I sufeiRad eR fRam o, 3@ Su U R
gral @ e A % 800 & 7& AT € (ix) THva BT qou aowe # (9§ | weodl, il ok dedl @
qecies qeli H uRada &l B € | on @rd qur 741 Riger 9@ a7 g |

They agreed to change their profit sharing ratio as 5 : 6 : 5 from 1™ April,2017. For this purpose it is
decided that: (1) Goodwill of the firm has been valued at three times of the average super profits of last four
years. Average profits of the last four years are¥ 40,000 while the normal profits that can be earned with the
capital employed are ¥ 24,000. (ii)Provident Fund to be raised by ¥ 2,000. (iii)The provision for doubtful




debts was to be maintained upto ¥ 3,000 (iv) Priyanka is to withdrew ¥ 5,000 in cash. (v) The value of
furniture is to be decreased upto ¥ 25,000 and stock is to be revalued at as ¥ 30,000 (vi) Outstanding wages
¥ 5,000 are to be shown in books (vii) A provision for bad debts on Bills Receivable be made 5% (viii)
Sanni,an old customer whose account was written off as bad has promised to pay ¥ 800 in the settlement of
his full claim. (ix) The present value of patent is NIL. The book values of the Assets, Liabilities and
Reserves are not be altered. Prepare Capital Accounts and new Balance Sheet.

gel:
Dr. Partner’s Capital A/c Cr.
Particulars Lara | Priyanka | Vashu Particulars Lara | Priyanka | Vashu
) Q) (9] ) ) §9)
To Lara - 1,900 3,800 | By Balance b/d | 40,000 32000 | 28,000
To Cash - 5,000 - | By Priyanka 1,900 - -
To Balance ¢/d | 45,700 25,100 | 24,200 | By Vasu 3,800 - -
45,700 32,000 | 28,000 45,700 32,000 | 28,000
Balance sheet as on 1* April 2017
Liabilities Amount(3) Assets Amount(3)
Creditors 40,000 | Cash at Bank (10,000 — 5,000) 5,000
P.B.D 4,000 | Investments 15,000
Bank Loan 14,000 | Stock 40,000
Provident fund 18,000 | Bills Receivable 8,000
General Reserve 16,000 | Debtors 40,000
Partner’s Loan Furniture 28,000
Lara 16,000 | Patent 15,000
Priyanka 12,000 | Prepaid Insurance 2,000
Capital A/c Plant & Machine 62,000
Lara 45,700
Priyanka 25,100
Vashu 24.200 95,000
2,15,000 2,15,000
I fewfort
(1) QT /ar it SUT = QRIET A 9IS Surd — =37 A TS srurd
8 5 3 : 5 6 1 3 5 2
TR =———= — o i S e o e e e e
16 16 16 16 16 16 16 16 16
(2) @f @1 I

AT = 3 o — [T oty =40,000 — 24,000= 16,000
=T = affeem™ X3 =16,000%3= 248,000
(3) g @1 Yg o — B
gife @ 72

z A Pl A z
FAAR & qod | HHI 3,000 ggd 0T & ragE § 9 1,000
€WE B qed § B 10,000 <eRt & 9fg 800
qHIAT ASTGR! 5,000 1.800
el W wrEeH (8,000X5%) 400 35400 — 1800 = 33,600 G i ¥ Tg &1
UHE & Hod H Bl 15,000
afasy i # gfg 2.000

35,400

ARG § Y ™ = @I 9 MR 999 &1 IRI-JHeidd @ g 81 =
48,000 + 16,000 — 33,600 = 330,400



Priyanka’s Capital A/c Dr. 1,900
Vashu’s Capital A/c Dr. 3,800
To Lara Capital A/c 5.700

ART = 30,400 X — =% 5,700 : fif7wr= 30,400 X — =% 1,900 a9 = 30,400 X = =% 3,800
16 16 16

TETEXUN 15 : 31—3—2017 @ &1 9 €99 &1 fcer f#1ad €| Dhoni and Dhavan are partners. Their Balance
Sheet as on 31-03-2017 was as follows:

Dr. Balance Sheet as on 3 March, 2017 Cr.
Liabilities Amount Assets Amount
®) )

Creditors 20,000 | Cash at Bank 9,500
Workmen Compensation Reserve 8,000 | Debtors 20,000

Investment fluctuation Reserve 3,000 | (=) Provision 500 19,500

Bills Payable 3,000 | Stock 6,000

Outstanding expenses 1,000 | Investments 10,000

Employee’s Provident fund 5,000 | Land & Building 30,000

General Reserve 10,000 | Plant & Machine 36,000

Capital Furniture 10,000

Dhoni 40,000 Trade Mark 3,000

Dhavan 50,000 90,000 | Patent 5,000

Goodwill 5,000

P &L (Dr.) 4,000

Advertisement Expenses 2,000

1,40,000 1,40,000

1—4—2017 T fORIE &7 I 0 & d ST 997 dR [I9IH Sud IRIER—aRmER 8rm | (i) favre it &
forg % 60,000 T = (fATH) & for T 8,000 widx arar €| @l @t oMl WY wWERR fee o g1 (i)
IUTRAT 21 ¥ 500 S g&I&! # Fel fearfy i &, 39 fe@mr S| (i) R[fFEeTT 1 9eiR 529 T 9,000 |
(iv) U <er forad % 500 gamm 9, ggd o & wU H sufarRed &R QA | 999 gul g ¥ 400 A (v)
YH—ae & Hou | 25% WA gfg Y| (vi) Wiic—=2NH 10% & o5 Hedifbd g8 2| (vii) SuwR (B1eR) 10% o
IRTa far SRy (viii) @RS g &1 geaid T 2,500 IR far ar 21 (ix) UHsa &1 g T 3,000 9F A
FIAT B | (x) FHAR) afcrgfd dog & favg T 3,000 &1 TR FAR@d far mar 21 (xi) gdaa dH 1 &3 21,000 |
(xii) 7T BT bl fda T 1,000 (xiii) T 4,000 R Hifhd U YU HRREX @ | Sl Gadl # yeRRid 78l 2|
ad o o B omar E1 (xiv) STRRI R ey woll @ o 5% oM @ IERf R gee @ forg
AT 2% FIR- | (xv) oFERl TR g2 & fory Amdieid 2% (xvi) ¥y 20% 4§ fergeifdsd g1 (xvii) fawre &t
ol & MR W ARIERI & Yoil @xl GHRIfoT &) © | Giedied @Nl, |ERRI & doil @ g 740 B9 &7
fereer AR HIfAY |

They decided to admitVirat on April Ist 2017. New Profit Sharing Ratio will be equal:
(i) Virat shall bring ¥ 60,000 as his Capital and T 8,000 share of premium. & half of the goodwill is
withdrawn by the partner (ii) That unaccounted accrued income of ¥ 500 be provided for. (iii) The market
value of investments was ¥9,000. (iv) A debtor whose dues of ¥ 500 was written off as bad debts, paid 3400
in full settlement. (v) Land & Building Appreciate by 25%. (vi) Plant & Machinery undervalued by 10%.
(vii) Furniture is depreciated by 10%. (viii) Trademark valued at ¥2,500. (ix) Patent reduced to ¥ 3,000. (x)
Liability against Workmen Compensation Reserve is ¥ 3,000 (xi) Prepaid Insurance <1,000.
(xi1) Outstanding Bills for Repair Z1,000. (xiii) There is an old computer valued at ¥4,000. It does not
appear in the books. It is now to be recorded. (xiv) Create Provision for Bad Debt 5% & Provision For
Discount on Debtors 2%. (xv) Create Reserve for discount on creditors @ 5%. (xvi) Stock is overvalued by
20%. (xvii) Capital of the partners shall be adjusted on the basis of Virat’s Capital. Prepare Revaluation
Al/c, Partners’ Capital A/c’s and the Balance Sheet of the new firm.




Dr.

Revaluation A/c Cr.
Particulars Amount(3) Particulars Amount(3)
To Furniture A/c 1000 | By Accrued Income 500
To Trade mark A/c 500 | By Bad debts Recovered 400
To Patent A/c 2000 | By Land & Building A/c 7500
To Outstanding Repairs Bill 1000 | By Plant & Machine A/c 4000
To P.B.D. A/c 500 | By Prepaid Insurance A/c 1000
ToP.D.D A/c 380 | By Computer A/c 4000
To Stock A/C 1000 | By Reserve for discount on creditors A/c 1000
To Profit Transfer to
Dhoni’s Capital 6010
Dhavan’s Capital 6010 12020
18400 18400
Dr. Partner’s Capital A/c Cr.
Particulars Dhoni | Dhavan | Virat Particulars Dhoni | Dhavan | Virat
) ) ) ) ) )
To Cash 2000 2000 - | By Balance b/d 40000 | 50000 -
To Goodwill 2500 2500 - | By Cash A/c - - | 60000
To P&L 2000 2000 - | By Goodwill A/c 4000 4000 -
To Adv. Exp. 1000 1000 - | By Worksmen
To Cash A/c 1010 - | Componsation ReserveA/c 2500 2500 -
(Balancing figure) By Investment
To Balance c/d 60000 [ 60000 | 60000 | Fluctuation Reserve Afc 1000 | 1000 -
By General Reserve 5000 5000 -
By Revaluation A/c 6010 6010 -
By Cash Afc 899() & 2
(Balancing figure)
67500 [ 68510 | 60000 67500 [ 68510 | 60000
Balance sheet as on 1% April, 2017
Liabilities Amount(3) Assets Amount(3)
Creditors 20000 Cash at Bank 9500
Less Provision _1000 19000 | Cash in hand 72380
Liability for workmencompensation 3000 | Debtors 20000
Bills payable 3000 | Less P.B.D. 1000
Outstanding expenses 1000 | Less P.D.D. 380 18620
Outstanding Repair bills 1000 | Stock 5000
Employee’s Provident Fund 5000 | Investments 9000
Capital A/c Land & Building 37500
Dhoni 60000 Plant & Machine 40000
Dhavan 60000 Furniture 9000
Virat 60000 180000 | Trade Mark 2500
Patent 3000
Prepaid Insurance 1000
Accrued Income 500
Computer 4000
212000 212000




Bride feufri

1.3 ued # Bad T WRER & @M S AT 77 1 2 A QR WIRRRI $1 YRMET U g @R ST
FHE EA

2. FHaR) afagfd wag &1 A A7 § g fd@ S gerex 39 AR I 9ERRl 3 R{E a e
Jgure H 9 T |

3.f 99 SR FeE d9a & A9 § A AT & IR o A g FH B geraR A9 IR B R AEER A
ORI S TS srqura # dfer mar g |

4.9 &1 @) & sfie v, s =@f g @l @ R & )R an e srgura # sufafaa fear 2

5.Provision For Bad debts 20000 x 5% =% 1000 ;

Provision for Discount on Debtors  20000-1000 = 19000 ; 19000 x 2% = 380

6.Stock 2% =%]000
7.Plant & Machine 36000 x =2 =3 4000
8. %4 @ o ol fare @1 Iofl & R w %:?I,SO,mﬂﬁzmwfﬁW@ﬁmﬁﬁ

360,000 81T
9. Cash in hand : 60000+8000 —4000+400+8990-1010 =%72,380
R (Summary)

WA &1 Yo : WEER & el § 89 arel {6l off uRads & 9EeR) B &7 geifed Brar €| o
HEERl & 72g A fadrer ogura H aRedd, T AR &1 999, Gl AEER @ srEadte T A1 4y Afe |
T AR BT Y43 © Y WEER & 9% 9 AMUR &, BH & AIEER1 B G H gig 8FT| 99 9IEER Bl
wrafeal # fevar 9 ol 3 e ura g
AT A WIS JIUId R WEER AEd W AEERI 4 BH & aMl &1 O U H dedrT BT 99 a1
P TS aruT FEd B
N &1 AU : Y AreiaR o rgurd ¥ 3 o & R &1 ) WEER &l od & 99 N JAguTd HEd
2| TN U= YRAET o™ faHTi Sure —=a1 o fawmer srurd
ST : T B URTST & AR e Sl HEAT © |
@fa & e o i 1. afiad o fafd 2. of i fafer 3. gofrewor fafer anfe
RN SEi6 AF® 10 /24 /38 @ ATAR TN I JFdHI # T9 1 folel TN & 9 §HPI T B o Gal
# 3erdT HaT & HHBE PIs Ul {1 T4 €|
Hfeqal &1 yaqeaion g sl &1 gafiaRer © 90 Wi8ieR & yde R gafeqdl b1 yAdedied 9 qifdicl @1
YAFYRYT AT S 8§96 B §THedie Wl 9991 T € SR JTHed BT &1 @ QR WRIERI § qRE A
favror argura ¥ dfer oar €1 e geuied eva wwg arafeddl eifficl & qeu @ uRafda T8 e g ar
TR Qe 6 @I 91T el & |
Ife B & fored A @iE AfdaRa i g1\ a1 dau < W 8 a1 99 QR WEERl ¥ QR A f{vreE srgura #
i < AR |
Yoil @ral § WA — R 93 HEER & U B W BH P Gel Goll & GHS fHar smar 2 59 & for:

1. RM AEERI @ YOl A6 B 94 AEER B Yol & AR TR GHEINS a1 §rar 8 a1 iR |

2. TN WIEERI & Yol 98f & MR W = WEER &1 Joia! i fHuiRa @ ol €1

ﬂE‘Iﬂ?ﬁ(Glossary)

ATSERT Bl Reconstitution of Sl WEen) BH P fdemmdar & gwifad v faer

ESLUGE] Partnership TRt & gl ¥ gRads 81 W o 39 9ERR 6r
qio el STl © |

ATSIeR ®f ¥d% | Admission of A TSR] & gadrd # 4 Wew &l W@Hl & ©d H Yael

Partner ATSIER BT Y3 el & |
T1 @M {39 | New Profit Sharing | 72 WERR wfed Wil arzer Oy surd § H & ol
3rgurd Ratio %*HHI' @] ATE H gied 8, 99 a1 AW fdIe U dEd
|

SNT &7 g | Sacrificing Ratio T WEER & Yd9 W YR AEERI & oY & 97 o

5 orqura # S Bl €, S QT T SUTd FEd & |




2Ty Goodwill T B GRS BT Afedh Jedlidhe @I dHeard ¢ |

$Y 1 s =MMd_| Purchased Goodwill | U1 &1l 15T Y ¥ & el %H Hod <l & |

W gior @ | Self-Generated I U IR ® Sf BH gRT I QTaIR <RIl et o
Goodwill S B! B | Ufawd 8! fear e 2 |

3 elm Average Profit 8l B 9yl & oMl &1 3iFd

afer e Super Profit AR A WX AR<dE A @l AT

UoTTho] fafer Capitalisation FAER GIRT 3AToTd ATl BT YOlIhRUT B b &M BT ol
Method i fobr ST €

i @l | RevaluationAccount | I8 @Il GHafeddl & Yicdia @ i@l & Yof-emo

@ g1 @ e €|

NEE] Reserve AfqaRa a1 Hred o

FHHanT &fa gid | Workmen a8 G I HHATRAT B &AfIgfel vg WINT bl SRAT |

g Compensation Reserve

Fraer SaR—=ag1d | Investments IE g 99 & oI H 8 a7l SAR ded & AR

RER Fluctuation Reserve | & forq ol & gfoid far Sirm €|

arrref U9 (Questions for Exercise)
ggaga® 9% (Multiple Choice Questions)

1. arfdem 2
3. | oA — 3 Ed A g, 3T o — g
| A ™ + SR ol €. 79 9 BIg T8l
Super Profit is :
a. normal Profit- Average Profit b. Average Profit- Normal Profit

¢. Normal Profit +Average Profit  d. none of these

2. AT 9 RR P AEIER & RrH! GO HHT: T16000 T 12000 8, F1/4 TR S W mdr axar € @
15000 USfl @& &TaT € | AT BH 1 =1 B Hed 8T |
31. 60000 9. 112000 9. ¥17000 <. 343000
A and b are equal partners with the capital of ¥ 16000 and ¥ 12000. C a new partner comes in for Y4
share and brings capital ¥ 15000. Find the value of the firm's Goodwill?

a. 360,000 b.%11200 ¢. 217000 d. 43000

3. ga |Aafcrl 70,000, <T@ 10,000, JATET @9 I8000 WHIRI YR & 10 Uiard S &I i
&1l |
31. 71000 d. 32000 9. 33000 €. 34000

Total Assets and Liabilities of the firm are ¥ 70000 and I10000. Average Profit 1s T3000. NRR
10%. Calculate Super profit?

a.%1000 b. 2000 c. 3000 d. %4000
ar) o q) T ¥) 3) 374 | @Iy Aol
For getting share in profits, a new partners brings:
a. Capital b. Loan ¢. Goodwill d. None of these
ar) goh ) ol w) @ T) e
For getting share in Assets of firm, a new partner brings:
a. Capital b. Loan c. Goodwill d. Subsidy
6. YAHSIIH @I D gpica
(@) e @Tar (@) TS T @I (@) arafdd @ (€) T W B TE

Nature of revaluation account is:
a. Personal account b. Nominal account ¢. Real Account d. None of these



7. T ARER F YIY W G TG 9 @l BT oI 9EaT e ©, A1 a9 S arelT @rem grdr

gl
3. G STl EACCIRCIGI
. RO YAHeih @] T 398 U PIg A8
When the partners decide to change the value of Assets and Liabilities, then which a/c prepared
is:
a. Revaluation a/c b. Realisation A/c
¢. Memorandum revaluation d. None of these.
8. Wi sifaaRa &1l & R wEReR & Yo @l § 6 orgua # swdiaRa fear er g —
SRR ICIERCEIGE R SRR 4. BIIe & Srgurd |
. QR AN e sruTd T T U H
All undistributed losses are transferred to capital account of the old partners in the ratio of:
a. New Profit Sharing Ratio b. Gaining ratio
c. old Profit Sharing Ratio d. Sacrificing ratio
9. w=Ifq &7 wWYE BT & |
&, facell & v aren 9. fd b GUTT qrel]
9. gg & W9 drell T. SR aHl
Nature of goodwill is:
a. Cat Goodwill b. Dog Goodwill c. Rat Goodwill d. All of them
10.A @ BU& ®H # 2 : 1 & arqurd d WEER 819 C &I 1/3 R & o0 uder <d 2 a1 I+61 N7
AT BT |
A 2: 3 g.1:2 M.2:1 @11

A and B are partners sharing profit in ratio of 2:1. They admit C for 1/3 share in profits, then
sacrificing ratio of A and B is:
a:2:3 b. 1:2 c..2:1 d. 1:1

FfcreTeeNTeA® 99 (Very Short Answer type Questions)

1,

2,

3

GH H U AEER R = @I IGF s o R QR A=eR | {59 ogara 7 9idl okl 82

In which ratio amount of goodwill is divided among the old partners when new partner brings cash for goodwill?
H—ar 3R 3fEd @ H U R fored |

Write one difference between Super Profit and Average Profit.

RGN BH & gifed | aar g 27

What is meant by reconstitution of Partnership?

g Id @I P UPpia a1 82

What is the nature of Revaluation Account?

UH BH H AT B HARER T3 2% U H A o e €1 C Al 20% R & fom waw
PHXAT & Al TGN A A9 AU g Q1T AU @1 BT

A and B are partners in a firm, sharing profits in the ratio of 3 : 2. C is admitted for 20% share in profits of the
firm. Calculate New Profit Sharing Ratio & Sacrificing Ratio. Ans: NPSR12:8:5 SR3:2

ABT C U@ % # AEER & S 513 2 & Sgu A o R @ 1D o SR @ g s
HRAT 8 | AT AP fAWToT SUrd d Q1T 39T §1d o |

A.B & C are partners in a firm, sharing profits in the ratio of 5:3:2. D is admitted for 1/5th share in
profits of the firm.Calculate New Profit Sharing Ratio & Sacrificing Ratio.

Ans: NPSR 10:6:4:5 SR 5:3:2

A,B3 CU® B H HIEER &, [STel ar e arurd

T A IS SUTd 9 QT FUId ST N |
A, B & C are partners in a firm, sharing profits in the ratio of 3/6 : 2/6 : 1/6 . D is admitted for 1/6th
share in profits of the firm. Calculate New Profit Sharing Ratio & Sacrificing Ratio.

o lw

2.8 Do ¥ - R & forg waw €



Ans: NPSR 15:10:5:6 SR3:2:1
8. AaBwmﬁﬁmﬁlczﬁwﬁi%@%mmﬁ%lwwﬁﬂmmaw
JIUTE ST B |

A and B are partners in a firm, sharing profits of the firm. C is admitted for 1/4th share in profits of the

firm. Calculate New Profit Sharing Ratio & Sacrificing ratio.
Ans: NPSR3:3:2 SR1:1

9. Aanmﬁﬁmévﬁzz1ﬁwﬁwﬁmmﬁlcﬁmﬁﬁ%%ﬁ$%{qm
STTEIC S YIw & g D &1 i # 10% R & fow yawr < €ID & yae & dre a1 o farere
U ST PRI?

A and B are partners in a firm, sharing profits in the ratio of 2 : 1. C is admitted for 1/4th share in
profits of the firm. After admission of C, D is admitted for 10% share in profits of the firm. Find New

Profit Sharing Ratio after admission of D.
Ans: NPSR 18:9:9:4

10.AaBRf€5qw‘ﬁﬁwrs?|a’R%a’r3:2$m§wﬁmﬁwmﬁ‘§|cﬂnﬁﬁ§%@f$%ﬁm

AT &1 CHT A @ B ¥ a_7aR 9N WIS BT © | =91 T fRTe SIguTd d &N Sigurd 1d &l |

A and B are partners in a firm, sharing profits in the ratio of 3 : 2. C is admitted for 1/5th share in

profits of the firm which he acquired in equal proportions from both A & B. Calculate New Profit

Sharing Ratio And Sacrificing Ratio.

Ans: NPSR5:3:2 SR1:1
11.A,Bacwmﬁﬁﬂ@3ﬁéﬁh3:2:1$a§wﬁwﬁmﬂ:{mﬁ§|Dwﬁém$mm

HXl & | 98 AUl BT A, Bd C 9 SaR—aRIaR YIS HRl & | 931 & fIarsrsT arura s &7 |
A, B & C are partners in a firm, sharing profits in the ratio of 3: 2 : 1 . D is admitted for 1/6th share in
profits of the firm which he acquired in equal proportions from A,B & C. Calculate New Profit Sharing
Ratio. Ans: NPSR8:5:2:3

12.A 9B 3 : 2 & IuId # o™ fG9Io & Y AEIEHR %‘ICWﬁ%%ﬁﬂ#%ﬁWW%IC&W
BRI AT B W 2:1 & AU H ISl HRaAl & | 74T & (G961 SFUTd i1 T |
A and B are partners in a firm, sharing profits in the ratio of 3 : 2. C is admitted for 1/4th share in

profits of the firm which he acquired from A & B in the ratio of 2:1. Calculate New Profit Sharing
Ratio. Ans: NPSR26:19:15

13.AaBwﬁﬁa@m%mﬁs:zzﬁa@mﬁﬁwwmﬁlﬁcﬁwﬁ%%@r@%mm
d g1 C 391 Q¥ fdr B & OISl Ral 21 A1 A fATT U S $R|
A and B are partners in a firm, sharing profits in the ratio of 3 : 2. C is admitted for 1/5th share in

profits of the firm which he acquired entirely from B. Calculate New Profit Sharing Ratio.
Ans: NPSR3:1:1

14.AaBwmﬁﬁﬂ@m%‘aﬁ:f:5¢a§qmﬁwﬁrmmaﬂﬁglcﬁmﬁf%%qﬁa%ﬁﬂméﬁ
%‘IC%%WA@ﬂ%%WBﬁWW%IWWW&;WGareu'l U ST B |

A and B are partners in a firm, sharing profits in the ratio of 7 : 5. C is admitted for 1/6th share in
profits of the firm. C acquires 1/24 from A and 1/8 from B. Calculate New Profit Sharing Ratio &
Sacrificing Ratio. Ans: NPSR13:7:4 SR1:3

15.A @ B U9 o # WK & W3 ¢ 1 @ o ¥ @ R avd #1C @1 e 39§ o R a1 =
BWWW%C%U&ﬁWW%lWW?&HM#d{quﬂrulll U ST BN |




A and B are partners in a firm, sharing profits in the ratio of 3 : 1. A new partner C is admitted A
surrenders 2/3 of his share & B surrenders 1/3 of his share in fayour of C. Calculate New Profit Sharing
Ratio & Sacrificing Ratio. Ans; NPSR3:2:7 SR6:1
16.A T B U BH & WEGR 8 Wl 2 : 1 & 3Gud # o™ fawo &ed €1C &7 gaer <o € R ey # 9

1 1 .
;ﬂ'ITTETBm%@w;ciﬁqﬂﬁwmglwwﬁmaﬁmanWWI

A and B are partners in a firm, sharing profits in the ratio of 2 : 1. A new partner C is admitted. A
surrenders 1/3 from his share & B surrenders 1/3 of his share in favour of C. Calculate New Profit
Sharing Ratio & Sacrificing Ratio. Ans: NPSR3:2:4 SR3:1

17.A,BHCQ$W&T§W%‘G|?5:3:2$agmaﬁwﬁwwﬁ%®ﬁwﬁﬁ%%@$ﬁw

TR <l & | C T fRRRT qdad Xe | A1 AT TSt SiquTd S R |

A, B & C are partners in a firm, sharing profits in the ratio of 5 : 3 : 2 . D is admitted for 2/10 share in
profits of the firm. C will retain his original share. Calculate New Profit Sharing Ratio.

Ans: NPSR15:9:8:8

18.AHBwwﬁﬁﬂ@wﬁﬁcaDﬁwﬁngagﬁwwméﬁﬁlwwﬁnﬂw

U ST |
A and B are partners in a firm, sharing profits. They admitted C & D for 1/5th and 1/6th shares in

profits respectively. Calculate New Profit Sharing Ratio. Ans: NPSR19:19:12:10
19 A.Ba3C T3 % § ARGR & 91 3 : 2 : 1 & Igud A o 7o @=ad D &1 w9 <4 8, D o

%@Eﬁriﬂmcﬁmﬁaﬂm%Am%@ﬁl—iwaBWWW%WDa%wﬁWWﬁ

T | T A TS ST 9 RN SR S BN |
A, B & C are partners in a firm, sharing profits in the ratio of 3: 2 : 1 . D is admitted as a new partner.
D acquires % of his share from C and A surrenders 3/10 of his share and B surrenders 1/10 of his share.
Calculate New Profit Sharing Ratio & Sacrificing Ratio.
Ans: NPSR 63:54:19:44 SR 27:6:11

oERTcH® ¥¥ (Short Answer type Questions)

1. U T YaRIG AIRER §RT U ARDRI BT Seerd BHIfow |
State the rights acquired by a newly admitted partner.
2. AN WIS @l A7 Yo ®d @1l adl g S 87
Why Profit and Loss Adjustment account or Revaluation Account is prepared?
3. Efd & wWeu @ TUET T Ui 99 & ST M B 3 a6 & U B AER W B Sl § | AW IH UBR o
£-330,000, 325,000, T40,000, ¥35,000, T20,000 HH @I TR &1 TV HIVT |
Goodwill of the firm is valued at three year’s purchase of average profits of last five years. The firm

earned the following profits during last five years : 30,000, ¥ 25,000, % 40,000, % 35,000, T 20,000.

Calculate the value of goodwill of the firm. Ans: 90,000
4. TP BH B @Ifer T TR N7 & I oM F <1 99T HY B R W B Sl

qy 2013 2014 2015 2016

o /BT 10,000 16,000 Z(,000)8TH  %12,000

B @ =y @ o BT |
Goodwill of the firm is valued at two year’s purchase of average profits of last four years. The firm
earned the following profits during last four years : 2013 - 10,000, 2014 ¥ 16,000, 2015 - ¥ 6,000
(Loss), 2016 =% 12,000. Calculate the value of goodwill of the firm. Ans: ¥16,000
5. U6 BH & U8 4 a9l & amv—aii o o)
2013 % 20,000 (Aec @ o % 4,000 IMHA)
2014 Z—(2,000) (eremaT=g &1 =Sl @1 TR ¥16,000)
2015 3 17,000 (&ifo™ IET@ BT Hegid 32,000 ¥ 3ffe fHar 1)




10.

11.

2016 T 19,000 (Fe= fama & & 22,000 IMFHG)
e ol @ <9 YA & SR gR =AM B T b |

Profits of the firm for last Four years-
2013 —3%20,000 (including % 4,000 speculative profits)
2014 — Loss T 2,000 (after charging an abnormal loss of ¥ 16,000)
2015 -%17.000 ( closing stock overvalued by T 2,000).
2016 —319,000 (including profit on sale of machine 3. 2,000)

Goodwill of the firm is valued Three times of average profits of last Four years. Ans: 348,000
UF BH B A Uid I8 B A H UPR 2 |

EL 2012 2013 2014 2015 2016
M (3) 10,000 12,000 15,000 19,000 29,000
R 1 2 4 5

3
@I BT Jog FIRT T o & 3 I & & & FER W DI |

Profits of the firm for last five years:

Year 2012 2013 2014 2015 2016
Profits(in¥) 10,000 12,000 15,000 19,000 29,000
Weight I 2 3 4 5

Calculate value of goodwill on the basis of three years purchase of weighted average profits.

Ans: 760,000
Uh HH @1 Yol 22,00,000 & 9 AT M 30,000 HHRI YT &R 10% | @I &1 Hod Afdemil & O
987 & FHY B MR R S IO |

Capital of the firm is ¥ 2,00,000. Normal Rate of Return is 10% and average profit of the firm is

30,000. Goodwill is to be valued at three years purchase of super profits. Ans: 330,000

Uh BH @1 Yol 31,80,000 2 d 3ATE @M T 24,000 & | WHIRI YA &R 12% AFEG 8¢ Yoilexr [ &
@i &1 g S1d S |

Capital of the firm is ¥ 1,80,000. Normal Rate of Return is 12% and average profit of the firm is
%24,000. Calculate value of goodwill by capitalisation method. Ans: % 20,000

A dB ud w H aEer £ w9 o fafaifid 9o 7 500,000 8 iR W y@m @ &% 10% s €
TSP ARIGR &l diffes dq= 28,000 & | a4 280,000 & | 3l & YSibRoT & MR W @i Y
T T |

A & B are partners in a firm. Capital employed of the firm is ¥ 5,00,000. Normal Rate of Return is 10%

and average profit of the firm is ¥ 80,000. Salary of each partner is ¥ 8,000 pa. Calculate value of
goodwill according to capitalisation of super profit method. Ans: %1,40,000

X Y @ Farfora Uoll HARi30,000 9 T 25,000 %lZE%aTﬁﬁii%@r%%Q?zs,ooo Ol et 2|
Sy @ T B |

Adjusted capital of X and Y is ¥ 30,000 and ¥ 25,000 respectively. Z bring in ¥ 25,000 as capital for %4
share of profits in the firm. Calculate value of goodwill. Ans: ¥ 20,000
31—12—16 @] FHIS & dci 99 & e § A @ B @1 Yol $HH9: T 40,000 9 T 30,000 & TAT A HaY
ﬁ?zo,ooow*e‘m%lCﬁm@ﬁﬁi%@ﬁmﬁhw Jdel Rl & AR YSH T 50,000 <R T 2 |
I B VAT B |

Balance of Capital A/cs of A & B were T 40,000 & % 30,000 respectively. For the year ended 31 — 12 —
2016. Balance of General Reserve Stood at ¥ 20,000. C is admitted on 1 — 01 -2017 for 1/3rd share in

profits. C brings in ¥ 50,000 for his share of capital. Calculate value of goodwill.
Ans: 7 10,000



12.

13.

14.

15.

16.

17.

18.

fpe w4 & siffrem T 10,000 £ A% 5 a9 & folg 10% @Mol &R R TH S B qAf¥@d! S g0HH oo
3791 & A1 @ &1 Jou B0 |

Super Profit of a firm is ¥ 10,000. The present value of an annuity of ¥ 1 for five years at 10% per
annum may taken at 3.791. Find the value of goodwill of the firm. Ans: 37,910

fel ergara &1 Ha ufder  3,50,000 T EAT| §H JGHT @ FHRTIT 34,00,000 9 1T 780,000 & o
wIf @1 Heu &1 |

Purchase consideration of a business 1s determined at ¥ 3,50,000. Assets were T 4,00,000 & Liabilities
were worth ¥ 80,000. Find the value of goodwill of the firm. Ans: T 30,000

AT B UF WA H 2: 1 D U § Al BT dfed gY WEER § Iécﬁanﬁwé%?wéaﬂméﬁ
21C 340,000 oll 9 15,000 @ & oy g ooy arar € 9 B w@ifa @1 Wiy el ofd €1 C & waw
@1 fafdy &1 geas! # w@nfa @A 2 30,000 W uwe BT €| mawEe ufafteat S|

A and B are partners in a firm sharing profits in the ratio of 2: 1. They admitted C as a new partner. C
brought in ¥ 40,000 for his share of capital and ¥ 15,000 as Goodwill for 1/6" share in profits of the
firm. Goodwill withdrawn by A & B from the firm. On C’s admission goodwill appeared in the books
of the firm at ¥ 30,000. Record necessary Journal entries.

A B U@ WEE B A 32w Reor @ €14 C @1 aml @ - e @ g waw 2 #) C
U1 OXT BT A & Ur Rl € 1CZ 50,000 Yol G % 10,000 A @ forg e dd) anar €1 C & yder
@1 RISy @1 gwe! F iy @ 225,000 W IqmET 74T € | A ufafted Hiferg |

A and B are partners in a firm sharing profits in the ratio of 3 : 2. They admitted C as a new partner for
1/5th share in profits of the firm. C acquires his entire share from A. C brought in % 50,000 as his capital
and ¥ 10,000 as goodwill. On C’s admission goodwill appeared in the books of the firm at . 25,000.
Record necessary Journal entries.

ATB3:2d gu o RV axd gY WEIGR & 4 C 9wl @ - R @ g waw 29 €1 C
%uﬁwaﬁfﬂﬁ:ﬁrmﬁaﬁw%#zsooomwﬁmaﬁmﬁ%lC?‘rmi&ha@rfa%fmﬁm
wraferdl &1 IR fRAT| IR % 10000 ¥EiB 15,000 SUYST B YN FRA & fo mavae wfafteat
BIfSTT |

A and B are partners in a firm sharing profits in the ratio of 3 : 2. They admitted C as a new partner for
1/5" share in profits of the firm. On the date of C’s admission goodwill was valued at  25,000. C
contributed the following assets to his capital and his share of goodwill. Debtors ¥ 10,000 & Stock ¥
15,000. Record necessary Journal entries.

ABaCud ¥ #3:2: 13 U § o fvrem qvmngsmw%“I?lDaﬁaTﬁﬁgf%Wﬁﬁw
yaer g0 €1 D 9oft & faw % 1,00,000 T % 45,000 AT @ g wiaw amar € | emavaw wfaftear §ifvig |

A, B and C are partners in a firm sharing profits in the ratio of 3 : 2 : 1. They admitted D as a new
partner for 1/7th share in profits of the firm. D brought in ¥ 1,00,000 as his capital and ¥ 45,000 as
goodwill. Record necessary Journal entries.

L,Mdem N U6 % # GEER 8 iR @M & 221 & 3Fud | dfed & | 9 Fofg o & f5 wlaw # N
Pl A H 1/4 BRI Aol | BH BT @G BT Jedidd T 80,000 AT AT A7 | GEG! H AR T 20000
fewarg g €1 ufEre oFe § gfaftedl Sifow |

L, M and N are partners in a firm sharing profits in the ratio of 2:2:1. They decided that N will get 1/4™
share in future profit. Goodwill of the firm was valued ¥ 80000. Goodwill already appeared in the books
¥ 20000. Pass necessary journal entries.

Ans: 220000 3 =Y 2 : 2 - 1 B U F aufeRad grfY; 2. L% (SR) M 1/40 (SR), N 2/40 (GR)




19. T, aTE, AT OIS WIEIER o AR @1 &1 5 : 3 : 2 & AU H dfed o | I i form & 1—04—2017
G A BT dedRT 2 0 3 : 5 @ U H BN | 9 FEIfeiad & gvrg B S99 JRIP Hed BT dacl {0
fem =med 2

1. @M @ g1 @rdr % 24000. 2 fagme Sawh @ 2 12000 siféa wwrEse ufafte s |
X, Y and Z were parttners sharing profits in the ratio of 5:3:2. They decided to share future profits in
the ratio of 2:3:5 with effect from 1-04-2017. They decide to record the effect of the following without
affecting their book value.

1= Profit and Loss A/c ¥ 24000, 2. Adevertisement Suspense A/c ¥ 12000. Pass the necessary

adjustment entry.

Ans: Z(Dr.) % 3600, X (Cr.) ¥ 3600
fre=rers weT (Essay type Questions)

1. =3 9IEER & Ua¥ | R GAsA 87 w@AIfq @& 7orer @ fafi At a1 Serevor wfta a@snsy |
What is meant by admission of a partner? Explain and illustrate the different methods of calculation of
goodwill.

2. YTHeAIB @rar a1 87 g§ 9l SR Sl 87 U Y WIEER $ Uy b HHI GERel & gaHedied ud
<@l @ g ek 9§ st o gfafieal dfr)

What is Revaluation account? Why is it prepared? What entries are passed for revaluation of Assets &
Re-Assesment of Liabilities on admission of a new Partner?

3. U T AEER & YA b GHY B GEHRNY A 87 IID AN B DlA—dlF ¥ FARIGH B S
7?7 aofF FIfTg |
What problems occure at the time of admission of a new partner, for which what adjustments are made?
Explain.

4. RO GG Wi 1 87 U8 YA AP @ H R ger e 87
What is Memorandum Revaluation Account? How does it differ from Revaluation Account?

5. fodft 9ERR & U9 & WA ARG AS- 26/ Indian AS-38 @ SER I & oi@id HdeR Iard?
State the treatment of goodwill at the time of admission of a new partner as per accounting Indian AS-
26/ Indian AS-38.

JEAGATHD UL B IR
¥ 9. 1 2 3 4 5 6 7
BRI B € B C A B A

Jifé®d g¥9 (Numerical Questions)
1. AT9B U& BH H 3 : 1$$§wﬁwﬁmﬁmmw§qwmw%‘|écﬁmzﬁr e & forg uder

éﬁ%‘lCfﬁmaﬁﬁf@ﬁtﬁﬁaﬁ@ﬁ?momWﬂwﬁmﬁﬁlﬁquﬁﬁuﬁﬁﬁ@r%a%
dgied B glaftear Qi |
(a) C a9 2wy ) @ Fofl @R & A @ B @1 <ar €1 (b) C oo+ ey @1 @&ifa s o 3 € |

(c)Caﬁ%ﬁaﬁwﬁﬁmﬁww%‘aBmﬁ%ﬁﬁ%wﬁwﬁﬁwéﬁgl(d)c

3+ Ry @t =iy # ¥ % 6,000 THE B AT 21 (e) C 3+ By &) @iy FH iy 71ET I 21

A & B are partners sharing profits in the ratio of 3 : 1. They admit C for 1/4™ share in profits of the
firm. Goodwill of the firm is valued at 40,000 on the date of admission of C, Pass Journal Entries in
the following cases:
(a) C pays for his share of Goowill privately to A & B. (b) C brings his share of goodwill in cash. (¢) C
brings his share of goodwill in cash. A & B withdraws half of the goodwill. (d) C brings 36,000 in cash
out of his share of goodwill. (e) C is unable to bring his share of goodwill in cash.

2.3 3R 9 U AgHR & Al bl 5:3 H dfed Bl 9 B M A 1/4 B & fog wifd axa 1, & &

3 U7 9 gNT SRR a1 S| 60 & 9del & 999 B4 &1 frear 1 g o

9 10
D C

N |ee




A and B shares the profits of a business in the ratio of 5: 3. They admitted C into the firm for 1/4"
share in profits which is to be contributed equally by A and B. On the date of admission of C the
Balance Sheet of the firm was as follows:

Liabilities Amount ¥ Assets Amount ¥

A's Capital 50,000 | Goodwill 10,000
B's Capital 30,000 | Machinery 35,000
General Reserve 16,000 | Furniture 15,000
Creditors 14,000 | Stock 10,000
Employee’s Provident Fund 10,000 | Debtors 10,000
Bank 40,000

1,20,000 1,20,000

" & Y9 bl wd e o — (1) | orue B @l ol qur @it & ford 330,0009TTIT Ud RIA HISe Rl §RT
el wfa wH | frdrer off Srel | (2) W @ @ @1 Jeuied Af¥er 28,0009 O a8 @ B B avIEx
far ar €1 (3) weiF, weireR Td e &1 e HAe: 230,000, 212,0009d 28,0009 fmar war €1 (4)
Ud UTedh (S9dT Wil gdd 01 74 forar 737 o g8 Z1,200e+ & oy HeAd 8 Sl 2| SuWRIdd & SER W
qTHedId W, AIEER| @ Yol @ 9o 98 B9 @l facer aasy| Ife I8 @@ fhar o 5 wwRel
STl B QRE g W) & femmn 9n ar wRome gaedied @, Yo @rd 9 ficet asd |
Terms of C's admission were as follows: (i) C will bring 30,000 for his share of capital and goodwill. Half
of the goodwill shall be withdrawn by the old partners. (ii) Goodwill of the firm has been valued at 3 years'
purchase of the super profit ¥8,000. (iii) Machinery, furniture and stock are revalued at ¥30,000, 212,000
&38.,000 respectively. (iv) An old customer whose account was written off as bad debts has promised to
pay ¥1,200. From the above prepare Revaluation account, Partners' Capital accounts and Balance Sheet of
the new firm. If it has been agreed that Assets and Liabilities are to be shown at old values. Prepare
Memorandum Revaluation A/c, Partner’s capital A/c and Balance Sheet.
Ans. (i) Loss on revaluation Z8,800; A's capital ¥49,750; B's capital 30,450; C's capital 324,000,

B/S %1, 28,200; (ii) B/SX1, 37,000; Capital A/c : A ¥54,250; B 332,550; %26,200.
3.0a9 9 a1¥ 2:19 guTd # o dfed gY 9eeR ¥ | 31974, 2017 ®1 S B & fager i ueR R

X and Y are partners sharing profit in the ratio of 2: 1. Their Balance Sheet as on 31st March, 2017 is as

under:

Balance Sheet (as on 31* March 2017)

Liabilities Amount ¥ Assets Amount ¥

Creditors 30,000 | Bank Balance 17,200
Outstanding Salary 1,000 | Debtors 16,000

Workmen Compensation Reserve 6,000 | Less:Provision 1,200 14,800

General Reserve 9,000 | Stock 43,000

Capital: Plant & Machinery 42,000

X 60,000 Building 36,000

Y 50,000 1,10,000 | Goodwill 3,000

1,56,000 1,56,000

%Uaga%ém?ﬁ%%ﬁ@@ﬁ%%T@f?%%mqﬁﬁmﬁmﬁﬁagmﬁmmlwmﬁﬂ
(i) oFe Yull & WU H 36,000 FHg =1 214,000 Heg & ¥4 foo & 3fer omar g | (i) BH & @I BT adH=
Hqed %12,000 €| oS 30 2y &1 @I g @ € | (i) SeR R g = e 10% 9 gern §
TAT G 3G da B AEIHAT a1 21 (iv) Fu= T 7 5% § Sereifea far war € qer <efmr
32,400 9§ 9orT W | (v) 999 &1 Jed 10% 9 &H Jedifed €1 (vi) 34,000 & oFeR uferifad &=+ €1 (vii)
FHAR &l Hag & favg 39,000 &1 TR Fi¥Ea & T £

oS & U W M BN FHRISH @rdr, 9reier) & Yol @rd ud fesr 9918u |

They admitted Z in the firm from 1st April, 2017 for 1/4th share, which he will receive from X. Following
decisions were taken on that time:(i) Z brings ¥36,000 in cash and share of Ram Ltd. Worth 14,000 as his




capital. (ii) The present value of firm's goodwill is ¥12,000. Z brings his share of goodwill in cash.
(iii) Provision for Bad Debts on debtors be increased to 10% and outstanding salary is not required now.
(iv) Plant and Machinery overvalued by 5% and stock to be increased by ¥2,400. (v) Building undervalued
by 10%.(vi) Sundry Creditors were written back by ¥4.,000. (vii) Liability against Workmen Compensation
determined at ¥9,000. Prepare Profit & Loss Adjustment Account,Partners' Capital Accounts and Balance
Sheet on the admission of Z.
Ans : (Profit on Revaluation %6,000; X's capital ¥71,000; Y's capital ¥54,000; Z's capital ¥50,000;
B/S 32,10.000.)
4.Td, TH OUT UF U BH & WISGR o @1 3: 2: 1 & 3rguid § & dfed 9| 31-3-2017 &1 S9ar Rerfa
faaRor f91 gR 9 o :
L, M and N were partners in a firm sharing profits in the ratio of 3: 2: 1. Their Balance Sheet on 31.3.2017
was as follows:

Balance Sheet of L, M and N As on 31 March, 2017

Liabilities Amount ¥ Assets Amount ¥

Creditors 1,68,000 | Bank 28,000
General Reserve 42,000 | Debtors 40,000
Capitals: Stock 2.,20,000
L 1,20,000 Investments 60,000

M 80,000 Furniture 20,000

N 40,000 2,40,000 | Machinery 70,000

Profit & Loss 12,000

4,50,000 4,50,000

SURIG for DY T BT T 74T WILQR G917 41 a2 T8 o1 feram fo -

(i) T, T, G 7 3T &1 Fa1 AT ur 2: 2 : 1z 180T (i) B9 &) @nfa &1 geaied 21,80,000 faam rar
TAT 31 AU W Pl @Ifa (MfFe) Fahg o | (i) el &1 I9R g 336,000 27| (iv) 7ei=RT @1 258,000
6 HeTT SRATT | (v) 6,000 BT UH SFGR STAT ol BT 3 99 J[afeRad fhar WA | (vi) 5 # e &
1/6 ¥ & forg off anmguifaes i R | (vii) S8R 0R 5% @1 &% ¥ wfers o & folg e o 2% @t
X ¥ SRl W g § oy R fbar S | giHedicd w@rdr, wrsent & Yofl @i aur geifod wd @
Rerfey faavor dar s |

On the above date O was admitted as a new partner and it was decided that:

(i) The new profit sharing ratio between L, M, N and O will be 2: 2: 1: 1. (ii) Goodwill of the firm was
valued at %1,80,000 and O brought his share of goodwill (premium) in cash. (iii) The market value of
investments was ¥36,000. (1v) Machinery will be reduced to ¥58,000. (v) A creditor of 36,000 was not likely
to claim the amount and hence was to be written off. (vi) O will bring proportionate capital so as to give
him 1/6th share in the profits of the firm. (vii) Provision for doubtful debts to be maintained @ 5% and
Provision for discount on debtors be made @ 2%. Prepare Revaluation Account, Partner's Capital Accounts
& Balance Sheet of the New Firm.

Ans. Loss on Revaluation 332,760; B/S %4.82,688; Capital A/c LZ1.48,620; M %79,080; N %39,540;
0353,448.

509 @ 5:3H v dfed 21 S8 A B A H LueT & v A paw e o f6 v @ gw
IRIER—aRTER < BN | ¥ & Ha¥ & Rl qd A &1 frear fHeifed @ -

A and B shares the profits in the ratio of 5: 3. They admit C into firm for a 1/4th share in the profits to be
contributed equally by A and B. Before admission of C, Balance Sheet of the firm is as follows:

Balance Sheet
Liabilities Amount ¥ Assets Amount T
A's Capital 40,000 | Machinery 30,000
B’s Capital 30,000 | Furniture 20,000
Workmen Compensation Reserve 4,000 | Stock 15,000




Provision For Doubtful Debts 1,000 | Debtors 15,000
Creditors 2,000 | Bank 7,000
Provident fund 10,000

87,000 87,000

A @ Y9 W AT o9 R

(i) 9 30,000 o @ wifd & R & forg @ I(i)wd & @=fa fed aR avf & oiga siffremr & a9 73
& AR W Heuifhd &l 8| fUed IR aul &1 sf|a @ 220,000 & wefs RfFfe §oh w® 9w o
212,000 €1 (iii) B¥ileR &1 Hed 36,000 ¥ a1 8, Sdfh ¥eid & Jeu 32,000 9§ &H oo € | wigsy Afy #
?1,0003@?1 N 2 (iv) 0 SeR ares €1 (v) FEerd afagft dwu @ favg 22,000 @ e Hied
foar ar €|

YT H @, WIsER! @ Yol @i vd T B4 &1 frear (R Hife |

Terms of C's admission were as follows: (i) C will bring 30,000 as his share of Capital and Goodwill.
(i1) Goodwill of the firm has been valued at 3 times of the average super-profits of last four years. Average
profits of the last four years are 320,000, while the normal profits that can be carned with the capital
employed are Z12,000. (iii) Furniture to be appreciated by ¥ 6,000 and the value of stock is to be reduced by
32,000. Provident fund be raised by ¥1,000. (iv) All debtors are good. (v) Liability against Workmen
Compensation Reserve is determined at 2,000.

Prepare Revaluation Account, Partners' Capital Accounts and the Balance Sheet of the new firm.

Ans. Profit on Revaluation ¥4,000; Capital A/c: A 47,500, B %34,500 & C %24,000. B/S %1,21,000.

6. 31 A1 9 &1 31 |rd, 2017 &1 Rieer 7= 2 & av—=ifa &1 3: 1 4 *vifed &va 2

The following is the Balance Sheet of A and B, who are sharing profit in the proportion of 3: 1 on 31st
March, 2017:

Balance Sheet As on 31st March, 2017

Liabilities Amount T Assets Amount I
Creditors 39,700 | Cash at Bank 22,600
Provision For Bad Debts 300 | Bills Receivable 3,000
General Reserve 4,000 | Debtors 16,000
Capital: Stock 20,000
A < 30,000 Office Furniture 1,000
B Z 16,000 46,000 | Land & Building 25,000
Advertisement Expenses 2.400
90,000 90,000

1 3¥iet, 2017 BT 9 =1 27, TR ¥\ B WIEER) # A BRA P EAd 8 Ol &
(i) s @l # 1/5 97 & forg 214,000 G5t 9 =1y & @mgem | (i) B9 @1 w1t &1 gegicea 20,000 far |
(iii) TTh T AR BT A 10% & B a1 SR @2 49eRl R 5% &1 &% & e o & fory wraems
R SR (iv) Y 3R Waq & g 20% ¥ 9811 ST | (v) 9EeRl & Yofl @ & 99 AEerR & ol
@ AU F FERITG fbar SR den {6 onfdre ar S B IS el Wi A gxarRg fBar S |
YT W], WISIERI & Yol Wil a7 95 %4 & f&acer 918y |
They agreed to take C in partnership on Ist April, 2017 on the following terms: (i) C will pay 314,000 as
his capital and goodwill for 1/5th share in the future profits. (ii) That the goodwill of the firm be valued at
%20.,000. (iii) The stock and furniture will be reduced by 10% and the provision for doubtful debts will be
created @ 5% on debtors. (iv) Value of Land & building be appreciated by 20%. (v) That the capital
accounts of the partners will be readjusted on the basis of new partners' capital and any excess or deficiency
transferred to their current accounts. Prepare Revaluation account, Partner’s Capital accounts and Balance
Sheet of the new firm.
Ans. Profit on Revaluation 2,400; Capital A/c ; A Z30,000; B 10,000 & C 10,000; B/S 1,04,500.
7.31 3R 9 &P 3: 29 37U A dfed @ | 31 Ard, 2017 &1 I@1 feeT i R o -

A and B distributes profit in 3 : 2 ratio. On 31st March, 2017 their Balance Sheet is as follows:




Balance Sheet as on 31% March, 2017

Liabilities Amount I Assets Amount I

Bills Payable 60,000 | Cash and bank balance 25,000
Reserve Fund 15,000 | Debtors 30,000

Workmen Compensation Reserve 10,000 | Less: Provision 2,000 28,000

Capital: A 90,000 | Stock 32,000

B 40,000 | Goodwill 10,000

Building 1,20,000

2,15,000 2,15,000

1 3%, 2017 @1 791 oIl & JATER G A DI @GR F A foba

(i) AEER &1 747 3gard 2 : 2 : 1 89| (i) 9 40,000 39+ OSh & garar 2 (i) w=ie @ 12,000 9 1
fpr o, <ferer ol @ forw Ao 23,000 9o <@ SR (iv) B @) = § 9 b1 B 25,000 R
qediferd fhar S| & wrfa &1 o IR d@r €1 (v) g@ed amr @9 1,000, (vi) 96 fautell & 9o 3500.
(vii) 97 10,000 & H9 Jeifhd €1 (viii) T ARERI &7 (G S96 o o sgara 3§ enfl | Fas |
THrRITSH fdar SR T wH A el @ ud fRieer AR i |

On 1st April, 2017 C was admitted in partnership on the following conditions: (i) New ratio of partners will
be 2: 2: 1. (ii) C pays 40,000 as his capital. (iii) Stock be decreased by ¥2,000. Provision for Doubtful
debts is to be maintained up to ¥3,000. (iv) C's share in the Goodwill of the firm be valued at ¥5,000. C
brings cash for Goodwill. (v) Prepaid Insurance ¥1,000. (vi) Outstanding Electricity Bills I500.
(vii) Building undervalued by Z10,000. (viii) The capitals of all partners will be in their profit sharing ratio.
Adjustment is to be done by cash. Prepare CapitalAccounts and Balance Sheet of the new firm.

Ans. Profit on Revaluation ¥7,500; Capital A/c A %80,000; B 240,000 & C %40,000. B/S %2,60,500; Cash &
Bank Balance %72,500.

8.7 Ud U U BH # WHI AgUTd # WeER &1 31 #d, 2017 @1 ST facer et gaR 2

M and N are partners in the firm in equal profit sharing ratio. On 31st March, 2017 their Balance Sheet was

as follows: Balance Sheet (As on 31° March, 2017)
Liabilities Amount Assets Amount 3

General Reserve 8,000 [ Cash in hand 1,500
Investment Fluctuation Reserve 2,000 [ Investment 30,000
Bank Overdraft 40,000 | Debtors 57,000
Creditors 36,000 | Furniture 4,000
Capital: Stock 10,500
M 30,000 Building 30,000
N 20,000 50,000 | Patent 3,000
1,36,000 1,36,000

I=id AT B T T W EER g1 (i) SRl R 10 % aifte & ¥ ggd HU AN a9 T ol |
(ii) BTeR &7 od 25% & &F far W | (i) R &1 gea 35,000 & 9gr@r S| (iv) 3 325,000 Toi
AR e 99 ot # 1/3 R fRar s efiR 25,000 i & g | (v) U eHer 21,700 & 8§ S gd
21 9w # 39 W W B3 <ficd I A8l 86| (vi) U Heged 21 (vil) Wad &7 Jed 25% 9§ dgrar
T | WH B qed 39,000 T6 HF AT & | YR WIEER @f Yol SHI & SUR U ARG @l g |
T Ih @], WeER] & Holl @i qo foreer a9red |

They admit O in the partnership on the following terms: (i) Create provision for Doubtful Debts by 10% on
Debtors. (ii) Furniture will be depreciated by 25%. (iii) Increase the value of Investment by %5,000. (iv) O
shall bring 25,000 as his capital and his share in profit & loss will be 1/3rd and he will bring 5,000 as his
share of goodwill. (v) A creditor for 31,700 is dead. No liability shall arise in future on this account.
(vi) Patents are valueless. (vii) Building will be appreciated by 25%. Stockis reduced to 39,000. The
capitals of old partners are also to be adjusted accordingly. Prepare Revaluation A/c, Partners' Capital A/c
and Balance Sheet.

Ans. Profit on Revaluation ¥3,000; Capital A/c :

B/S %1,49,300; Cash Balance 13,500,

M %25,000; N 225,000 & O %25,000



9.3 TAT AGT UP BH B WIHGR I qAT 5 : 3 & U H o dfed o | 31-3-2017 @ S am & 1/5
d 9FT & fofg #ERT B Ush T WISIGR FA1AT| 71 14 fquTer arqure 5:3 : 2 o7 | #8%1 & a9l & 997 BH
&7 Rerfty faazor fv g & o1 -

Atal and Madan were partners in a firm sharing profits in the ratio of 5: 3. On 31.3.2017 they admitted
Mehra as a new partner for 1/5th share in the profits. The new profit sharing ratio was 5: 3: 2. On Mehra's
admission the Balance Sheet of the firm was as follows:

Balance Sheet As on 31° March, 2017

Liabilities Amout Assets Amount

Capitals Land and Building 1,50,000
Atal: 1,50,000 Machinery 40,000

Madan: 90,000 2,40,000 | Patents 5,000
Provision for bad debts 1,200 | Stock 27,000
Creditors 20,000 | Debtors 47,000
Workmen Compensation Fund 32,000 | Cash 4,200
Profit and Loss Account 20,000

2,93,200 2,93,200

el & UdY & gAY g8 fAorg o mn f

() FEwr g Uoh @ forw 240,000 @ wmfa (M) @& oras Wi @ ferg 216,000 arem, ST mar Wit
mmm#ﬁmm%ml(ii)waw%ﬂ%%ﬁz%%mmﬁmﬁl(iii)f&ﬁaﬁﬁaﬁﬁ
22,500 @1 U H& & a1 G e Bl g1 (iv) [auiell & oew f9dt & frg 33,000 &1 Wraen BRAm € |
(v) 58 & faog 3325 U &gl a0 & dSR 81 & IRIET & | SUD oY Jeae™ &R & |

SR GHAGH & UATd 3ed Tl #&< @I Yoll &I A&l &l Yoll & MR W AR &war g Rerfa
AR el dUT Had GRI Nbs olls SN Jqdl 9D YA &1 SIg | Yaqedicr @idl, AsiaR] & Yol
@M T 78 B4 b1 Refa faver tur aifory |

On Mehra's admission it was agreed that:

(i) Mehra will bring 340,000 as his capital and ¥16,000 for his share of goodwill (premium), half of which

was withdrawn by Atal and Madan. (ii) A provision of 2% % tor bad and doubtful debts was to be created.

(iii) Included in the sundry creditors was an item of 2,500 which was not to be paid. (iv) A provision was
to be made for an outstanding bill for electricity Z3,000. (v) A claim of 325 for damages against the firm
was likely to be admitted. Provision for the same was to be made.
After the above adjustments, the capitals of Atal and Madan were to be adjusted on the basis of Mehra's
capital. Actual cash was to be brought in or to be paid off to Atal and Madan as the case may be. Prepare
Revaluation Account, Capital Accounts of the partners and the Balance Sheet of the new firm.
Ans. : Loss on Revaluation Z800; B/S %2,69,000; Capital A/c : Atal %1,00,000; Madan %60,000;
Mehra’s340,000.
10. RrER T AT U BH H WEER O 97 7: 3% U H o dfed 91 1 33d, 2017 B S Hia B
BH & Al H VW & fog ue AU EERR & w4 H ufaw aRrn &fd 24,30,000 SO GOl @ fog gen
325,000 3o @i Mif| @ v & fog omar) 1 s, 2017 9 Rrex aor Afta &1 Rt vy frsmgar
o :
Shikhar and Rohit were partners in a firm sharing profits in the ratio of 7: 3. On Ist April, 2017 they
admitted Kavi as a new partner for 1/4 share in profits of the firm. Kavi brought ¥4,30,000 as his capital
and %25,000 for his share of goodwill premium. The Balance Sheet of Shikhar and Rohit as on 1st April,
2017 was as follows:

Balance Sheet of Shikhar and Rohit As on 1st April, 2017

Liabilities Amount ¥ Assets Amount %

Capitals: Land and Building 3,50,000
Shikhar 8,00,000 Machinery 4,50,000




Rohit 3,50,000 11,50,000 | Debtors 2,20.000
General Reserve 1,00,000 Less: provision 20,000 2,00,000
Workmen's Compensation Fund 1,00,000 | Stock 3,50,000
Creditors 1,50,000 | Cash 1,50,000
15,00,000 15,00,000

g vty forar war & @ (i) 4% qen wea &1 Hea 20% | gerar sy | (i) 9999 &1 qea 10% 3 &4 b
ST | (iii) SFERY efagfd AR @ war 250,000 Fifdem @ T (iv) RreR gur ARk ) G B gRr @
g ol & 3MER W GHRIE &l STl iR g@d foU STaedsargaR Ueg ardl SIQ il $HEI Y
foar SO | g T, AR @ goil @ 9 A% BH @1 Reftr fJeRer R s |
It was agreed that : (i) The value of Land and Building will be appreciated by 20%. (ii) The value of
Machinery will be depreciated by 10%. (1i1) The liabilities of Workmen's Compensation Fund was
determined at ¥50,000. (iv) Capitals of Shikhar and Rohit will be adjusted on the basis of Kavi's capital and
actual cash to be brought in or to be paid off as the case may be. Prepare Revaluation Account, Partners'
Capital Accounts and the Balance Sheet of the new firm.
Ans. Profit on Revaluation 25,000. Capital A/c : Shikhar ¥ 9,03,000; Rohit ¥ 3,87,000; Kavi ¥ 4,30,000;
B/S % 19,20,000; Cash Balance ¥ 5,45,000.
11. AT B Ud % & W1RIGR € 3R @NT &1 3:2 % 3gurd ¥ dfed 81 9 1 aud 2017 &1 C & anT # 1/5
e & fory wmEerd # afffera @va €1 99 2 &1 I7e Refy farvr g9 ysrR o -
A and B aren partners in the firm sharing profit in the ratio of 3 : 2. On 1™ April 2017. They admit C in
new firm for 1/5 share in profit. Their balance sheet was as follows:

Balance Sheet As on 31* March, 2017

Liabilities Amount3 Assets Amount %
Capital Accounts: Goodwill 5,000
A 60,000 Plant & Machinery 65,000
B 50,000 1,10,000 | Furniture 15,000
General Reserve 10,000 | Investments 20,000
Sundry Creditors 50,000 | Stock 20,000
Sundry Debtors 30,000
Cash in hand 15,000
1,70,000 1,70,000

C &1 fforRaa wrdl o= affaford far mar o - (1) C 340,000 §oit & 3R T15,000 @0 & g | (i) 9IsiEr
Aqfqsg H @i @1 5:3:2 @ 3urd A dicd | (iii) M & gog 4 20% @ gfg @ Sl iR peAER 4 10%
&7 B9 A S| (iv) T Wed, R BH 31 22,000 <7 9, fRarferar @ T ofk 9w v TEl e umee |
(v) o9 eRl @ 2,000 B9 fhy Smer| (vi) v&d & 21,000 & g1 fda @ forw wraems fear o (vii)
e suifSfa (accrued) &t % 2,000 o] (viii) WEERT @ Goll S9a @ 9o g | 8Rfl | s9a
fore wurareE FHd ¥ O S | grHedis @rdl, WEerl & Yol @ ud T8 BH #1 fRiesr dur S |
C was admitted on the following terms: (i) C is to bring capital 40,000 and goodwill 215,000 (ii) Partners
agreed to share the future profits in the ratio of 5 : 2 : 3 (iii) Investments will be appreciated by 20% and
furniture depreciated by 10% (iv) One customer who owed the firm 32,000 becomes insolvent and nothing
could be realised from him. (v) Creditors will be written off ¥2,000. (vi) Outstanding bills for repairs 1,000
will be provided for. (vii) Interest accrued on investment ¥2,000. (viii) Capitals of the partner’s shall be in
proportion to their profits sharing ratio. For this, adjustment be made through cash. Prepare Revaluation
Account, Capital Accounts and the Balance Sheet of new firm.

Ans. : Profit on Revaluation ¥3,500. Capital A/c: A %1,00,000; B %60,000; C %40,000.

12. 59 iR fag 3 :2 o 3qgurd d v dfed 8¢ wEieR €1 31 4/ 2017 & S e s R o ¢
Ishu and Vishu are partners sharing profits in the ratio of 3 : 2. Their Balance Sheet as on 31st March 2017
was as follows: .




Balance Sheet as on 31° March, 2017

Liabilities Amount? Assets AmountZ

Creditors 66,000 | Cash at Bank 87,000
General Reserve 10,000 | Debtors 42.000

Investment Fluctuation Fund 4,000 | Less: Prov. For D.D. 7,000 35,000

Capital : Investment (Market Price 19,000) 21,000

Ishu 1,19,000 Buildings 98,000

Vishu 1,12,000 2,31,000 | Plant & Machinery 70,000

3,11,000 3,11,000

Hrer @ 39 fem 1/6 T W e wral oR wfafera o ¢ (i) $eg 356,000 S Ry @1 golt amedt | (i) B @t
@I ¥84,000 oY T iR +re] g wifey &1 RRvar e arg | (i) wie @ 7 @1 20% 997 fear Wy |
(iv) e9eR 91 ST4 21 (v) 39,800 &1 aR@ S oFeRi H e 8, W A8l 47 U] (vi) AL &1 ISl &
IR TR 3 3R B Yol &1 FHRNGA &R qAT BHI A7 DA B FAdhe H R B | YDA @l
IEERI & Yol WA T ®H & GRS & arg Ry faewor gam—
Nishu was admitted on that date for 1/6th share on the following terms: (i) Nishu will bring 56,000 as his
share of capital. (ii) Goodwill of the firm is valued at ¥84,000 and Nishu will bring his share of goodwill in
cash. (iii) Plant and Machinery be appreciated by 20%. (iv) All debtors are good. (v) There is a liability of
39,800 included in Sundry creditors that is not likely to arise. (vi) Capital of Ishu and Vishu will be adjusted
on the basis of Nishu’s capital and any excess or deficiency will be made by withdrawing or bringing in
cash byconcerned partner. Prepare Revaluation Account, Partners’ Capital Accounts and the Balance Sheet
of the firm after the above adjustments.
Ans. Profit on Revaluation ¥30,800.

Capital A/c: Ishu%1,68,000; Vishu Z1,12,000; Nishu %56,000; B/S %3,92,200.
13. AT B ORIGR & | o™ &1 3:2 % guid # dfed ¢ | 31 fRFar 2016 @1 S9a1 Reiftr fdavor 59 gaR o
A and B, who are partners in a firm sharingprofits in the ratio of 3 : 2 on 31st December, 2016. The Balance
Sheet was as follows: Balance Sheet As on 31* December, 2016

Liabilities Amount? Assets Amount?

Capital Accounts: Plant & Machinery 10,000
A 10,000 Land & Building 8,000

B 8,000 18,000 | Debtors 12,000
General Reserve 15,000 | Less: Prov. For D.D. (1,000) 11,000
Workmen’s Compensation Fund 5,000 [ Stock 12,000
Creditors 12,000 | Cash 9.000
50,000 50,000

I Cdl a4 ¥ 1/5 foewy & forg ReaferRaa ol R wmsre & wffafera w=a &1 fofa for
(i) ¥ifewer o1 & forg wraem @1 12,000 9 97 fear Sie | (i) Wi & e @1 14,000 ¥ 937 fear oy 3k 4
AT WA & qed B 18,000 9% ¢T f&am wme | (iii) wwan &gt @ & iy 22,000 fFuiRa fear mar €
(iv) C &mfa &7 o= R 210,000 6 arr| (v) SWRad edias 9uT FHRie &R o & a1g,C 3+
ol & fory Ad B @1 wgad Uoll & 20% & aRT6R MR 9T | YAHeuid @, 9eieR! & Yol 9 3R C &
Y @ 918 BH BT Ref f[GaRT 98y
They agreed to admit C into partnership for 1/5th share of profits on the following terms: (i) Provision for
doubtful debts be increased by ¥2,000. (i1) The value of stock be increased by ¥4,000 and Land & Building
be increased to ¥18,000. (iii) The liability against workmen’s compensation fund is determined at ¥2,000.
(iv) C brought in as his share of goodwill 10,000 in cash. (v) C Would bring cash as would make his
capital equal to 20% of combined capital of A & B, after the above revaluation and adjustments are carried
out. Prepare Revaluation Account, Partners’ Capital Accounts and the Balance Sheet of the firm after C’s
admission.
Ans. : Profit on Revaluation ¥12,000.

Capital A/c: AT34,000; B 324,000,

CzZ11,600.  B/S83,600; Cash Balance ¥30,600.



14. P QUah B9 H WEGR €1 & @ 3 : 1 & 3uid H dfed €1 3961 Rofd ffavor g9 uaR &

P and () are partners in a firm sharing profits in the ratio of 3 :1. Their Balance Sheet was as follows:

Liabilities Amount¥ Assets Amount¥
Creditors 11,000 | Cash 4,000
Workmen’s Compensation Fund 4,000 | Debtors 16,000
Investment Fluctuation Fund 1,000 | Less: Prov. For D.D. (500) 15,500
General Reserve 2,000 | Stock 18,500
Capital A/c: Investment 6,000
P 16,000 Goodwill 4,000
Q 14,000 30,000
48,000 48,000

R & f=foriRea ol o= o9 # 1/5 R & forg wffora foear Smar 2 ¢ (i) el &1 e g 24,200 w191
1 €1 (i) Sutldia sarot @ If¥r 2200 &1 (iii) ¥fewer kol & forg wraem 2200 e €1 (iv) dHar efogfd
@ TP qd B forg 21,000 FT e fbar 9y | (v) R & & Rt & w9 # 210,000 &A1 (vi) B @ Rl
goit 50,000 FeriRea @t 18, & wEerl & o fawre srgura #§ s &1 i € | R e gol e #
B &7 Reffer faazor g=rsd |
R is admitted on 1/5th share in profit on the following terms: (i) Market value of investment is taken as
34,200 (ii) Accrued Interest amounts to ¥200. (iii) Provision for doubtful debt was in excess to ¥200. (iv) A
claim of Workmen’s Compensation for Z1,000 be provided. (v) R is to bring 10,000 as goodwill share.
(vi) Total capital of the firm was agreed as ¥50,000 to be adjusted in their profit sharing ratio. R brings his
capital in cash but capital of other partners be adjusted byopening current accounts. Prepare Revaluation
Account, Capital Accounts and the Balance Sheet of new firm.
Ans. Loss on Revaluation % 400.

Capital A/c : P £30,000; Q 10,000 & R % 10,000; B/S %68,650. Cash Balance %24,000.
15. A, B @1 C 9IEIGR € 3R oM @l 2:2:1 & 3quid # dfed g1 31-3-2017 &1 S9a1 Rerfd fJaxver g9 gar
o :
A, B and C are partners sharing profits in the ratio 2 : 2 : 1. Their balance sheet on 31-3-2017 was as
follows:

Liabilities Amount? Assets AmountZ
Creditors 30,000 | Bank 30,000
General Reserve 68,000 | Debtors 40,000
Profit & Loss A/c 30,000 | Less: Provision 2.000 38,000
Capital A/cs Stock 50,000

A 40,000 Furniture 30,000
B 40,000 Plant 80,000
C 30.000 1,10,000 | Deferred Revenue Expenditure 10,000

2,38,000 2,38,000

QEERl 7 1-4-2017 9 &9 @1 1:1: 13 Jgurd # dfeq &1 iy forar| s a8 N oy fear & @ (i) ©ie
& g 20% a1 fagr sy (i) 9y o1 & forg wrawm 21,0009 dr A S (iii) BeieR @ wie H
10% &1 g9 fdar @) (iv) 9@rr fRmr 22,000 €1 (v) B4 @ @nfa &1 Jedieq 251,000 far = E|
wEerl 7 ol forn & wwufr, <@l ik Yol & qou # @18 uRads 7 fear Wi | S=ie = @
qael H A faar &1 @t Aoy feran| g9 aReadHl @1 o s $ R vea ufafe #ifg |

The partners agreed to share profits in the ratio 1: 1 : 1 from 1-4-2017. They further agreed that: (i) Stock
be valued at 20% more. (ii) Doubtful debt provision be increased by 1,000. (iii) Depreciate furniture and
plant by 10%. (iv) Rent outstanding is 22,000. (v) Goodwill of the firm is valued at ¥51,000. Partners
decided not to alter the values of assets, liabilities and reserves. They also decided not to show goodwill in
the books.Pass a single entry to give the effect to above changes.




Ans. I 9 IE @4 21,35,000

C's Capital A/c Dr. 18000
To A's Capital 9000
To B's Capital 9000

16. R, Y TAT ARY AT BT HAT: 3:2:1 & U H dfed g 1 30,2017 B ST et e o
Suresh, Ramesh and Mahesh share profits in the ratio of 3: 2: 1 respectively. Their Balance Sheet as on 1st
April, 2017 was as-

Balance Sheet As on 1st April, 2017

Liabilities Amount ¥ Assets Amount ¥
Creditors 1,60,000 | Cash 1,40,000
General Reserve 1,08,000 | Sundry Assets 4,80,000
Capital A/c Profit & Loss Alc 36,000
Suresh 1,80,000
Ramesh 1,20,000
Mahesh 88.000 3.88.000
6,56,000 6,56,000

39 fafy &1 9= a9 fear & guer, o qor aee wiasy § ol @ 2:2: 1 argurd | arcn| 99 fofr & A
@ @A &1 Jed 372,000 far Tar| B @& gRasl § dEeR] & ol Wi 9918y 9o BH &1 fesr a9rsd |

On that date they decided that Suresh, Ramesh and Mahesh will share profits in future in the ratio of 2: 2: 1
respectively. The goodwill of the firm was valued at ¥72,000 on that date. Prepare Partner’s Capital

Accounts and Balance Sheet of the firm.
Ans.: Capital A/c  Suresh %2,23,200; Ramesh %1,39,200; Mahesh 397,600;

Suresh 33—0 (SR); Ramesh (—)32—0 (G/R); Mahesh(=) % (GR).

17. =R, 8T TAT WHEGY U HH & WIEER o o7 2 : 1 : 3 & g § o dfed o | 31-03-2017 &
ST Rfa faavor 51 gpr | o1 -

Nardeep, Hardeep and Gagandeep were partners in a firm sharing profits in 2: 1: 3 ratio. Their Balance
sheet as on 31.3.2017 was as follows:

B/S 6,20,000.

Liabilities Amount ¥ Assets Amount ¥
Creditors 1,00,000 | Land 1,00,000
Bills Payable 40,000 | Building 1,00,000
General Reserve 60,000 | Plant 2,00,000
Capital: Stock 80,000
Nardeep 2.,00,000 Debtors 60.000
Hardeep 1,00,000 Bank 10,000
Gagandeep 50.000 3.50.000
5,50,000 5,50,000

1-4-2017 ¥ =REY, ST TAT WHEEY F 9y # A aRe—axTeR dfed &1 Aoty form saa e a8 wwshan
B3N & : () B4 @I @AM &1 Jeaie 33,00,000 &A1 S| (@) 9 &1 gaqeaie 21,60,000 wR f&ar Sy
AT 499 W 6% ¥ed B o Wiy | () 12,000 & ofFqRR @l Fel Syl I % Sfufeiidd &y faar o
=Y | Gl @TdT, WIRIeRl & Iofl @rd o1 gifdd wH &1 Refa feror dur #ifsig |

From 1.4.2017, Nardeep, Hardeep and Gagandeep decided to share the future profits equally. For this
purpose it was decided that : (a) Goodwill of the firm be valued at ¥3,00,000. (b) Land be revalued at
%1,60,000 and building be depreciated by 6%. (c) Creditors of ¥12,000 were not likely to be claimed and
hence be written off. Prepare, Revaluation Account, Partners Capital Accounts and the Balance Sheet of the
reconstituted firm.

Ans. Profit on Revaluation 266,000. Capital A/c : Nardeep 32,42,000; Hardeep %71,000; Gagandeep

z1,63,000; B/S 26,04,000; Hardeep (=) % (GR); Gagandeep é (SR).




1. ATBUTEH B § 3:2 & U H oy e - gU WEIER © | 31.03.47 &I 39T Rfar faaxor f=

UhR 2T |
A & B are partners sharing profit in the ratio of 3 : 2 in a firm. On 31.3.2017 their Balance Sheet was as
follows: Balance sheet As on 31 March, 2017
Liabilities Amount ) Assets Amount(X)
Creditors 40,000 | Cash at Bank 40,000
Provision for Bad-debts 2,000 | Debtors 50,000
Employee’s Provident fund 8,000 | Stock 30,000
Bank Loan 40,000 | Investments 10,000
P&L A/c 20,000 | Building 1,00,000
General Reserve 10,000 | Machinery 40,000
Capital Furniture 4,000
A 1,00,000 Patent 6,000
B 80,000 1,80,000 | Goodwill 15,000
Deferred Revenue Expenditure 5,000
3,00,000 3,00,000

¥ Car amil 3 - R & forg e 2 &1 C o qu R A & 91 @t 1 C 30 o & = o & g

3T Goi SIRATT| (1) W1 &1 @A1fa &1 Hodie fUse 3 a8l & 39d o™i T 10,000 & &1 99 & HI B
aR1eR far war| C i &) R e ofrar €1 (i) U wuiRy foger qede! d oikar 81 g3 T 10,000 (iii)
fafieTt &1 Heaies T 12,000 W AT T 9 T @ W A 7 @ Rl (v) aER Sug @ s
AERERl | MEd A (v) wad & g d 10% 9 g 8 A (vi) 7 B g 10% e A € |
(vil) BTeR &1 o8 10% HH BT 2| (vidi) e 9d= 2,000, (ix) UHE HT Hod T 3,000 § &H d¥ | (x)
FHHAr] afayfd dgu @ fawg T2000 &1 i fARed fear wam) (xi) gdea 9 21,000. (xii) d& 0T @1
WA B far A 21 (xiii) oFeRl # wifie ¥ 4,000 & Q@ BT I AE AT 2 | (xiv) EG
% 3,000. (xv) ¥HY Pl T26,000 Th BH BN | YAHcAIhA @I, ARl & Yol @ g 41 BH &I fIeaer a41sd |
They decided to admit C for 1/5" share. He takes his share entirely from A. He had to contribute the
proportionate capital. (i) Goodwill of the firm is valued at 2 years purchase of average profit of last 3
years. Which was ¥10,000. C brings his share of goodwill in cash. (ii) Unrecorded Assets 10,000
(ii1) Investment valued at ¥12,000 & taken by A. (iv) %2 of General Reserve withdrawn by the partners.
(v) Land & Building appreciate by 10%. (xi) Plant & Machinery valued at 20% more. (vii) Furniture
valued at 10% Less. (viii) Outstanding Salary ¥2,000. (ix) Patent reduced by ¥3,000. (x) Liability of
Workmen compensation is ¥2,000. (xi) Prepaid Insurance ¥1,000. (xii) Bank Loan would be paid off.
(xii1) A Liability of ¥4,000 included in creditors was not likely to arise. (xiv) Bad debts 33,000. (xv) Stock
is reduced to %26,000. Prepare Revaluation A/c, Partner’s Capital A/cs and the Balance Sheet of the new
firm.

Ans: Profit on Revaluation 18,600; Capital A/c : A.%1,06,160; B.389.400 C. 748,900;

B/S 2,92,500; Cash Balance 347,900




